
Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)
50001 CIRCUIT BREAKER 6A 53,33 € 73

50002 CIRCUIT BREAKER 32A 10,14 € 47

50009 CIRCUIT BREAKER 20A 10,48 € 47

50013 INSTANT AUXILIARY CONTACTOR 2,26 € 57

50014 ANTI-PARASITE FILTER 7,54 € 47

GP289052 CNT_ABB_AF305-30-11-13_1SFL587002R1311 452,00 € 57

50029 CIRCUIT BREAKER 1.6-2.5A 21,99 € 57

50034 1-1.6A MOTOR PROTECTION 20,37 € 57

50039 ROTARY SWITCH 94,19 € 47

50041 3-POLE TOP TERMINAL COVER 27,23 € 77

50063 FILTER 6,67 € 38

50065 THERMOSTAT -15,+45ºC 39,34 € 47

50067 POWER SUPPLY 138,57 € 137

50069 FIBER OPTIC CONVERTER 248,00 € 122

50072 INTERFACE CARD 91,43 € 108

50074 CROWBAR CARD 367,14 € 108

50076 POWER SUPPLY 498,57 € 122

50077 CENTRAL PROCESSING UNIT 2.601,33 € 164

50078 16 INPUT CARD 417,14 € 206

50079 16 INPUT CARD 518,57 € 206

50080 8 INPUT CARD 1.188,57 € 206

50081 METER CARD 1.190,00 € 101

50084 10 UNIT FRAME 333,85 € 136

50085 COMMUNICATION MODULE 116,67 € 122

50086 CONNECTOR HOUSING 100,00 € 115

50088 FAN 9,93 € 32

50096 1-CONTACT AUXILIARY RELAY 5,43 € 47

50097 4-CONTACT AUXILIARY RELAY 14,96 € 47

50098 1-CONTACT AUXILIARY RELAY BASE 2,16 € 47

50099 2-CONTACT AUXILIARY RELAY 10,50 € 47

50110 BASE 5,05 € 47

50116 CONTINUOUS FILTER FILTERING ELEMENT 70,48 € 32

50128 4-PORT MODULE 1.376,00 € 164

50130 DOUBLE INTERFACE 454,67 € 122

50227 CONTACTOR 3P 452,95 € 57

50233 ANTI-CAVITATION NON-RETURN VALVE 41,33 € 137

50234 ACCUMULATOR 3.5L 322,33 € 57

50235 ELECTRICALLY OPERATED VALVE 136,93 € 57

50236 BALL VALVE 9,92 € 38

50237 SEALING RING 6X1 1,23 € 47

50238 SEALING RING 10X1 1,47 € 47

50239 SEALING RING 20X2 3,67 € 47

50240 SEALING RING 25X2 5,23 € 57

50241 SEALING RING 30X3 7,08 € 57

50242 SEALING RING 38X3 9,63 € 47

50244 O-RING SEAL 24.99X3.53 0,20 € 47

50245 O-RING SEAL 31.34X3.53 0,38 € 62

Spare Parts Price List - CASALDUNI



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

50246 O-RING SEAL 47.22X3.53 0,57 € 47

50253 O-RING SEAL 10.78X2.62 0,83 € 38

50261 WASHER M30 42,67 € 62

50267 HEATING RESISTOR 68,33 € 67

50269 D.E. INNER PLATE 861,67 € 102

GP434134 INSULATED BEARING BB1-7060 1.640,00 € 62

50274 DE RING 55,83 € 62

50275 N.D.E. COVER 1.963,33 € 94

50277 N.D.E. INNER PLATE 533,33 € 102

50278 NDE SEAL BUSHING 323,33 € 102

50286 ROTOR CONNECTION PLATE 181,67 € 52

50291 COMPRESSION GLAND PG16 0,50 € 57

50294 BRUSH HOLDER SUPPORT BOLT 129,17 € 67

50295 BRUSH HOLDER SUPPORT RING 95,17 € 73

50296 BRUSH HOLDER 66,58 € 47

50321 O-RING SEAL 39.2X3 1,50 € 32

50506 TRANSFORMER GRATING LOCK 110,28 € 67

50548 ANTIPARASITE FILTER 24,00 € 59

50552 MOTOR PROTECTION 0.63- 1A 19,66 € 57

50554 AUX. CONTACT BLOCK 2,11 € 57

50579 THERMOSTAT 12,72 € 47

AMB0169 FAN FILTER FS85R36 14,31 € 47

50581 HEATING RESISTOR 400W 26,67 € 66

50592 D.E. GROUND BRUSH 22,74 € 47

50601 ELECTRIC FAN FILTER 0,60 € 32

50659 CONNECTIONS BRIDGE 1,65 € 62

50662 4-CONTACT AUXILIARY RELAY 11,64 € 47

50663 4-CONTACT AUXILIARY RELAY BASE 4,44 € 47

50664 2-CONTACT AUXILIARY RELAY 7,74 € 47

50665 BASE 2,23 € 47

50673 THERMOSTAT 15,00 € 47

50706 LIQUID TEFLON, SPRAY 12,40 € 32

50717 RIGHT SKYLIGHT LEVER 15,07 € 47

50738 FAN 40,72 € 32

50749 PRIMER 0,52 € 47

GP005786 JAW CLAMP WINDOW OF METACRILATO 24,73 € 47

50773 REVERSIBLE HEAD 422,86 € 137

50780 GEARBOX FILTER MOTOR 159,21 € 77

50783 REMOTE CONTROL CARD 260,00 € 122

50785 ELECTRICALLY OPERATED VALVE 93,40 € 62

50786 ELECTRICALLY OPERATED VALVE 114,56 € 67

50792 MODULE XB1 129,33 € 47

50804 OIL LEVEL INSPECTION WINDOW 24,29 € 47

50814 O-RING SEAL 75X3 1,61 € 32

50832 TANK + HG LID 874,57 € 77

50834 NON-RETURN VALVE 38,57 € 47

50835 MOTOR SIDE COUPLING 26,99 € 62



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

50836 PUMP SIDE COUPLING 26,86 € 52

50837 STAR 6,21 € 52

50838 BELL 54,12 € 47

50840 SENSOR PT100 83,18 € 47

50841 ELECTRIC LEVEL SENSOR 41,64 € 47

50843 NON-RETURN VALVE 61,20 € 47

50844 DIFFUSOR 61,68 € 47

50845 VALVE BLOCK 2.690,17 € 47

50847 PRESSURE FILTER AND CARTRIDGE 575,02 € 47

50848 ACCUMULATOR 32L 899,40 € 57

50851 FILTER CARTRIDGE 523,49 € 47

50854 RUPTURE MEMBRANE 75,47 € 47

50855 NON-RETURN VALVE 32,37 € 47

50856 ACCUMULATOR 35,71 € 47

50858 CYLINDER AND BLOCK O-RING SEAL 0,08 € 52

50859 NON-RETURN VALVE 23,72 € 72

50861 OFFSET FLOW REGULATOR 200,37 € 47

50862 LOAD CONTROL VALVE 38,60 € 47

50863 PRESSURE SWITCH 87,93 € 62

50866 JET NOZZLE M8 3,65 € 47

50867 NON-RETURN VALVE 115,75 € 47

50871 CIRCUIT BREAKER 63A 58,72 € 47

50874 CIRCUIT BREAKER 16A 62,83 € 47

50875 CIRCUIT BREAKER 25A 64,09 € 47

50878 THERMAL RELAY 18-25A 47,91 € 31

50879 AUXILIARY CONTACTOR 15,57 € 57

50882 CONTACTOR 3P 2.080,17 € 47

50883 CONTACTOR 3P 3.109,77 € 47

50884 CONTACTOR 3P 966,99 € 47

50885 CONTACTOR 3P 170,33 € 57

50886 TERMINAL COVER 20,00 € 73

50887 2.5-4A MOTOR PROT. 21,34 € 57

50888 6.3-9A MOTOR PROT. 28,99 € 47

50891 4 BRIDGEBAR 4,88 € 47

50892 BRIDGE BAR 5 8,38 € 47

50894 CIRCUIT BREAKER 1.088,33 € 59

50896 EXTENSION CABLE 11,67 € 59

50897 AUX CONTACT BLOCK NA+NC 50,19 € 47

GP309062 SACE TMAX T8 CIRCUIT BREAKER AND SUPPORT 6.964,40 € 77

50907 BUSBAR BLOCK CONNECTION TERMINAL 3,67 € 47

50909 ROTARY SWITCH 66,67 € 56

50910 LOCKING AND SIGNALING S8 296,33 € 47

50911 TRANSFORMER 2000 191,33 € 32

50912 TRANSFORMER 125 55,00 € 66

50916 REACTANCE 4.966,67 € 59

50917 REACTANCE 3.381,67 € 59

50918 SURGE PROTECTION RELAY, BASE AND SOCKET 51,43 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

50919 SURGE PROTECTION RELAY 59,07 € 47

50921 TERMINAL STRIP 24,11 € 47

50923 DISTRIBUTOR 100,48 € 46

50925 CARTRIDGE FUSE 1,72 € 59

50926 FUSE BASE 49,52 € 52

50929 FAN AND EXTRACTOR 306,15 € 87

50934 HEATING RESISTOR 50W 170,00 € 62

50935 SLIP RING ASSEMBLY 2.968,71 € 116

50940 SINGLE BRUSH HOLDER 42,55 € 52

50951 THERMOSTAT 0º, 60ºC 10,85 € 47

50954 CONVERTER 305,71 € 122

50955 2 OUTPUT CARD 1.061,43 € 136

50956 DRIVER MODULE 597,14 € 136

50960 FIBER CARD POWER SUPPLY 147,14 € 143

50961 COMMUNICATION CARD 788,57 € 136

50962 32 INPUT CARD 389,33 € 206

50963 8 INPUT CARD 1.695,71 € 206

50964 COMMUNICATION CARD 1.411,43 € 122

50965 COMMUNICATION CARD 2.193,85 € 164

50966 8 UNIT FRAME 165,71 € 122

50967 6 UNIT FRAME 165,00 € 164

50969 DISTRIBUTOR 2P 100 A 8,53 € 59

50971 2.5A POWER SUPPLY 71,60 € 47

50972 5A POWER SUPPLY 100,43 € 47

50973 10A POWER SUPPLY 141,03 € 47

50978 2-CONTACT AUXILIARY RELAY 230V 19,43 € 47

50980 RELAY BASE 4,53 € 47

50984 PRE-LOAD RESISTOR 21,08 € 47

50985 CROWBAR RESISTOR 2,01 € 59

50986 RESISTOR 68,33 € 59

50989 SELECTOR BASE 8,03 € 47

50990 EMERGENCY PUSH BUTTON 8,24 € 47

50991 EMERGENCY BUTTON LABEL 5,60 € 59

50992 2-POSITION SELECTOR HEAD 6,69 € 47

50993 EMERGENCY PUSH BUTTON HEAD 12,31 € 47

50995 FIXED STOPCOCK 2-POSITION SELECTOR 27,36 € 47

50996 WHITE LED 8,93 € 59

50997 WHITE LIGHT PILOT HEAD 4,75 € 47

51001 TRANSFORMER 615,92 € 55

51002 TRANSFORMER 972,86 € 52

51004 RC FILTER 3,54 € 47

51008 TOROIDAL TRANSFORMER FUSE 0,83 € 47

51017 AXIAL FLOW VENTILATION GRILLE 78,67 € 59

51018 VENTILATION GRILLE 0,60 € 32

51023 CARD 4.840,00 € 206

51025 CROWBAR CONDENSERS 3,83 € 101

51026 FAN GRILLE 2,33 € 101



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

51027 POWER SUPPLY 221,20 € 27

51028 TERMINAL 4,30 € 47

51029 2.5MM TERMINAL 2,28 € 47

51031 2-CONTACT AUXILIARY RELAY 10,70 € 47

51032 CONNECTION DELAY TEMPERATURE BLOCK 40,11 € 47

51033 CONNECTION DELAY TEMPERATURE BLOCK 50,46 € 47

51035 LIGHTING 55,00 € 59

51036 RESISTOR 1,18 € 59

51037 LIMIT SWITCH SENSOR 17,07 € 47

85315 CABLE HOLDER 6,43 € 47

85318 CABLE HOLDER 2,55 € 47

85485 RADIAL SLIDE PLATE 1.5MW 20,00 € 47

89999 SKYLIGHT WITH HINGE 388,77 € 47

94219 GLASS FUSE 0,14 € 47

94230 1A FUSE 0,37 € 47

094553-001 PATENTSTRIP 17X0,8MM 10M-ROLL_ 6,88 € 32

94582 TAPE GREY 2,44 € 47

94584 SAFETY-WALK GP 152MMX18.3M 91,67 € 57

94586 HIGH TEMPERATURE TAPE. POLYESTER-SILICON 7,80 € 47

95182 RETRACTABLE 3,84 € 47

96476-001 DRY FABRIC G BX 600G 1260MM GAMMA TENSOR 31,90 € 47

96477-001 DF G TX 900 GAMMA TENSOR_ 39,08 € 47

96589 PAINT 3,69 € 38

101006 PUMP COOLER 634,29 € 115

101007 ELECTRIC PUMP EXCHANGER 1.046,21 € 77

103918 MANOMETER CONNECTION PIGTAIL 11,66 € 32

104039 HOSE L=1705MM 34,32 € 47

104361 BUSHING D33.7 1,08 € 47

105035 TENSION SPRING 0,21 € 47

105717 MALE-MALE ADAPTER 0,43 € 57

107030 BLADE BEARING SYSTEM 12.333,33 € 101

107591 LINE 0,33 € 57

107593 CLAMPS 0,42 € 57

107680 SNAP HOOK 3,56 € 57

107684 RING 6,88 € 47

107686 M10 EYEBOLT REAR DOOR 2,33 € 47

107901 REAR BEARING HOUSING SEAL 29,71 € 32

107902 SEAL D540 132,29 € 97

107911 BEARING HOUSING SEAL 95,18 € 32

107912 SEAL D700 199,33 € 77

107925 RUBBER PROFILE 60,67 € 47

107929 E-PROFILE 2,12 € 47

108168 O-RING SEAL 84.00X1.50 0,44 € 32

108183 O-RING D7.5 X 2.5 0,33 € 32

108184 O-RING SEAL 7.59X2.62 0,25 € 32

108325 O-RING SEAL 0,58 € 47

108918 PIPE D28 CLAMP 1,28 € 62



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

108922 FLANGE FOR D.38 PIPE 2,53 € 57

108924 D30 SIMPLE PIPE CLAMP 1,03 € 72

108961 PIPE CLAMP D20-D25 PART A 8,93 € 47

108962 PIPE CLAMP D20-D25 PART B 10,18 € 47

108963 PIPE CLAMP D20-D30 PART A 9,45 € 47

108964 HOLDER FOR PIPE D20-D30 B PART 9,45 € 47

109002 GRIP FOR D22 PIPE 1,13 € 77

109003 HOLDER FOR PIPE, D35 DOBLE 2,52 € 47

109004 HOLDER F.PIPE D.35 SIMPLE 1,03 € 47

109021 LEVEL SENSOR 54,60 € 52

109031 AIR FILTER 3,56 € 47

109046 FILTER ELEMENT 3My 200,63 € 57

109084 AIR FILTER 21,80 € 47

109085 AIR FILTER 1,78 € 47

109109 SOLENOID VALVE 106,72 € 57

109180 LEAK TANK LEVEL INDICATOR 184,14 € 47

109185 PRESSURE SWITCH 74,02 € 77

109534 PRESSURE RELIEF VALVE 31,13 € 57

109537 PRESSURE SENSOR 106,36 € 52

109548 MANOMETER 28,00 € 31

109605 DISTRIBUTOR VALVE BLOCK WITH FILTER 1.308,27 € 47

109608 HYDRAULIC CYLINDER VALVE BLOCK 3.952,00 € 47

109818 HYDRAULIC PUMP 233,39 € 57

109882 ACCUMULATOR 1.4L 91,64 € 77

109896 RUBBER COLLAR FOR ACCUMULATOR 9,91 € 47

109931 ฀฀฀฀EXPANSION TANK 31,57 € 47

114102 TRANSFORMER DOOR HINGE 5,86 € 47

114151 ฀SPRING 23,18 € 47

114157 VIBRATION DAMPER 6,76 € 47

114176 SNAP BOLT 2,00 € 77

114265 PT100 WITH 1M SCREEN 10,07 € 31

114279 SENSOR PT100 30,35 € 47

114661 CONNECTOR FOR FIBER CABLE 3,33 € 47

114662 CONNECTOR FOR FIBER CABLE 5,47 € 47

114830 TERMINAL 50MM2 2,18 € 47

114941 INDUCTIVE SENSOR 22,85 € 31

115543 FLANGE STICKERS 0,10 € 47

115544 ATTACHMENT FOR CABLE KNOT 0,78 € 47

115587 ECCENTRIC SEAL, STAINLESS 12,58 € 47

115588 ECCENTRIC LOCK TAB 2,50 € 47

115606 CABLE TIE 510MM 0,25 € 32

115614 CABLE TIE 368MM 0,05 € 32

116342 DANGER SIGN 0,49 € 38

116345 SIGN 3,04 € 47

116361 EMERGENCY STOP BUTTON 25,92 € 31

116845 VIBRATION DAMPER 11,60 € 52

117531 PLASTIC BOX 14,12 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P430041 CONDUCTING BLOCK FOR LIGHTNING STRIKE 2,52 € 62

130552 FILTER CARTRIDGE 11,57 € 47

131023 ADAPTER 1-4" 5,32 € 52

131071 PRESSURE RELIEF VALVE 27,21 € 47

131084 CHECK VALVE 8,29 € 47

131126 CONNECTOR REDUCTION TO 12 6,97 € 47

131266 FLANGE SET 4,96 € 47

131268 FLANGES 2 HALVES 4,47 € 62

131269 2-HALF FLANGE 5,90 € 62

131271 FLANGE 2 HALVES 8,00 € 47

131272 FLANGE 1" 11,30 € 47

131276 FLANGE 20,00 € 87

132425 HYDRAULIC CAP 0,55 € 47

GP288160 FRICTION BEARING 80-90-60 32,03 € 87

137001 RUBBER FASTENING PROFILE 1,42 € 57

145968 CLAMP 11-17MM 1,33 € 47

145973 CLAMP SIZE16 0,95 € 47

146026 PENDULUM DOOR STOP 16,40 € 57

146341 3-4" CAP 1,65 € 47

146361 WASHER 0,57 € 47

146440 HOSE L=1000MM 36,23 € 37

146441 HOSE 12,35 € 47

148715 CLIP 2,60 € 47

148717 TAPE 13,60 € 47

148950 HOSE CONNECTION 1,82 € 47

149064 GREASE 6,53 € 37

149107 GEAR OIL 9,88 € 32

GP144559-006 MULTIBEARING GREASE_370GR 11,70 € 62

149191 GREASE 9,95 € 62

149300 GREASE ADAPTER M8 0,21 € 47

149301 STRAIGHT ADAPTER 0,35 € 47

149391 COOLANT 2,44 € 24

149497 GREASE NIPPLE CAP 0,05 € 47

149751 SEALING ADHESIVE 4,16 € 32

149752 SEALING ADHESIVE 3,21 € 32

149773 ADHESIVE 23,13 € 32

149774 ADHESIVE 19,31 € 32

149775 SEALING ADHESIVE 21,04 € 32

149776 ADHESIVE 11,29 € 32

150862 HEXAGON SOCKET BOLT M12X35 0,23 € 57

150919 HEXAGON SOCKET BOLT M5X16 0,12 € 37

150928 HEXAGON SOCKET BOLT M6X16 0,10 € 37

150937 HEXAGON SOCKET BOLT M8X16 0,27 € 32

151287 HEXAGON SOCKET BOLT M6X8 0,03 € 47

151483 HEXAGON SOCKET BOLT M8X70 0,15 € 57

151737 TORNILLO DIN 933 M6X15 12.9 DACROMET 0,12 € 37

152050 HEXAGONAL HEAD BOLT M10X40 0,17 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

152064 HEXAGONAL HEAD BOLT M16X30 0,40 € 38

152210 HEXAGONAL HEAD BOLT M10X45 0,19 € 47

152226 HEXAGONAL HEAD BOLT M12X50 0,17 € 57

152572 HEXAGONAL HEAD BOLT M33X280 47,39 € 67

152986 HEXAGONAL HEAD BOLT M20X100 1,50 € 47

153133 HEXAGONAL HEAD BOLT M8X16 0,08 € 37

153178 HEXAGONAL HEAD BOLT M8X30 0,09 € 77

153280 HEXAGON SOCKET BOLT M8X30 0,07 € 37

153282 HEXAGONAL HEAD BOLT M8X35 0,13 € 47

153295 HEXAGONAL HEAD BOLT M12X50 1,33 € 37

153335 HEXAGONAL HEAD BOLT M24X50 2,38 € 57

154330 HEXAGONAL NUT M30 1,51 € 47

154784 HEXAGONAL HEAD BOLT M8X60 0,11 € 47

154785 HEXAGONAL HEAD BOLT M8X70 0,17 € 57

155379 HEXAGONAL HEAD BOLT M6X20 0,04 € 57

155381 HEXAGONAL HEAD BOLT M10X30 0,40 € 37

155389 HEXAGONAL HEAD BOLT M10X35 0,25 € 47

155396 HEXAGONAL HEAD BOLT M6X16 0,12 € 37

155410 HEXAGONAL HEAD BOLT M8X12 0,45 € 37

155431 HEXAGONAL HEAD BOLT M10X45 0,41 € 37

155456 HEXAGONAL HEAD BOLT M12X65 2,00 € 37

155711 EYEBOLT NUT M8 0,92 € 37

155752 FLAT WASHER M6 0,01 € 57

155972 SHIM 0.5MM 0,52 € 47

155973 SHIM 1MM 0,93 € 47

155995 ROTOR SHIM 0.25 3,94 € 45

155996 ROTOR SHIM 0.5 1,56 € 45

156098 CIRCLIP 3,17 € 37

156148 CIRCLIP 1,00 € 37

156248 SPRING WASHER D12 0,02 € 37

156279 FLAT WASHER M12 1,43 € 37

156280 FLAT WASHER M8 0,05 € 37

156281 FLAT WASHER M16 0,25 € 47

156644 WASHER D25 1,50 € 47

156705 SHIM 0.5MM 0,73 € 47

156818 WIDE WASHER M12 0,42 € 37

157030 STRUCTURAL WASHER M30 0,41 € 37

157077 HEXAGONAL NUT M8 0,11 € 37

157333 HEXAGONAL NUT M10 0,05 € 37

157352 HEXAGONAL NUT M12 0,08 € 37

157708 NUT M6 0,02 € 37

157716 SELF LOCKING NUT M10 0,05 € 37

157723 HEXAGONAL NUT M8 0,02 € 57

157728 HEXAGONAL NUT M12 0,10 € 37

158760 FLAT WASHER D10 0,03 € 47

159185 PIN 2,05 € 37

159624 RIVET D4.8X9 0,03 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

159636 RIVET D4 0,12 € 37

159638 RIVET 5X29 0,18 € 47

159646 SPRING COTTER PIN 0,13 € 47

159663 RIVET 0,03 € 37

159820 SECURITY PIN 0,14 € 37

181920 GARBAGE BAG 0,61 € 47

181921 GARBAGE BAG 1,77 € 47

181922 BLADE GREASE COLLECTION BAG 0,01 € 47

188250 CIRCUIT BREAK 9-12.5A 27,99 € 57

188251 CIRCUIT BREAKER 12.5A-16A 31,33 € 47

193895 POSITION SENSOR 374,29 € 32

194175 CABLE 2X0.75MM2 2,60 € 37

194344 NUT PG21 0,23 € 47

194352 POLYAMIDE NUT PG16 0,18 € 47

194441 CABLE GLAND PG21 1,32 € 47

194468 CABLE GLAND PG16 0,33 € 47

194476 CABLE GLAND PG13 50,55 € 47

194883 TYPE A DIODE 0,05 € 47

195051 SURGE PROTECTION RELAY 147,31 € 31

198001 ROLL OF PAPER 1,11 € 47

218150 LATEX GLOVES 4,07 € 47

565590 NEEDLE VALVE 18,75 € 47

565784 PRESSURE REDUCTION VALVE 24,75 € 47

702855 REAR DOOR SECURITY CHAIN 2,92 € 47

703250 CONNECTION BOX A3 83,11 € 47

703354 MOUNTING LOCK PIN 11,90 € 47

703526 CABLE W181 12,00 € 47

703642 LADDERSTRAP 4,40 € 37

704612 BUSHING D26 4,90 € 32

704629 HOSE FLANGE 5,02 € 47

706698 FITTING FOR SHIMS 2,57 € 47

706925 WASHER D25 4,62 € 37

721037 WASHER D25 5,04 € 47

721040 BLADE ACCESS COVER PLATE 39,95 € 45

721065 BOLT M30X149 34,50 € 47

721317 PLATE FOR NOSE CONE SUPPORT 0,40 € 57

721318 NOSE CONE SUPPORT 10,43 € 47

721319 PLATE L=500 2,31 € 47

722075 RETAINING RING FOR REAR BEARING SEAL 24,82 € 47

722127 BUSHING 35,33 € 47

722129 BUSHING D60 24,40 € 47

722132 LOCKING PLATE, RIGHT F. LINING 4,53 € 47

722170 OIL DRIP PAN 4,21 € 47

723114 REACTION ARM PRESSURE PLATE 111,47 € 47

723115 REACTION ARM THREADED RIM 24,00 € 62

723116 RUBBER DISC GUIDING PIN, REACTION ARM 19,00 € 47

723118 SPACER 59,00 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

723127 SPACER PAD 48,50 € 47

725120 BUSHING 149,53 € 62

725419 TAP FOR LOCK FITTINGS 3,13 € 47

726035 HATCH F.PLATF.1 G80 W.SERVICE PLATF.DEV. 222,13 € 45

726038 BRACE FOR CABLE STEER 6,12 € 37

726039 CABLE PROTECTION TUBE L = 3M 115,79 € 57

726068 HATCH BOTTOM SECTION 128,50 € 57

726112 BRACKET FOR OSCILLATION DAMPER 1,57 € 57

726135 RUBBER SEAL ON TOWER 46,87 € 47

726649 SLEEVE FOR CHAIN 36,00 € 57

726874 CABLE SUSPENSION FASTENING SUPPORT 20,00 € 47

727328 CONTROL SYSTEM SENSOR PLATE 0,76 € 47

727710 PLATE FOR LIGHT, 20,35 € 47

727731 SUPPORT CABLE, PART 1 15,05 € 45

727754 MOUNTING BLOCK FOR SUPPORT 4,13 € 62

728001 SUPPORT PLATE 41,33 € 45

728013 ROTOR CASING COUPLING PROTECTION 186,20 € 47

728015 CHAIN 4,00 € 57

728017 CHAIN 18,25 € 47

728130 SHORT HANDRAIL 91,67 € 77

728131 MEDIUM HANDRAIL 167,52 € 77

728206 IRON BRACKET 38,22 € 47

728208 MOUNTING PLATE FOR HINGE, LONG 8,82 € 47

728215 GRIP 3,33 € 47

728220 PROTECTION 117,72 € 47

728227 FLOOR SUPPORT PLATE 18,12 € 47

728250 COVERING 23,17 € 47

728431 FRONT SIDE CASING BRACKET 2,03 € 47

728565 VERTICAL BEAM FOR COOLERS 66,75 € 47

735432 GATE BRACKET FOR LADDER 59,58 € 45

735433 PENDULUM DOOR FOR LADDER 45,37 € 57

736001 PENDULUM SUPPORT 8,33 € 37

736247 RUBBER HOSE FOR DOOR STOP 3,68 € 57

736579 BOLT 35,18 € 47

747475 THREADED ROD M10X240 1,83 € 37

747668 CONNECTION BOX A16 50,87 € 77

747740 BUSHING 37,50 € 47

747742 THREADED ROD M24X240 6,67 € 47

747767 BRACKET FOR CABLE TRAY, FRONT 2,13 € 47

761158 THREADED ROD M8X720 4,57 € 47

761478 NOSE CONE ADJUSTMENT SUPPORT 22,05 € 47

761479 ADJUSTABLE LEFT JOINT FOR CONE 22,03 € 47

761483 LEFT ADJUSTABLE SUPPORT FOR HUB 20,42 € 47

761484 ADJUSTABLE RIGHT HUB SUPPORT 20,42 € 47

761535 CYLINDER PROTECTION 44,18 € 47

761825 SUPPORT SHIM 4,58 € 47

761838 EXTERNAL PIN GUIDE PLATE 58,33 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

761845 PIN 200,00 € 47

761851 BALL JOINT FORK 145,20 € 47

761861 BLADE LOCKING BLOCK 56,67 € 62

761869 DIST. BLOCK CABLE SUPPORT 4,32 € 47

761870 DISTRIBUTOR BLOCK SUPPORT 16,27 € 47

761871 VALVE BLOCK GUARD 112,52 € 47

762131 LOCK BOLT COVER PLATE 6,10 € 47

762663 COLLAR PROTECTION BRACKET 10,48 € 47

763065 ANCHOR PL. FOR CONTINUOUS GEAR FILTER 20,00 € 47

763151 BRAKE DISC 551,37 € 82

763233 ELBOW FOR TUBE D.30 2,10 € 45

763234 ANGLE FOR TUBE 2,50 € 47

763235 ADJUSTMENT FOR PIPE CLAMP 2,82 € 47

763236 SUPPORT FOR TUBE CLAMPS, HUB C5 3,32 € 47

763237 PIPE CLAMP 4,28 € 47

763301 GREASE COLLECTION TRAY, DOUBLE FILTER 32,41 € 45

764410 COMPOSITE MATERIAL DISC 420 1.065,87 € 47

764471 THREADED BUSHING 73,60 € 47

764476 WASHER 13,05 € 47

764621 EXHAUST PIPE ASSEMBLY 584,62 € 47

764631 GENERATOR EXHAUST PART 1 159,14 € 77

764632 GENERATOR EXHAUST PART 2 152,92 € 47

764637 FLANGE PIPE D.612 25,09 € 47

764639 FLEXIBLE COUPLING 34,09 € 47

764640 LOCK FITTINGS 6,52 € 47

764652 DISTANCE PIECES 38,67 € 62

766175 CHAIN L=2200 114,23 € 57

766176 DAMPER SUSPENSION SUPPORT 54,73 € 47

767804 ANEMOMETER SUPPORT 12,81 € 52

767811 ANEMOMETER SUPPORT FLANGE 1,92 € 47

767813 PROFILE 19,60 € 47

768280 PROFILE 8,42 € 47

768281 PROFILE 3,58 € 47

768500 A6A BOX FOR ULTRASONIC SENSORS 157,05 € 73

768502 BOX A8 FOR YAW GEARS 67,37 € 87

771060 LIGHTNING RECEPTION SENSOR 2,84 € 47

777320 REVOLUTION SENSOR 321,43 € 47

831487 TRANSFORMER SPACER 1,16 € 47

833993 FITTING FOR VIBRATION SENSOR 4,50 € 47

1081023 VENTILATION GRILLE UNIT 33,07 € 57

1081082 GREASER 0,15 € 47

1081102 TIGHTENING SCREW 21,05 € 57

1094043 CAP 60X20 0,80 € 47

1094574 BATTERY 220 V 191,77 € 137

1094591 BRUSH 0,51 € 57

3002004 SHACKLES 0,69 € 47

9000609 220-240V 300W TRANSFORMER, SENSORS 44,50 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

9010623 WIND VANE SIGNAL ADAPTER 9,99 € 47

8040401023 HYDRAULIC UNIT 7,5 KW CONSTANT DELIVERY 8.000,00 € 59

8330001915 SPRAY PAINT RAL 5003 BLUE 3,23 € 32

8440000108 SPRAY PAINT RAL 9003 9,13 € 32

8440000109 SPRAY PAINT RAL 7035 3,23 € 32

094588C NON-SLIP FLOOR ASSEMBLY 13,79 € 32

114676I DUAL CONNECTOR 1,28 € 24

149139-001 GREASE 33,40 € 37

1R1514AAFAQ-001 GLASS TAPE 0.10X20 COIL 33 METRES 14,67 € 47

1R1524CRFJJ ADHESIVE TAPE 0.18X19 SCOTCH-69 0,02 € 47

1R5551C1QDZ TUBE D=25.4 4,13 € 47

1U0011CCAHA HEXAGONAL HEAD BOLT M12X12 0,79 € 37

1U0100BCAF8 BOLT DIN-912 M3x12 0,18 € 38

1U2047AAL03 DISC SPRING WASHER M8 0,05 € 37

9135PF01 SMP SUPPORT PLATE 26,27 € 49

AIS0244 ANGLE BRACKET 1,33 € 59

AIS0245 INSULATOR 4,44 € 47

AMB0154 AIR HEATER 0,25KW 68,40 € 57

AMB0155 FAN 127W 46,35 € 32

AMB0167 VENTILATION GRILLE 20,76 € 47

C030006 SEALANT TIGHTENING UNIT 42,67 € 52

C102123 BLADE SEALANT MOUNTED 255,49 € 47

C302584 CABLE SUPPORT BRACKET 56,08 € 47

C390198 CABLE WS380 13,48 € 47

C392962 CABLE WS10 19,52 € 47

C392963 CABLE WS11A 9,28 € 47

C392964 CABLE WS11B 8,10 € 47

C392966 CABLE WS11D 8,10 € 47

C392968 CABLE WS11F 7,43 € 47

C392969 CABLE WS12 40,08 € 47

C392973 CABLE WA61A 9,33 € 47

C392982 CABLE WL62B G80 TOWER 78m 146,33 € 47

C392983 CABLE WL62B 37,89 € 47

C392984 CABLE WL62C 69,32 € 47

C392989 CABLE WL63A 14,45 € 47

C392995 CABLE WL64 15,33 € 47

C392997 CABLE WA65 154,38 € 47

C392998 CABLE WA65 130,31 € 47

C393004 CABLE WA72B G80 TOWER 78m 114,02 € 47

C393006 CABLE WA72C 56,02 € 47

C393011 CABLE WA78 98,67 € 47

C393012 CABLE WA79 204,16 € 47

C393013 CABLE WA80 167,33 € 47

C393014 CABLE WA80 179,17 € 47

C393015 CABLE WA80 152,19 € 47

C393018 CABLE WA81 143,33 € 47

C393019 CABLE WA81 190,23 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

C393021 CABLE WA81 238,92 € 47

C393025 CABLE WP90B 128,43 € 47

C393026 CABLE WP90C 84,88 € 47

C393027 CABLE WP91A 150,09 € 47

C393028 CABLE WP91B 138,27 € 47

C393029 CABLE WP91C 107,57 € 47

C393033 CABLE WP92C 105,87 € 47

C393034 CABLE WP93A 159,41 € 47

C393035 CABLE WP93B 128,43 € 47

C393047 CABLE WA180A 6,95 € 47

C393048 CABLE WA180B 17,73 € 47

C393049 CABLE WA181A 15,36 € 47

C393051 CABLE WA181B 11,67 € 47

C393056 CABLE WS207 9,25 € 47

C393058 CABLE WS215 15,76 € 47

C393059 CABLE WS216 25,63 € 37

C393061 CABLE WS220A 12,95 € 47

C393062 CABLE WS220B 14,17 € 47

C393063 CABLE WS220C 17,53 € 47

C393064 CABLE WS238 25,63 € 47

C393065 CABLE WS239 51,35 € 47

C393066 CABLE WS240A 11,34 € 38

C393067 CABLE WS240B 24,07 € 57

C393068 CABLE WS240C 15,14 € 37

C393069 CABLE WS241A 11,45 € 47

C393071 CABLE WS241B 12,75 € 47

C393072 CABLE WS241C 16,47 € 47

C393073 CABLE WS242A 11,60 € 47

C393074 CABLE WS242B 12,75 € 47

C393075 CABLE WS242C 16,23 € 37

C393076 CABLE WS243A 27,42 € 47

C393077 CABLE WS243B 30,50 € 47

C393078 CABLE WS243C 36,87 € 57

C393081 CABLE WS250A 49,68 € 47

C393082 CABLE WS250B 51,80 € 37

C393083 CABLE WS250C 64,57 € 37

C393084 CABLE WS251A 26,89 € 37

C393085 CABLE WS251B 28,09 € 37

C393086 CABLE WS251C 30,21 € 37

C393088 CABLE WS300 10,97 € 31

C393089 CABLE WS301 12,58 € 31

C393094 CABLE WS305 9,63 € 47

C393095 CABLE WS306 30,00 € 47

C393096 CABLE WS312 11,56 € 47

C393101 CABLE WA381 20,72 € 47

C393102 CABLE WA382 21,45 € 47

C393103 CABLE WS400 13,47 € 31



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

C393106 CABLE WS404 12,42 € 31

C393107 CABLE WS405 13,73 € 47

C393108 CABLE WS406 10,15 € 47

C393111 CABLE WS408 13,97 € 47

C393115 CABLE WS437 32,60 € 47

C393117 CABLE WS439 46,47 € 47

C393122 CABLE WA482 14,17 € 47

C393125 CABLE WS500. 55,12 € 31

C393126 CABLE WS501. 19,40 € 47

C393127 CABLE WS538 34,23 € 47

C393128 CABLE WS539 37,08 € 47

C393131 CABLE WP580A 1.025,85 € 62

C393132 CABLE WP580B 1.261,15 € 62

C393133 CABLE WP581A 1.134,47 € 62

C393134 CABLE WP581B 1.303,23 € 47

C393141 CABLE WA584 45,35 € 47

C393142 CABLE WA585 49,35 € 47

C393143 CABLE WS700 22,60 € 47

C393145 CABLE WA781 33,00 € 47

C393146 CABLE WS900 659,93 € 47

C393147 CABLE WS900 705,13 € 47

C393148 CABLE WS900 620,93 € 47

C393151 CABLE WS901 49,08 € 47

C393153 CABLE WS903 343,85 € 47

C393159 CABLE WT988C 34,38 € 57

C393162 CABLE WT990A 13,53 € 47

C393163 CABLE WT990B 13,53 € 47

C393164 CABLE WT990C 13,53 € 47

C393165 CABLE WT990D 76,57 € 47

C393166 CABLE WT990E 13,53 € 47

C393169 CABLE WT990H 128,57 € 47

C393172 CABLE WT991A 227,88 € 47

C393173 CABLE WT991A 280,75 € 47

C393177 CABLE WT991B 280,75 € 47

C393181 CABLE WT991C 327,02 € 47

C393182 CABLE WT991C 301,52 € 47

C393186 CABLE WT991D 301,52 € 47

C393187 CABLE WT991D 533,98 € 47

C393188 CABLE WT992 11,23 € 47

C393189 CABLE WT993A 8,53 € 47

C393192 CABLE WT993C 8,53 € 47

C393193 CABLE WT993D 12,30 € 47

C393194 CABLE WT993E 8,53 € 47

C393203 CABLE WT994E 15,43 € 47

C393208 CABLE WT994J 9,60 € 47

C393211 CABLE WT994L 8,98 € 47

C393216 CABLE WT997A 32,00 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

C393221 CABLE WT998C 10,49 € 47

C393228 LOW-SPEED SHAFT SENSOR CONN. BOX 67,72 € 87

C393229 HYDRAULIC GROUP SENSOR CONN. BOX 56,60 € 47

C393231 FILTER CONNECTION BOX 55,00 € 45

C393233 CABLE WT995D 9,40 € 47

C393442 CABLE WL66 6,29 € 47

C393452 BOX A40 27,83 € 47

C393618 CABLE WS23 21,57 € 47

C393623 CABLE WS20C 13,03 € 47

C393663 CABLE WA89 167,33 € 47

C393664 CABLE WA89 190,00 € 47

C393665 CABLE WA89 160,00 € 47

C393678 CABLE WA72A 19,70 € 47

C393683 WA72B CABLE 210,15 € 47

C393743 SENSOR, ROD AND COUNTERWEIGHT 60,77 € 47

C393805 CABLE WS313 13,48 € 47

C394121 LIGHTNING ROD AND BLADE CONNECTOR CABLE 37,20 € 47

C430031C LEFT YAW GEAR HEAD 493,33 € 62

CAX0028 AUX. CONTACT BLOCK 7,66 € 62

CAX0089 AUXILIARY CONTACTOR 1,15 € 57

CAX0140 CONNECTION BRIDGE 1,98 € 47

GP104811 OVERGROUND FEMALE CONNECTOR 3P-5,08 MM 0,56 € 47

F200006 50M ROLL OF SANDPAPER 164,28 € 32

F200007 SMALL BRUSH 0,69 € 32

F200008 LARGE BRUSH 1,00 € 47

F200017 DUST PROTECTION MASK 2,16 € 47

F200020A SYRINGE 50 ML 0,55 € 37

F200045 PROTECTION SUIT L SIZE 5,23 € 47

F200046 PROTECTION SUIT XL SIZE 5,23 € 47

F200047 PROTECTION SUIT XXL SIZE 5,23 € 47

F200050N NITRILE GLOVES SIZE 8.5 4,81 € 47

F200051N GLOVES 4,81 € 47

F200063 ROLL OF TEFLON 1,43 € 32

F250004 PAINT ROLLER 0,95 € 47

F250011 25M ROLL OF SANDPAPER 47,33 € 32

F250014 GREASER 0,42 € 32

F900032 Paint roller diameter 25x180mm 3,04 € 37

GP000136 CLAMP ASSEMBLY 1.684,62 € 77

GP000139 GEAR SECTOR 1.057,77 € 107

GP000140 RADIAL PLATE 180,00 € 67

GP000167 CABLE WS173B 53,75 € 47

GP000246 HEXAGON SOCKET BOLT M30X130 24,30 € 77

GP000248 DOOR LIMITER 16,05 € 77

GP000304 EYEBOLT WITH SAFETY TOWROPE 16,27 € 47

GP000307 EYEBOLT M20 22,92 € 37

GP000352 HEXAGONAL HEAD BOLT M33X290 23,33 € 37

GP000374 DOOR LIMITER AND SUPPORT ASSEMBLY 23,31 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP000412 HELICOIDAL TAPE NARROW 0,38 € 47

GP000413 HELICAL TAPE WIDE 1,33 € 31

GP000437 SPRING PIN 24,00 € 37

GP331165 SAFETY-WALK BAND SIDES 1700mm x 152mm 11,20 € 32

GP000457 NON-SLIP TAPE FOR REAR 3,43 € 32

GP331162 REAR SAFETY-WALK BAND 460mm x 152mm 3,03 € 32

GP000460 NON-SLIP TAPE FOR FRONT 1,70 € 32

GP000495 SIDE AIR OUTLET DEFLECTOR 186,12 € 47

GP000499 AIR OUTLET GRILLE 258,75 € 32

GP000512 TURN METER SENSOR SUPPORT 75,00 € 38

GP000525 SIDE INLET GRILLE 2950X580MM 358,33 € 32

GP000526 SIDE INLET GRILLE 2150X580MM 293,33 € 32

GP000527 AIR INLET GATE 2920X520MM 466,67 € 32

GP000528 AIR INLET GATE 2105X520MM 378,33 € 57

GP000529 AIR INLET GATE 1250X520MM 224,25 € 57

GP000592 SELF DRILLING BOLT M4.2X13 0,02 € 47

GP000679 MECHANICAL PUMP COOLING 1.505,31 € 77

GP000680 ELECTRIC PUMP COOLING 1.854,85 € 47

GP000695 BLIND FLANGE 10,27 € 47

GP000729 HYDRAULIC HOSE 72,88 € 47

GP000730 HYDRAULIC HOSE 74,63 € 47

GP000731 HYDRAULIC HOSE 92,40 € 47

GP000732 HYDRAULIC HOSE 171,80 € 47

GP000758 HOSE WITH ELBOW-STRAIGHT TERMINALS 70,16 € 47

GP000759 PRESSURE PIPE 127,58 € 47

GP000760 PRESSURE HOSE 52,32 € 47

GP000761 HOSE 98,00 € 47

GP000762 TANK TUBE 127,58 € 47

GP000763 TANK HOSE 57,60 € 47

GP000767 BRAKE TUBE 21,70 € 62

GP000768 INTERMEDIATE BRAKE TUBE 30,25 € 47

GP000778 DOOR LIMITER 6,90 € 38

GP000781 ฀CORRUGATED TUBE 2,53 € 47

GP000784 LIGHTING ASSEMBLY 22,11 € 47

GP218789 GENERIC LED 110-277V 50-60HZ + EM KIT UL 112,21 € 47

GP000833 STRAIGHT ADAPTER 3,82 € 32

GP000834 RACORD ENCHUFE RAPIDO 8 LEGRIS 31750817 3,67 € 32

GP000877 MOTOR 0.15KW 231,57 € 77

GP000898 MOTOR 1.9-0.3KW 688,70 € 77

GP000902 PUMP MOTOR 304,65 € 47

GP000953 CABLE LOOP LIFTING SUPPORT 94,98 € 47

GP000963 TUBE 1 7,86 € 47

GP000964 TUBE 2 8,11 € 47

GP000968 HOSE 18,04 € 47

GP000970 SIMPLE HOSE CLAMP 0,78 € 57

GP000972 ETCHED T-ADAPTER 3,45 € 47

GP000973 OUTLET 8,10 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP000975 FUNCTIONAL NUT 1,80 € 47

GP000976 PIPE CROSS 8,70 € 47

GP000993 AIR HEATER 276,38 € 77

GP001013 NACELLE HATCHWAY HOISTING CHAIN 1,75 € 57

GP001017 CABLE TIE 530MM 11,82 € 32

GP001053 PRESS NUT PG6 0,09 € 47

GP001128 FLAT WASHER M6 0,01 € 37

GP001131 BEACON 2.613,33 € 47

GP001146 REAR LOWER HATCH DOOR 153,73 € 47

GP001158 MECHANICAL PUMP COOLING 926,28 € 77

GP001159 ELECTRIC PUMP COOLING 1.153,13 € 47

GP001197 CABLE WT998C 18,08 € 47

GP001234 CABLE WT990B G80 BT 11,48 € 47

GP001312 BEACON 808,43 € 47

GP001361 TRANSFORMER 33.626,15 € 144

GP001384 FLAT WASHER M4 0,02 € 37

GP001390 HEXAGONAL HEAD BOLT M10X45 0,19 € 37

GP001394 FLAT WASHER M4 0,01 € 62

GP001399 STRAIGHT ADAPTER 0,55 € 37

GP001407 HEXAGONAL HEAD BOLT M6X16 0,03 € 37

GP001408 HEXAGONAL HEAD BOLT M10X35 0,14 € 47

GP001410 YELLOW TERMINAL 0,01 € 47

GP001439 NACELLE COOLING MOTOR 465,38 € 32

GP001444 SELF LOCKING NUT M4 0,01 € 37

GP001447 HEXAGONAL HEAD BOLT M8X60 0,22 € 32

GP001448 TERMINAL 4,57 € 47

GP001450 TERMINAL 7,38 € 47

GP001469 WIDE WASHER M5 0,01 € 37

GP001470 HEXAGON SOCKET BOLT M5X20 0,07 € 37

GP001471 FLAT WASHER M10 0,03 € 37

GP001475 TORNILLO ISO 4762-M10X30-8.8-DAC500B 0,13 € 37

GP001477 SELF LOCKING NUT M16 0,20 € 37

GP001480 SELF LOCKING NUT M12 0,07 € 37

GP001481 HEXAGONAL HEAD BOLT M12X90 0,42 € 37

GP001486 SPRING WASHER M12 0,03 € 37

GP001517 HEXAGONAL HEAD BOLT M12X50 0,33 € 47

GP001518 HEXAGONAL HEAD BOLT M10X100 0,33 € 37

GP001520 FLAT WASHER M12 0,03 € 37

GP001525 SELF LOCKING NUT M20 0,44 € 47

GP001534 BLIND RIVET 0,08 € 57

GP012563 NUT ISO4032 M4 8 FLZNL NC 1000H 0,02 € 37

GP001569 HEXAGONAL HEAD BOLT M16X60 0,47 € 57

GP001578 SPRING WASHER M12 0,02 € 47

GP001579 HEXAGONAL HEAD BOLT M12X30 0,20 € 47

GP001580 HEXAGONAL HEAD BOLT M12X25 0,13 € 37

GP001581 HEXAGONAL HEAD BOLT M12X45 0,25 € 62

GP001582 SPRING WASHER M10 0,01 € 57



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP001584 FLAT WASHER M12 0,05 € 37

GP001585 FLAT WASHER M10 0,03 € 37

GP001590 HEXAGONAL HEAD BOLT M10X25 0,13 € 32

GP001593 HEXAGONAL NUT M12 0,10 € 37

GP001594 HEXAGONAL NUT M16 0,10 € 37

GP001611 HEXAGONAL HEAD BOLT M20X50 0,91 € 37

GP001612 HEXAGONAL HEAD BOLT M20X110 1,36 € 57

GP001615 HEXAGONAL NUT M8 0,01 € 57

GP001620 HEXAGONAL HEAD BOLT M12X60 0,40 € 37

GP001621 HEXAGONAL HEAD BOLT M8X12 0,05 € 47

GP001622 HEXAGONAL HEAD BOLT M20X100 1,21 € 47

GP001628 HEXAGONAL HEAD BOLT M24X130 4,05 € 47

GP001635 EYEBOLT M10 1,47 € 37

GP001651 TERMINAL 324,17 € 47

GP001665 HEXAGON SOCKET BOLT M8X20 0,10 € 37

GP001705 CABLE WS500 38,80 € 47

GP001729 6-HOLE HINGE 5,93 € 47

GP001730 HEXAGONAL HEAD BOLT M16X25 0,36 € 57

GP001736 HEXAGONAL HEAD BOLT M33X280 10,36 € 67

GP001738 HEXAGONAL HEAD BOLT M30X270 9,00 € 67

GP001816 PAD 15,75 € 57

GP001817 BUSHING FOR BRAKE 7,45 € 27

GP001818 SPRING WASHER STACK 24,38 € 77

GP001819 SPRING DISC 27,17 € 57

GP001820 CLAW BRAKE PAD 22,48 € 57

GP001821 PISTON FOR BRAKE 42,77 € 38

GP001823 THIN NUT M24 6,13 € 47

GP001850 RETRACTABLE 1,28 € 47

GP001861 AUTOMATIC VALVE SUPPORT 2,10 € 47

GP001862 FOAM RUBBER BLOCK 0,50 € 32

GP001865 WIDE WASHER D8 0,04 € 37

GP001921 CONNECTOR FOR FIBER OPTIC 85,45 € 47

GP001930 ELBOW D6 2,98 € 47

GP001951 CONNECTION BOX 20,83 € 47

GP001955 OMEGA RAIL 0,76 € 47

GP001989 ELASTIC PIN 29,33 € 47

GP001990 HEXAGONAL HEAD BOLT M8X50 0,12 € 37

GP002030 LOCKING WASHER 4 0,33 € 37

GP002130 HEXAGONAL HEAD BOLT M33X330 14,42 € 37

GP002153 EMERGENCY DESCENDER 901,65 € 47

GP002206 CABLE WL65 75,02 € 57

GP002236 HEXAGONAL HEAD BOLT M6X30 0,05 € 38

GP002239 HEXAGONAL HEAD BOLT M6X60 0,07 € 37

GP002280 HEXAGONAL HEAD BOLT M6X70 0,16 € 37

GP002281 HEXAGONAL HEAD BOLT M8X65 0,17 € 37

GP002296 HEXAGON SOCKET BOLT M12X35 0,20 € 37

GP002297 HEXAGON SOCKET BOLT M10X30 0,15 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP002301 HEXAGONAL HEAD BOLT M6X45 0,05 € 47

GP002302 HEXAGONAL HEAD BOLT M33X300 10,28 € 107

GP002303 HEXAGONAL HEAD BOLT M6X80 0,13 € 47

GP002304 HEXAGON SOCKET BOLT M10X40 0,18 € 37

GP002328 HEXAGONAL HEAD BOLT M12X35 0,17 € 38

GP002333 HEXAGONAL HEAD BOLT M20X45 0,81 € 57

GP002342 FLAT WASHER D14 0,15 € 37

GP002343 FLAT WASHER D12 0,10 € 37

GP002350 LOCKING WASHER 12 0,51 € 37

GP002355 SQUARE BEVEL WASHER D12 0,37 € 37

GP002389 STRUCTURAL WASHER D24 0,21 € 57

GP002425 FLANGE FOR HOSE 0,63 € 62

GP002426 HEXAGONAL NUT M10 0,07 € 37

GP002432 SHIM 0.25MM 0,60 € 47

GP002440 SHIM TOP FLANGE G8X 0.25mm 1,31 € 47

GP002449 TUBE D20 58,91 € 47

GP002504 FIBER OPTIC CABLE 7,33 € 47

GP002518 HEXAGON SOCKET BOLT M5X40 0,08 € 37

GP002519 HEXAGONAL NUT M5 0,02 € 37

GP002520 HEXAGON SOCKET BOLT M8X20 0,10 € 37

GP002529 HEXAGONAL HEAD BOLT M6X25 0,03 € 37

GP002531 HEXAGON SOCKET BOLT M6X20 0,05 € 37

GP002535 HEXAGONAL HEAD BOLT M10X60 0,20 € 37

GP002536 STRUCTURAL WASHER M30 1,50 € 29

GP002555 THREADED HEAD HYDRAULIC CYLINDER 2.423,08 € 47

GP002558 EVACUATION EQUIPMENT 849,87 € 47

GP002559 EVACUATION EQUIPMENT 928,83 € 47

GP002580 STRAIGHT ADAPTER ⅜" 1,38 € 47

GP002581 HEXAGONAL HEAD BOLT M10X35 0,12 € 37

GP002605 HEXAGONAL HEAD BOLT M12X35 0,16 € 37

GP002657 BEACON SUPPORT 113,33 € 47

GP002832 TRANSFORMER 34.956,00 € 77

GP002834 AUTOMATIC VALVE 142,53 € 47

GP002862 THREADED ROD M30X320 6,25 € 67

GP002867 THREADED ROD M30X400 10,93 € 47

GP002868 THREADED ROD M30X480 11,50 € 67

GP002869 ST BOLT M30X355 10.9 FLZNL NC 1000H R SH 25,50 € 57

GP002871 THREADED ROD M30X275 11,79 € 87

GP002883 CAPACITOR 4UF 7,92 € 24

GP002987 CABLE RS232 24,31 € 47

GP002988 6-PORT SWITCH 385,71 € 47

GP002989 FIBER OPTIC CONVERTER 266,83 € 47

GP002990 CABLE 0.5M 1,80 € 47

GP003004 PT100 OIL SENSOR 63,73 € 47

GP003014 PT100 SENSOR, BEARING 1 77,57 € 57

GP003081 OIL LEVEL INDICATOR 366,53 € 107

GP003082 HEATING RESISTOR 750W 609,21 € 107



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP003083 HEATING RESISTOR 1500W 710,77 € 107

GP003089 SUPPORT PLATE FOR ACCUMULATOR 22,40 € 49

GP003090 ACCUMULATOR SUPPORT, LEFT 36,35 € 47

GP003091 ACCUMULATOR SUPPORT, RIGHT 36,35 € 47

GP003161 ELASTIC PIN 0,21 € 37

GP003317-PL EMERGENCY BUTTON 1,35 € 37

GP003331 TRIP LABEL 1,60 € 37

GP003353 ASSEMBLY G80 NACELLE PROTECTION CANVAS 1.709,47 € 32

GP003364 HEXAGONAL HEAD BOLT M8X90 0,23 € 37

GP003370 HEXAGON SOCKET BOLT M8X70 0,23 € 37

GP003375 HEXAGONAL HEAD BOLT M24X50 2,20 € 38

GP003399 SELF LOCKING NUT M12 0,08 € 37

GP003400 SELF LOCKING NUT M10 0,05 € 37

GP003408 PACKING GLAND M20 0,43 € 47

GP003439 HEXAGONAL HEAD BOLT M16X30 0,40 € 38

GP003440 HEXAGONAL NUT M12 0,07 € 37

GP003442 HEXAGONAL NUT M16 0,10 € 38

GP003443 HEXAGONAL HEAD BOLT M20X60 0,90 € 38

GP003444 HEXAGON SOCKET BOLT M12X35 0,42 € 37

GP003473 HEXAGONAL HEAD BOLT M10X45 0,17 € 37

GP003478 FLAT WASHER D10 0,03 € 32

GP003480 HEXAGONAL HEAD BOLT M20X90 1,38 € 38

GP003570 HEXAGONAL HEAD BOLT M12X25 0,25 € 47

GP003573 HEXAGONAL NUT M12 0,07 € 37

GP003574 HEXAGONAL HEAD BOLT M12X50 0,27 € 37

GP003575 TAPE 4,13 € 47

GP003576 HEXAGONAL HEAD BOLT M5X50 0,05 € 37

GP003603 HEXAGONAL HEAD BOLT M8X20 0,08 € 37

GP003626 GEARBOX HYDRAULIC COUPLING 7.938,46 € 127

GP003629 FLAT WASHER M5 0,01 € 57

GP003633 VALVE BLOCK PROTECTION COVER 30,39 € 45

GP003640 VALVE BLOCK GUARD 46,77 € 47

GP003645 CYLINDER HOLDER 141,48 € 47

P630725 SCR ISO4017 M8X40 8.8 FLZNL NC 1000H 0,10 € 37

GP003696 CROSS-HEAD BOLT M4X8 0,02 € 47

GP003697 HEXAGON SOCKET BOLT M6X35 0,06 € 57

GP003702 THREADED ROD M30X4 15,38 € 57

GP003703 THREADED ROD M30X4 19,18 € 57

GP003727 SLOTTED HEAD BOLT M12X220 3,60 € 32

GP003870 COOLER 2.152,50 € 47

GP003998 EXTRACTOR WASHER 7,78 € 47

GP004124 GRIP FOR PIPE, DOUBLE 0,90 € 47

GP004125 ADJUSTABLE ELBOW 3,15 € 47

GP004126 ROTATING JOISE HOUSE 45,42 € 47

GP004127 HOLDER FOR PIPE D10 0,36 € 47

GP004128 ROTATING JOINT HOSE 24,23 € 47

GP004129 SINGLE CONNECTOR 1-2" TO D10 2,37 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP004130 VALVE BLOCK 1.122,86 € 47

109623 BREAKING MEMBRANE BLOCK CARTRIDGE,140BAR 507,63 € 37

GP004154 HEXAGONAL HEAD BOLT M42X270 16,32 € 37

GP004155 HEXAGONAL HEAD BOLT M42X320 20,86 € 38

GP004216 HEXAGON SOCKET BOLT M6X30 0,07 € 37

GP004219 WIDE WASHER M12 0,24 € 37

GP004247 HEXAGONAL HEAD BOLT M8X45 0,10 € 37

GP004249 ACCELEROMETER 271,61 € 77

GP004255 SURGE PROTECTION 52,48 € 47

GP004257 SURGE PROTECTOR BASE 18,78 € 47

GP004258 GUARD RELAY 172,15 € 47

GP004259 2-CONTACT RELAY BASE 10,53 € 47

GP004260 2-CONTACT RELAY COIL 3,56 € 47

GP486500 BAS-PLC-BPT-24DC/21-2900445 6,86 € 47

GP004262 1-CONTACT RELAY COIL 4,17 € 47

GP004263 RELAY 18,89 € 47

GP004265 2-CONTACT RELAY COIL 2,92 € 47

GP004267 POWER RELAY COIL 2,93 € 47

GP004269 RELAY SPACER BASE 0,83 € 47

GP004270 LABEL ID 0,42 € 47

GP004271 CONNECTION BRIDGE 0,78 € 47

GP004272 CONNECTION BRIDGE 10,45 € 47

GP004273 CONNECTION BRIDGE 10,45 € 47

GP004274 FAN 14,29 € 47

GP004400 BRAKE DISC CP 0,20 € 37

GP004819 RS232 CABLE 13,28 € 47

GP004821 CONNECTOR FOR THE ACCELEROMETERS 16,89 € 47

GP004823 ACCELEROMETER 2 CABLE 35,22 € 47

GP004825 PROTECTION GRILLE FOR FAN 1,55 € 62

GP004828 EMERGENCY BUTTON HEAD 11,27 € 47

GP004829 EMERGENCY BUTTON 4,32 € 31

GP004830 EMERGENCY SIGN LABEL 1,55 € 47

GP004844 AUXILIARY CONTACT 3,35 € 57

GP004850 THERMAL YAW MOTOR 15,01 € 57

GP004851 THERMAL RELAY 17,35 € 47

GP004858 2.5 TERMINAL BLOCK WITH SPRING CAGE 0,41 € 47

GP004859 LABEL ZB5 0,41 € 47

GP004860 SIMPLE TERMINAL COVER 0,28 € 47

GP004861 CONNECTIONS BRIDGE 0,17 € 47

GP004865 1.5MM TWO-LEVEL SPRING TERMINAL 0,81 € 47

GP004866 2.5MM TWO-LEVEL SPRING TERMINAL 1,82 € 47

GP004867 LABEL ZBM5 0,12 € 47

GP004868 TWO-LEVEL TERMINAL COVER 0,47 € 47

GP004871 LABEL ZB 6 0,50 € 47

GP004874 END BRACKET 0,63 € 47

GP004875 10MM TERMINAL BLOCK 2,72 € 47

GP004876 10MM TERMINAL BLOCK 1,13 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP004877 TERMINAL COVER 0,31 € 47

GP004878 LABEL ZB10 0,62 € 47

GP004879 2.5MM TWO-LEVEL SPRING TERMINAL 3,98 € 47

GP004883 GROUND INDICATOR PLATE 0,06 € 47

GP004888 HEADER 133,07 € 47

GP004889 MODULE SUPPLY 12,40 € 47

GP004890 DIGITAL OUTPUTS 74,31 € 47

GP004891 ELECTRONIC FUSE 22,69 € 47

GP004892 DIGITAL INPUTS 43,14 € 47

GP004893 ACCUMULATOR 12L 588,37 € 52

GP004894 PULSE METER 72,29 € 47

GP004895 TEMPERATURE READER 87,23 € 47

GP004896 COMMUNICATIONS 93,29 € 47

GP004897 ANALOG INPUTS 90,00 € 47

GP004898 ANALOG OUTPUTS 86,92 € 47

GP004899 CONVERTER 29,52 € 47

GP004902 TOUCHSCREEN SOCKET 1,13 € 47

GP004915 HEATING RESISTOR 42,38 € 77

GP004932 PACKING GLAND PG16 13,97 € 31

GP004940 PERFORATED RAIL 0,52 € 47

GP004944 INDUCTIVE SENSOR 54,62 € 62

GP004948 TERMINAL 0,74 € 47

GP004964 CAPACITOR 8,43 € 115

GP004969 VARISTOR 49,54 € 47

GP004970 ENCAPSULATED PT100 SENSOR 1 12,75 € 59

GP004975 CONTROL SYSTEM 1.282,86 € 47

GP004976 FIBER OPTIC CONVERTER 66,43 € 47

GP004978 CABLE CLAMP 5,55 € 47

GP005013 ACCELEROMETER 4 CABLE 33,08 € 47

GP005016 ACCELEROMETER 6 CABLE 33,08 € 47

GP005018 ACCELEROMETER 7 CABLE 26,75 € 47

GP005020 ACCELEROMETER 8 CABLE 28,98 € 47

GP005057 BEACON 46,67 € 47

GP005104 SINGLE CONNECTOR TO 28MM PIPE 21,82 € 67

GP005118 OIL LEVEL INDICATOR 17,17 € 77

GP005122 LEVEL SENSOR 423,08 € 57

GP005131 CABLE WS331 87,17 € 47

GP005148 HEXAGON SOCKET BOLT M4X12 0,15 € 57

GP005175 THERMISTOR 4,00 € 32

GP005204 HEXAGONAL NUT M6 0,10 € 37

GP005208 SAFETY LOCK FOR ACCESS WINDOW 30,88 € 47

GP005209 LOCK TRIM 1,42 € 47

GP005214 SECURITY LOCK CLOSURE PLATE 1,16 € 47

GP005215 BOX OF KEYS ACCESSING THE TRANSFORMER 78,54 € 47

GP005216 SAFETY LOCK FOR ACCESS DOOR 42,58 € 47

GP005247 HEXAGONAL NUT M14 0,08 € 37

GP005364 CABLE WABT411 23,52 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP005383 CONNECTOR 4,17 € 47

GP005411 HOSE L=1220MM 115,41 € 47

GP005464 FIRE EXTINGUISHER SUPPORT 8,49 € 47

GP005466 FOOTRAIL TOP PLATFORM 133,50 € 47

GP005467 TOP PLATFORM G8X WITH FOOTRAIL 524,03 € 57

GP005482 FIRE EXTINGUISHER 55,23 € 38

GP005485 FAN 226,08 € 47

GP005490 AUXLIARY CABINET 803,33 € 84

GP005551 SWITCH 198,33 € 47

GP005552 TERMINAL BLOCK 2.5MM 1,22 € 47

GP005553 TERMINAL BLOCK 2.5MM 0,98 € 47

GP005554 TERMINAL BLOCK 2.5MM 3,00 € 47

GP005555 COVER 0,42 € 47

GP005556 REMOTE CONTROL CABLE 23,42 € 47

GP005626 CABLE WA007 325,60 € 47

GP005649 STRUCTURAL WASHER M24 0,28 € 37

GP005655 MOTOR 2.2KW 754,35 € 77

GP005696 WIDE WASHER D6 0,03 € 47

GP005699 ROD 19,00 € 52

GP005700 TRANSMISSION SYSTEM INSULATING CYLINDER 126,30 € 47

GP005701 LIGHTNING TRANSMISSION ARC RECEIVER 6,92 € 47

GP005702 LIGHTNING TRANSMISSION SYSTEM 63,17 € 47

GP005725 MOTOR 2.2KW 921,92 € 77

GP005735 PIPE 2 L=290MM 9,93 € 47

GP005736 TUBE 3 L = 435MM 10,73 € 47

GP005750 HEXAGON SOCKET BOLT M5X20 0,05 € 37

GP005764 AXIAL BRAKING PLATE 152,83 € 47

GP005765 AXIAL FRONT BRAKING PLATE 199,65 € 47

GP005766 AXIAL PLATE GREASER 11,50 € 47

GP005767 FRONT AXIAL PLATE GREASER 17,50 € 47

GP005768 PLATE PUSHER 93,65 € 47

GP005769 FRONT PLATE PUSHER 221,92 € 47

GP005770 YAW RING BASE SCRAPER 5,83 € 47

GP005774 BUSHING 1,16 € 47

GP005777 LUBRICATION TUBE 16,25 € 47

GP005778 HEXAGON SOCKET BOLT M8X70 0,20 € 37

GP005779 ฀฀RADIAL PLATE 27,50 € 47

GP005781 GREASE TRAY 3,43 € 47

GP005782 TAPE 17,13 € 47

GP005812 LOCK WITH EMERGENCY BUTTON 147,89 € 57

GP005817 VENTILATION GATE CONNECTION BOX 36,85 € 47

GP005859 INTERMEDIATE REMOTE CONTROL CARD 752,86 € 136

GP005880 NACELLE COOLING MOTOR 432,71 € 47

GP005890 MOTOR 1.5KW 254,08 € 77

GP005986 PLATE TO FIX SMP 9,20 € 47

GP005995 ACTIVE CROWBAR CABINET 5.578,67 € 136

GP005996 COUPLING FOR LUBRICATION 0,17 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP006028 ACCELEROMETER 2 CABLE 36,03 € 47

GP006029 ACCELEROMETER 4 CABLE 34,37 € 47

GP006030 ACCELEROMETER 6 CABLE 34,37 € 47

GP006031 ACCELEROMETER 8 CABLE 30,93 € 47

GP006032 ACCELEROMETER 7 CABLE 30,93 € 47

GP006048 PRESSURE LIMITER 68,99 € 32

GP006069 BOLT M12 0,62 € 47

GP006071 EMERGENCY BUTTON PULLER DOOR 4,58 € 57

GP006195 HEXAGONAL HEAD BOLT M16X80 0,47 € 57

GP006228 ELECTRIC FAN 725,00 € 87

GP006229 COOLING BOX FAN MOTOR 698,67 € 62

GP006230 RING ASSEMBLY, FAN MOTOR 438,38 € 47

GP006238 CURRENT TRANSDUCER 274,29 € 47

GP006239 SENSOR PT100 21,54 € 52

GP006248 RISK OF BEING TRAPPED SAFETY LABEL 2,58 € 47

GP006250 FIRE EXTINGUISHER SAFETY LABEL 3,43 € 37

GP006294 SEALANT 12,80 € 32

GP006318 BEACON SUPPORT 172,55 € 92

GP006319 BEACON JOINT ELEMENTS, SUPPORT 1,67 € 37

GP006329 HEXAGON SOCKET BOLT M8X30 0,08 € 37

GP006359 ANEMOMETER SUPPORT 112,55 € 47

GP006372 COPPER CONNECTOR KSD 50 1,63 € 47

GP006413 SERRATED LOCK WASHER 0,03 € 32

GP006454 HEXAGONAL HEAD BOLT M12X40 0,22 € 37

GP006520 HEXAGONAL HEAD BOLT M10X50 0,19 € 37

GP006521 FLAT WASHER D14 0,07 € 37

GP006528 HEXAGONAL HEAD BOLT M6X50 0,08 € 37

GP006557 ADHESIVE 19,36 € 32

GP006558 ACTIVATOR ADHESIVE 12,84 € 32

GP006574 SHACKLES WITH PIN AND NUT 2,67 € 32

GP006633 TUBE 5-1 L=1610MM 15,05 € 47

GP006636 ADHESIVE 13,83 € 32

GP006646 FLANGE 3,50 € 47

GP006653 SEALANT 27,63 € 32

GP006662 F.A DOOR TOWER G8x FOR EMERGENCY PUSH-PA 1.745,50 € 37

GP006667 MULTIPLEXER CARD 367,14 € 108

GP006675 GENERIC COMMUNICATION CABLE 3,17 € 47

GP006739 POWER CABLE FLANGE 4,63 € 57

GP006757 FLAT PLASTIC WASHER 30X50 0,92 € 47

GP006792 PAINT 3,09 € 32

GP007040 FRICTION BUSHING 20,33 € 137

GP007068 COOLING CLAMP 1,32 € 32

GP007069 TUBE L=1.2M 16,67 € 47

GP007073 HEXAGONAL HEAD BOLT M10X20 0,13 € 37

GP007140 PAINT 14,37 € 38

GP007157 CABLE WA79 185,83 € 47

GP007193 DUAL CONNECTOR ADAPTER 11,64 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP007206 CABLE WS989 177,80 € 47

GP007207 CABLE WS989 240,22 € 47

GP007208 CABLE WS989 276,13 € 47

GP007257 TRANSFORMER 38.766,67 € 77

GP007273 AUTOMATIC VALVE 77,43 € 227

GP007305 BRAKE HYDRAULIC ELEMENT SET 541,67 € 47

GP007312 BELLOWS 535,17 € 47

GP007314 PEDESTAL SIDE CLOSURE 14,67 € 45

GP007339 PLASTIC BOTTLE FOR OIL SAMPLES 0,01 € 38

GP007343 TRANSFORMER 690-230V 481,33 € 37

GP007344 SOCKET 3 PHASE+GROUND 4,15 € 47

GP007345 FAN GRILLE 9,68 € 47

GP007346 CIRCUIT BREAKER 14-20A 153,43 € 57

GP007347 AIR INLET GRILLE 19,00 € 31

GP007349 RAIL PLUG 3,58 € 47

GP007353 CONNECTION BRIDGE 0,35 € 47

GP007356 BATTERY 174,70 € 47

GP007357 BATTERY CHARGER 154,66 € 47

GP007359 CIRCUIT BREAKER 25A 11,40 € 47

GP007381 HIDRAULIC OIL 1,89 € 24

GP007395 MINERAL OIL TEXACO MEROPA 2,82 € 24

GP007395-001 MINERAL OIL TEXACO MEROPA 2,33 € 24

GP007472 HEXAGONAL HEAD BOLT M42X370 48,93 € 67

GP007482 FLAT WASHER D20 0,28 € 37

GP007505 HOLDER VENT PIPE COOLER 1,53 € 47

GP007509 FLAT WASHER M12 0,05 € 37

114279 SENSOR PT100-180-5 30,35 € 47

GP007534 SLOTTED HEAD BOLT M5X10 0,03 € 37

GP007536 SLOTTED CABLE TRUNKING 9,60 € 32

GP007538 SLOTTED CABLE TRUNKING 7,73 € 32

GP007539 SLOTTED CABLE TRUNKING 9,33 € 32

GP007540 CONNECTIONS BRIDGE 4,30 € 47

GP007544 4-CONTACT RELAY COIL 16,67 € 47

GP007545 4-CONTACT RELAY BASE, SWITCHED 26,48 € 47

GP007546 MODULE WITH TWO DIGITAL INPUTS 18,54 € 47

GP007548 HEADER 98,71 € 47

RES0171 150W 230V HEATER RESISTOR 96,87 € 47

GP007571 THERMOSTAT 9,30 € 47

GP007580 PLATE FOR BLOCK 6,30 € 47

GP007637 INTERBUS OUTPUT 55,23 € 47

GP007638 ON-LINE CONTROLLER 449,74 € 47

GP007640 CONECTOR DSUB8 55,74 € 32

GP007642 CIRCUIT BREAKER 63A 420,50 € 47

GP007706 ACCUMUL.EHV32L-330B-90 C N-ASME 4000 PSI 1.842,85 € 92

GP007670 CONNECTIONS BRIDGE 1,90 € 47

GP007674 SURGE PROTECTION 39,43 € 47

GP007676 SURGE PROTECTOR BASE 13,49 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP007687 CONTACTOR INTERLOCK 6,02 € 47

GP007700 FILTER RUG 2,73 € 32

GP007706 ACCUMULATOR 32L 1.842,85 € 92

GP007746 VALVE EXTRACTOR TOOL 170,57 € 92

GP007750 O-RING SEAL 0,65 € 37

GP007752 METAL RUBBER GASKET 1 1/4" 1,73 € 32

GP007753 MALE-MALE ADAPTER 5,67 € 47

GP007754 IN-LINE NON-RETURN VALVE 65,75 € 38

GP007755 HOSE 48,36 € 47

GP007756 ADJUSTABLE ELBOW 1 ¼" 17,00 € 37

GP007757 HEXAGON SOCKET BOLT M12X140 1,00 € 37

GP007781 HEXAGONAL HEAD BOLT M4X30 0,08 € 37

GP007818 FLAT WASHER M4 0,01 € 37

GP007821 HUB CABINET SUPPORT 27,33 € 47

GP007824 INVERTER BLOCK FOR THE VALVE 608,53 € 47

GP007825 LOCK SYSTEM OPERATING LEVER 77,38 € 47

GP007826 BRAKE LEVER SECURITY PIN 0,08 € 57

GP007851 HEXAGON SOCKET BOLT M10X50 0,23 € 37

GP007852 ELASTIC SUPPORT 3,67 € 47

GP007853 WASHER 0,20 € 47

GP007860 HEXAGONAL NUT M20 0,31 € 38

GP007878 HUMIDITY SENSOR 49,07 € 47

GP007883 1KOHM RESISTOR 0,12 € 47

GP007884 GRAZING BLACK BUTTON 2,00 € 47

GP007891 EMERGENCY STOP BUTTON NA CONTACT 2,23 € 47

GP007906 SCREEN COMMUNICATION CABLE, CPU 68,67 € 47

GP007911 HEXAGONAL HEAD BOLT M16X70 0,65 € 62

GP007947 CABLE 1.5MM2 0,15 € 47

GP007964 CONTACT 1 NA 1,23 € 47

GP008001 CABLE DUCTING TUBE 18,93 € 47

GP008093 CABLE TRAY L=500 19,33 € 47

GP008123 INNER PLATE FOR LEFT DOOR 60,10 € 45

GP008132 MULTIPLEXER CARD 403,08 € 122

GP008133 TYPE A SUPPORT, HOIST SYSTEM BEAM 9,17 € 47

GP008134 BRACKET FOR CRANE BEAM 11,47 € 47

GP008139 TERMINALS 2.5 0,73 € 47

GP008141 HEXAGON SOCKET BOLT M6X16 0,06 € 57

GP008183 LOCKS FOR WALL AND DOOR 179,45 € 47

GP008190 WIDE WASHER D10 0,11 € 37

GP008219 ROTOR LOCKING SECTOR 648,92 € 47

GP008234 M32 STUFFING BOX 2,03 € 47

GP008253 HYDRAULIC HOSE 80,28 € 47

GP008254 HOSE WITH STRAIGHT TERMINAL L=3140MM 80,17 € 47

GP008256 HOSE WITH STRAIGHT TERMINAL L=8250MM 179,33 € 47

GP008340 HEXAGONAL HEAD BOLT M10X40 0,17 € 37

GP008359 COOLER 993,33 € 92

GP008379 HEXAGONAL NUT M12 0,37 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP008388 SHEAR PIN D45 50,00 € 37

GP008391 SHEAR PIN D28 41,33 € 47

GP008425 TRANSFORMER 42.501,67 € 77

GP008454 GREASE COLLECTING TRAY FOR GEARBOXES 2,25 € 47

GP008493 RUBBER DAMPER F.YAW RING SCRAPER 0,50 € 38

GP008571 ACCUMULATOR 20L 73BAR 2.166,67 € 257

GP008583 TOP COOLING AIR OUTLET 220,00 € 38

GP008584 PUSH BUTTON 7,63 € 31

GP008585 RAIL ADAPTER 4,72 € 47

GP008589 CABLE 1X240MM2 38,33 € 47

GP008616 3-CONTACT RELAY 20,37 € 47

GP008617 3-CONTACT RELAY BASE 11,31 € 47

GP008618 TIMER 21,77 € 47

GP008624 FLUXGATE 376,67 € 38

GP008638 D4.8X14 RIVET 0,07 € 37

GP008642 CABLE WS307 22,18 € 47

GP008679 TUB BELLOWS, ELECTRIC COOLING 486,67 € 38

GP008712 HEXAGONAL NUT M8 0,03 € 37

GP008722 ACCESS LADDER TO OUTSIDE 152,72 € 47

GP008725 FUSE PLATE 24,37 € 47

GP008733 AIR OUTLET GRILLE 650,00 € 47

GP008781 HEXAGONAL HEAD BOLT M16X45 0,53 € 37

GP008785 SIMPLE TERMINAL BLOCK 8,20 € 47

GP008787 TRANSFORMER 45.138,33 € 77

GP008788 CABLE WA78 111,17 € 47

GP008811 CABLE WS900 365,02 € 47

GP008812 CABLE WS900 341,09 € 47

GP008834 MOTOR 2.2KW 838,60 € 77

GP008843 COOLING AIR INLET GRILLE 209,33 € 47

GP008864 AIR OUTLET PLATE 100,00 € 47

GP008877 SWITCH, 6 ELECTRICAL PORTS 551,43 € 47

GP008901 AIR COOLING 208,33 € 38

GP008922 CONNECTOR ADAPTER 22,68 € 47

GP008923 EYEBOLT BOLT M10 1,07 € 37

GP008952 RELAY 9,49 € 47

GP008955 AIR INLET BELLOWS 281,20 € 38

GP008969 HEXAGONAL HEAD BOLT M6X25 0,04 € 37

GP008972 SLEEVE TO CVR.CABLE HOLE PLATF. 18,67 € 57

GP008978 CABINET CORRIDOR COVER 19,17 € 47

GP008979 STRAIGHT-THREADED TERMINAL HOSE L=3540MM 55,17 € 47

GP009026 FIBER OPTIC CABLE 38,83 € 47

GP009031 INTERMEDIATE REMOTE CONTROL CARD 1.081,54 € 136

GP009032 BRANCH REMOTE CONTROL CARD 637,33 € 206

GP009194 HEXAGONAL HEAD BOLT M8X30 0,07 € 37

GP009257 HEXAGON SOCKET BOLT M8X25 0,10 € 37

GP009269 HEXAGONAL HEAD BOLT M20X140 2,78 € 47

GP009282 UPPER FIXING BLOCK 14,29 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP009355 VENTILATION GATE ACTUATOR 96,67 € 62

GP009526 INTAKE PIPE 159,55 € 47

GP009527 EXTERIOR TUBE 57,69 € 47

GP009529 LIGHTING 45,36 € 47

GP009589 HEXAGONAL HEAD BOLT M33X110 5,49 € 47

GP009594 SPRING PIN 13,57 € 47

GP009595 EXCHANGER INLET PIPE 140,58 € 47

GP009596 EXCHANGER OUTLET PIPE 129,83 € 47

GP009597 EXCHANGER INLET PIPE 149,82 € 47

GP009598 EXCHANGER OUTLET PIPE 128,31 € 47

GP009627 PAINT 3,23 € 32

GP009684 PRE-INSULATED CABLE TERMINAL 0,01 € 57

GP009701 OIL COOLING PIPE CLAMP 63,33 € 47

GP009823 CPU FAN 104,67 € 47

GP009828 OIL LEVEL SENSOR 125,67 € 72

GP009841 METAL RUBBER GASKET M12 0,28 € 37

GP009896 CABLE WNT-A 6,93 € 47

GP009897 CABLE WNT 11,37 € 47

GP009907 CABLE WA071 338,33 € 47

GP009942 CABLE WP582A 419,07 € 47

GP009943 CABLE WP582B 419,07 € 47

GP009944 CABLE WP582C 419,07 € 47

GP009946 CABLE WP582D 419,07 € 47

GP010105 EXTENSION PIPE 20,17 € 47

GP010132 UPPER LEFT SIDE FRONT WALL PLATE 75,00 € 47

GP010201 UNINTERRUPTIBLE POWER SUPPLY 2.658,33 € 87

GP010224 CABLE 2M 2,75 € 47

GP010383 Trafo Plate: No admittance authorised 10,05 € 57

GP010399 CABLE 1X2.5MM2 0,79 € 47

GP010406 HEX HEAD BOLT M12X60 0,19 € 37

GP010421 FRONT TOP PASSAGE COVER 28,33 € 47

GP010458 ADAPTER 79,40 € 47

GP010460 ELBOW D38 28,78 € 47

GP010461 DBL.PIPE CLAMP 2,29 € 62

GP010462 CABLE WP582A 411,03 € 47

GP010463 CABLE WP582B 506,37 € 47

GP010470 CABLE RS232 20,87 € 47

GP010510 CONNECTIONS BRIDGE 0,58 € 47

GP010524 CABLE TRAY L=3000 28,53 € 47

GP010528 CABLE TERMINAL 0,01 € 47

GP010542 HEXAGONAL HEAD BOLT M6X30 0,08 € 37

GP010565 RELAY SOCKET 10,03 € 47

GP010568 RELAY 4,72 € 47

GP010578 SHACKLES 0,95 € 38

GP010579 TENSIONING DEVICE M8 2,22 € 47

GP010609 FLEXIBLE AIR OUTLET TUBE 16,53 € 47

GP010641 EXCHANGER METAL GRATE 1 53,33 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP010668 BRAKE INVERSE LOGIC STICKER 0,41 € 47

GP010672 POWER SYSTEM 386,13 € 137

GP010693 HEXAGONAL NUT M8 0,05 € 37

GP010694 SEALING WASHER M8 0,12 € 47

GP010696 LOCKING WASHER 10 0,45 € 37

GP010700 FRONT SKYLIGHT 388,77 € 47

GP010701 CLAMP, 50-70MM 0,99 € 47

GP010718 FUSE PLATE 19,95 € 47

GP010872 HEXAGON SOCKET BOLT M12X40 0,25 € 37

GP010925 MOTOR 2.2KW 283,33 € 38

GP010988 SERVICE CRANE WITHOUT CHAIN 1.957,33 € 47

GP010989 SERVICE CRANE WITHOUT CHAIN 2.470,00 € 47

GP010990 MOTOR 565,53 € 32

GP011021 HOSE WITH ELBOW TERMINAL 66,03 € 47

GP011022 HOSE WITH ELBOW TERMINAL 50,92 € 47

GP011044 MOTOR 2.2 KW 493,21 € 77

GP011051 ADHESIVE 28,16 € 32

GP011057 HOSE WITH STRAIGHT TERMINALS 59,39 € 47

GP011092 TRANSMITTER 424,45 € 32

GP011137 CIRCUIT BREAKER 1P 16A 3,89 € 47

GP011146 CIRCUIT BREAKER 1P 2A 22,30 € 47

GP011149 AUXILIARY CONTACT 7,77 € 47

GP373037 INT_ABB_AF146-30-11B-13_1SFL467002R1311 377,38 € 57

GP011177 3-POLE TERMINAL COVER 10,35 € 47

GP011205 SELF LOCKING NUT M8 0,03 € 37

GP011215 HINGE FOR COMPACT FRAME GRILLE 5,50 € 47

GP011217 HOSE WITH TERMINALS 34,03 € 47

GP011374 AUXILIARY CONTACT BLOCK 61,27 € 47

GP011506 INSULATION SCREEN 56,97 € 47

GP011546 VENTILATION MOTOR 138,46 € 87

GP011551 HEXAGONAL HEAD BOLT M16X50 0,50 € 38

GP011582 SECTION SWITCH 19,08 € 47

GP011584 AUXILIARY CONTACT 1NA+1NC 12,06 € 47

GP011618 D.E. GREASER HOSE 57,25 € 107

GP011619 N.D.E. GREASER HOSE 66,67 € 107

GP011625 CABLE 5M 46,67 € 47

GP011637 ELECTRICAL HAZARD STICKER 2,25 € 57

GP011663 TRANSFORMER + FUSE 31,53 € 32

GP011664 TEMPERATURE SENSOR 29,89 € 47

GP011665 COOLING FILTER 5,61 € 47

GP011666 AIR INLET 12,77 € 47

GP011667 CABINET COOLING 53,85 € 47

GP011668 HEATER 24,23 € 47

GP011678 TRANSFORMER 700,00 € 32

GP011680 RAIL 15,17 € 47

GP011684 TERMINAL BLOCK 0,88 € 47

GP011692 LIGHTING 51,97 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP011756 ANTIVIBRATION SEAL 9,00 € 47

GP011773 BRUSH HOLDER 63,32 € 77

GP011774 RUSH HOLDER SUPPORT PIN 57,14 € 52

GP011810 INSULATED-GATE BIPOLAR TRANSISTOR 2.450,77 € 47

GP011811 CURRENT TRANSDUCER 213,47 € 68

GP011814 POWER SUPPLY 1.100,00 € 52

GP011815 INTERFACE CARD 761,54 € 54

GP011816 FUSE 800A 66,34 € 47

GP011817 FUSE 1000A 75,73 € 87

GP011818 ENCODER INTERFACE 810,05 € 47

GP043715 PPCS BRANCH.UNIT APBU-44C V2 (64669982) 1.821,62 € 72

GP011820 POWER SUPPLY 260,61 € 47

GP011821 HYGROSTAT 121,97 € 47

GP011822 THERMOSTAT 34,03 € 47

GP011824 CONNECTOR 335,25 € 51

GP011826 RELAY 17,28 € 47

GP011827 CARTRIDGE FUSE 1,58 € 47

GP011828 RESISTOR 56,55 € 47

GP011829 CONNECTOR 102,03 € 57

GP011830 POWER SUPPLY 150,06 € 47

GP011831 FILTER CARD 258,50 € 54

GP011832 CARD 893,20 € 89

GP011976 RESISTOR 9,67 € 22

GP011980 PT100 INSULATED BEARING 26,52 € 38

1U6001JDE30 BALL BEARING 6330 M C3 448,33 € 77

GP012133 AIR INLET L-BEND UPPER HALF 54,83 € 47

GP012134 AIR INLET L-BEND LOWER HALF 56,07 € 47

GP012170 FRONT NOSE CONE RING 2.037,12 € 57

GP012189 LONG LOCK BOLT 64,67 € 47

GP012190 ROTOR LOCK SYSTEM 138,46 € 77

GP012217 CLOSE PLATE, G8X LIFTING TOOL 364,50 € 47

GP012278 HOSE, STRAIGHT-45º TERMINALS 108,83 € 47

GP218789 GENERIC LED 110-277V 50-60HZ + EM KIT UL 112,21 € 47

GP012331 SUPPORT FOR ACCUMULATOR W.RUBBER 20,00 € 47

GP012342 PRIMER 0,41 € 47

GP012344 HOSE L=595MM 274,28 € 47

GP012356 DOUBLE JOINT 10,12 € 62

GP012401 CALIPER HOLDER PLATE 155,71 € 47

GP012402 INTERMEDIATE BRAKE PLATE 88,80 € 62

GP012403 BRAKE SPACER MIDDLE PLATE 32,75 € 32

GP012532 CONTACTOR 963,77 € 47

GP012546 HEATER RESISTOR 66,67 € 47

GP012547 TRANSFORMER 18,55 € 47

GP012553 FAN WITH FILTER 57,47 € 47

GP012554 GRILLE 13,81 € 47

GP012684 HEXAGONAL HEAD BOLT M16X60 0,57 € 38

GP012691 PAINT REPAIR KIT 73,47 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP012699 COLLAR 374,40 € 77

GP012701 BUSHING D17 30,70 € 101

GP012702 BUSHING M16 24,56 € 101

GP012735 FLAT WASHER M12 0,11 € 37

GP012745 MOBILE SECTION LADDER 10,93 € 47

GP012747 LADDER FOR FIXED SECTION 18,90 € 47

GP012766 FA ACCESS LADDER 67,50 € 47

GP012777 OIL 6,28 € 32

GP012777-001 SYNTHETIC OIL FUCHS RENOLIN 8,17 € 32

GP012794 CABLE WA861 193,45 € 37

GP012802 HEXAGONAL HEAD BOLT M8X50 0,22 € 32

GP012805 PLATE 32,67 € 32

GP012822 CAP M30 11,25 € 47

GP012848 THERMOSTAT -20º,+35ºC 24,14 € 47

GP012852 CARTRIDGE FUSE 1,13 € 47

GP012867 HOSE L=1120MM 67,13 € 47

GP012876 CENTRAL PROCESSING UNIT 3.087,14 € 164

GP012877 CENTRAL PROCESSING UNIT 2.978,57 € 164

GP012878 FLAT WASHER D8 0,03 € 47

GP012879 FLAT WASHER D10 0,07 € 37

GP012884 SELF LOCKING NUT M12 0,37 € 37

GP012885 EYEBOLT NUT M8 3,76 € 47

GP012886 OIL SHELL TELLUS 2,32 € 32

GP012887 HYDRAULIC OIL FUCHS RENOLIN 2,78 € 32

GP012957 NUTS AND BOLTS PALLET 2.145,00 € 77

GP012962 ACTIVE CROWBAR UNIT 7.055,48 € 67

GP012964 CONTROL UNIT 2.622,97 € 48

GP012965 DRIVE CONTROL UNIT 4.769,06 € 49

GP012966 CIRCUIT BREAKER 30,84 € 47

GP012967 VOLTAGE CONTROL FILTER 583,40 € 68

GP012968 AIR CIRCUIT BREAKER 2000A 7.835,40 € 63

GP012969 CURRENT TRANSFORMER 338,67 € 58

GP012971 LIGHTING ARRESTER 284,12 € 47

GP012973 CURRENT TRANSFORMER 107,67 € 51

GP012974 SURGE PROTECTOR 36,90 € 47

GP012975 ADAPTER 1.163,92 € 95

GP012980 PT100 SENSOR, BEARING 83,02 € 47

GP012983 ENCODER 791,43 € 47

GP013021 LOCKING CYLINDER SHIM 1,49 € 47

GP013046 HUB CABINET 14.620,00 € 143

GP013067 HEXAGON SOCKET BOLT M6X25 0,05 € 57

GP013110 RELAY 17,41 € 31

GP013170 GROUND TERMINAL BLOCK 6,17 € 47

GP013184 TENSOR WITH BRACKETS 53,83 € 57

GP013187 DAMPER CHAIN 190,85 € 57

GP013202 SHEET DISCHARGE 206,67 € 32

GP013311 PASSIVE CROWBAR CARD 357,14 € 115



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP013397 SMP SENSOR CONNECTIONS STRIP 20,87 € 47

GP013424 PIGTAIL SLEEVE 13,00 € 37

GP013432 VENTILATION GRILLE 99,90 € 32

GP013449 LAMP 369,23 € 47

GP467359 REL_PHO_PLC-RPT-230UC/21_2900305 15,70 € 47

GP013558 CABLE WP582A G8X 50-60Hz 1Ph.SILICONE 342,38 € 47

GP013559 CABLE WP582B G8X 50-60Hz 1Ph.SILICONE 327,67 € 47

GP013561 CABLE WP582D G8X 50-60Hz 1Ph.SILICONE 321,47 € 47

GP013597 CARD 4.517,33 € 206

GP013616 CABLE WS900 328,25 € 47

GP013618 CABLE WS900 514,60 € 47

GP013657 BATTERY 16,11 € 47

GP013658 ACTIVE CROWBAR CARD 1.645,71 € 136

GP013659 INSULATED-GATE BIPOLAR TRANSISTOR 89,57 € 47

GP013663 RESISTOR 263,87 € 49

GP013665 DIODE 60,07 € 47

GP013666 SNUBBER MODULE 166,67 € 108

GP013707 INSIDE PAINT REPAIR KIT 75,33 € 37

GP013715 MOTOR 3KW 543,85 € 77

GP013806 ROD WITH LEFT THREAD NUT 123,67 € 37

GP013855 POWER CABLE SPACER CLAMP 3,51 € 57

GP013982 THERMOMAGNETIC 100,83 € 47

GP013983 THERMOMAGNETIC 66,42 € 47

GP013985 HOISTING LABEL 1,37 € 47

GP013996 CIRCUIT BREAKER 298,48 € 47

GP014035 Packaging tape NITTO 9850 50mmX100m 15,52 € 32

GP014058 TRANSFORMER 36.250,77 € 77

GP014059 TRANSFORMER 43.695,00 € 77

GP014118 POWER CABLE PROTECTION TUBE 27,48 € 57

GP014166 BLIND RIVET DIN 7337 - D3.9x15 0,17 € 32

GP014167 RIVET 0,13 € 37

GP014269 NACELLE AND ROTOR PROTECTION 214,11 € 47

GP014376 PRESSURE HOSE 40,37 € 47

GP014472 FA CENTRAL CHAIN WITH PROTECTION 12,89 € 47

GP014570 INSULATING SUPPORT 62,55 € 24

GP014574 DIODE 95,28 € 65

GP014575 FUSE BASE 304,42 € 48

GP014580 TRANSFORMER 1.338,99 € 67

GP014581 SWITCH HOUSING 2.034,33 € 57

GP014590 FUSE 630A 2.449,42 € 76

GP014591 CAPACITOR 0.47UF 9,15 € 47

GP014592 RESISTOR 36,62 € 47

GP014593 MODULE DIODE 115,40 € 47

GP014597 FILTER RESISTOR 66,31 € 47

GP014598 FAN 1.298,11 € 47

GP014599 CONTACTOR 10,09 € 47

GP014600 FAN 60,95 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP014601 CAPACITOR 5100UF 2.103,86 € 73

GP014602 MOTOR PROTECTION RELAY 10A 12,84 € 47

GP014603 MOTOR PROTECTION RELAY 16A 23,69 € 47

GP014604 HEATER FAN 187,64 € 47

GP014650 ACCELEROMETER 1 CABLE 35,22 € 47

GP014651 ACCELEROMETER 3 CABLE 35,22 € 47

GP014652 ACCELEROMETER 5 CABLE 34,37 € 47

GP014654 ACCELEROMETER 1 CABLE 28,83 € 47

GP014655 ACCELEROMETER 3 CABLE 36,03 € 47

GP014657 ACCELEROMETER 5 CABLE 35,22 € 47

GP014666 TRANSFORMER 4.081,31 € 97

GP014667 RESISTOR 56,27 € 57

GP014669 RESISTOR 53,43 € 57

GP014670 RESISTOR 51,35 € 57

GP014671 RESISTOR 64,77 € 57

GP014673 CIRCUIT BREAKER 49,03 € 47

GP014674 CIRCUIT BREAKER 95,32 € 48

GP014678 THERMOSTAT 10,00 € 47

GP014679 HYGROSTAT 61,33 € 47

GP014680 TEMPERATURE SENSOR 200,98 € 68

GP014897 TRANSFORMER LOCK KEY 1,68 € 47

GP014981 SHIM FOR TORQUE ARMS 2,46 € 47

GP015022 FA ROOF HATCHES 361,00 € 47

GP015061 GRILLE 702,40 € 62

GP015064 ROPES ELEVATOR BEAM 301,88 € 57

GP015070 O-RING SEAL 171.04X3.53 0,53 € 37

GP015087 NOISE INSULATOR FOAM 78,28 € 47

GP015092 OIL 46 1,73 € 24

GP015109 SWING GATE SUPPORT 24,11 € 57

GP015120 HEMPATHANE S58 553E3 RAL 9018 12,27 € 32

GP015122 HEMPELS DEGREASER 99611 12,36 € 32

GP015136 SWING GATE LIMIT 5,59 € 45

GP015270 DOOR E 613,33 € 87

GP015481 GENERATOR FLANGE 1.485,33 € 73

GP015482 SPACER 1.387,85 € 101

GP015655 OIL SAMPLING HOSE 19,84 € 47

GP015684 PRESSURE LIMITER 11,89 € 47

GP015709 20-25A MOTOR PROT. CIRCUIT BREAKER 28,56 € 47

GP015916 BAR OF PUTTY 7,49 € 32

GP015936 CONVERTER CABLE SET 423,25 € 59

GP016019 CABLES CC1 78,33 € 45

GP016025 CABLE H07RN-F 1X16MM2 L1390MM 3,00 € 47

GP016028 SHRINK GREEN 25MM2 4,20 € 59

GP016099 CABLE WS20H 7,20 € 47

GP016136 VOLTAGE DISTRIBUTOR 30,17 € 47

GP016235 SENSOR PT100 27,00 € 47

GP016236 BLIND RIVET D4,8X10 0,05 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP016257 THREADED ROD M30X400 13,17 € 57

GP016282 NDE GROUND BRUSH 49,47 € 47

GP016283 NDE GROUND BRUSH 36,62 € 47

GP016290 TEMPERATURE CONNECTION BOX 85,37 € 32

GP016332 TERMINAL AND RESISTOR 6,92 € 47

GP016333 TERMINAL BLOCK COVER 0,52 € 47

GP016533 KEY FOR THE TRANSFORMER BOX OF KEYS 1,68 € 47

GP016553 PITCH CONTROL CYLINDER BELLOWS D80 24,08 € 52

GP016645 WASHER 8,87 € 77

GP016681 CROSS-HEAD BOLT M4X12 0,10 € 37

GP016709 HEXAGONAL HEAD BOLT M6X20 0,06 € 37

GP016868 HEXAGON SOCKET BOLT M8X16 0,08 € 37

GP016965 REGULATOR OF POSITION SENSOR 11,14 € 32

GP016969 AIR INLET CASING SIDE 106,25 € 45

GP016970 AIR INLET GENERATOR SIDE 98,27 € 47

GP016971 BELLOWS FOR AIR INLET 253,33 € 38

GP016994 CABLE 5M 3,75 € 47

GP017053 PLASTIC CHAIN GUIDE DOME 51,51 € 47

GP017056 CHAIN GUIDE BASE 79,77 € 47

GP017127 GREASE 6,76 € 47

GP017142 CROWBAR PANEL MATERIAL 2.338,33 € 67

GP017158 SHORT BRIDGE BAR 71,87 € 32

GP017159 LONG BRIDGE BAR 143,75 € 32

GP017399 CONTROL UNIT CARD 5.850,90 € 73

GP017476 CABLE WP94C 106,08 € 47

GP017484 GLASS FUSE 16A 0,20 € 47

GP017544 TRANSFORMER DOOR LOCK PLATE 0,73 € 47

GP017648 O-RING SEAL, CHANNEL P, 22X2 0,98 € 37

GP017649 O-RING SEAL, CHANNEL T, 26.64X2.64 0,15 € 37

GP017650 O-RING SEAL, CHANNEL D, 13X2 0,08 € 37

GP017831 SHRINK WRAP 3,09 € 47

GP018014 BRUSH HOLDER SUPPORT PIN 55,67 € 47

GP018123 SUPPORT FOR TRANSFORMER 432,41 € 47

GP018129 LEAK SEAL KIT 81,82 € 57

GP018192 HOSE D=50 25,12 € 47

GP018212 TERMINAL 6MM2 0,03 € 47

GP018228 TERMINAL CABLE 1.5MM 0,02 € 47

GP018285 STAY-DRY DESICCANT CLAY SACHET-KIT G8X 45,33 € 47

GP018327 RELAY WITH RC SUPPRESSOR 8,00 € 47

GP018348 CIRCUIT BREAKER 16A 6,76 € 47

GP018351 CIRCUIT BREAKER 63A 71,27 € 47

GP018398 HOISTING EYEBOLT 92,20 € 57

GP018529 HOOK WITH SAFETY CATCH 71,80 € 47

GP018610 CABLE X103 60,00 € 59

GP018628 WIDE WASHER D4 0,02 € 37

GP018688 PAINT CAN 3,23 € 32

GP018753 PACKAGING FILM 23 MICRONS 6,15 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP018876 FILTER 24,40 € 73

GP019007 ROTATION HANDLE 179,52 € 48

GP019009 SWITCH LEVER JOINT SHAFT 36,22 € 58

GP019296 BRAIDED CABLE 550 14,25 € 47

GP019340 CABLE 15M 17,50 € 47

GP019344 CIRCUIT BREAKER 6A 60,42 € 47

GP019346 CIRCUIT BREAKER 16A 26,57 € 47

GP019348 CIRCUIT BREAKER 63A 64,62 € 47

GP019350 CONTACTOR 33,55 € 47

GP019356 CONTACTOR 1NA- 1NC 226,40 € 47

GP019362 CIRCUIT BREAKER 1 TO 1.6A 56,15 € 47

GP019363 CIRCUIT BREAKER 4-6.3A 57,58 € 47

GP019372 CABLE WP580A 982,41 € 47

GP019395 SHORT BRIDGE BAR 63,25 € 32

GP019396 LONG BRIDGE BAR 126,49 € 32

GP019398 LONG BRIDGE BAR 198,33 € 32

GP019439 ELECTRICAL GREASE 64,73 € 31

GP019453 ROTARY CAM SWITCH FG5 26,01 € 57

GP019466 AUXILIAR CABLE CONTACT 135,40 € 47

GP019496 CIRCUIT BREAKER 32A 9,01 € 47

GP019502 CIRCUIT BREAKER 6A 9,97 € 47

GP019516 NC CONTACT BLOCK 2,77 € 47

GP019517 NC CONTACT BLOCK 3,00 € 57

GP019520 CARD 75,33 € 47

GP019563 BRUSH FILTER 31,68 € 38

GP019571 JOINT 1,57 € 47

GP019604 BATTERY 12V 42,85 € 47

GP305361 INT_ABB_AF52-30-00-13_1SBL367001R1300 64,79 € 57

GP019723 RESTRICTOR VALVE 42,95 € 47

GP019724 O-RING SEAL 39.2X3 0,97 € 37

GP019807 WING CAP FOR SEALING 16 0,17 € 37

GP019808 WING CAP FOR SEALING 20 0,18 € 47

GP019809 BLADE BEARING COVER SEAL 9,86 € 47

GP019821 GENERATOR AIR INLET ELBOW 89,11 € 47

GP019844 FA GENERIC VALVE BLOCK 657,14 € 107

GP020044 STRIP 72,22 € 52

GP020136 BRAIDED CABLE 500 13,45 € 47

GP020211 BAR FOR TACHOMETER 305,00 € 52

GP020320 MEMORY 82,67 € 101

GP020350 MOTOR FLANGE 83,33 € 102

GP020412 LOCTITE ANTI SEIZE 15,27 € 32

GP020505 PREGUIDE 96,88 € 47

GP020507 WING NUT M6 0,12 € 37

GP020508 PRE-GUIDE LOCK 18,00 € 92

GP020588 SET OF SHEETS 436,67 € 73

GP020589 FLANGE BOLTS 25,00 € 73

GP020592 FLANGE WITH FASTENING BOLT 407,14 € 73



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP020602 WASHER 7,00 € 45

GP020606 OIL 33,24 € 47

GP020620 KEY BOX 4 LOCKS 143,75 € 47

GP020621 LIGHT UNIT PARTITION 4,86 € 47

GP020622 CABLE WT993I 14,52 € 47

GP020657 CABINET DANGER SIGN, WITH CHAINS 35,35 € 38

GP020666 LIGHTNING ARRESTER BRACKET 8,72 € 47

GP020668 HEXAGONAL HEAD BOLT M10X120 0,67 € 37

GP020672 AIR FILTER 0,85 € 32

GP020673 AIR FILTER 0,88 € 32

GP020703 FILTER 590MM 19,00 € 47

GP020707 FILTER SUPPORT 62,00 € 47

GP020712 FILTER 1006MM 22,93 € 47

GP020716 FILTER 702MM 20,13 € 47

GP020736 TRANSFORMER 39.558,33 € 77

GP020851 BLADE BEARING D1900X192 9.866,67 € 77

GP020852 LEFT MOTOR COUPLING 295,33 € 62

GP020855 EYEBOLT BOLT 2,67 € 37

GP020928 AIR FILTER (THREADED) 38,67 € 47

GP020967 CABLE WA79 281,17 € 47

GP020974 NON-SLIP STRIP ASSEMBLY 32,21 € 38

GP020975 O-RING SEAL 177.17X191.15 10,63 € 37

GP020976 O-RING SEAL 43X50X3.5 1,00 € 47

GP020977 WASHER D35 1,68 € 32

GP020980 SPACER WASHER 86,21 € 88

GP021038-001 VARNISH GQ-386 RAL7046_1L 42,00 € 77

GP021039 ANTICORROSIVE PROTECTION 16,16 € 38

GP021116 STATOR AIR FILTER 12,65 € 38

GP021117 AIR FILTER AUXILIARY VOLTAGE 10,13 € 38

GP021118 COMPACT FILTER 15,33 € 62

GP021164 PAINTER TAPE 50MM 1,49 € 37

GP021171 FA STATOR CABLES 3.965,18 € 47

GP021208 TRANSFORMER WALL GRILLE TRAY 8,52 € 47

GP021209 GRILLE TRAY GEN WALL SIDE 7,43 € 47

GP021214 CABLE TRAY SUPPORT 40,67 € 47

GP021267 COUPLING D28 105,00 € 62

GP021268 BLADE LIGHTNING ARRESTER CABLE L=600MM 14,85 € 47

GP021282 TRANSFORMER 33.689,33 € 77

GP021302 HEXAGONAL HEAD BOLT M12X60 0,28 € 37

GP021311 FAN 582,97 € 59

GP021313 CAPACITOR 2,50 € 31

GP021321 CABLE INTERFACE 29,02 € 47

GP021370 WIDE WASHER M16 0,10 € 37

GP021383 BI-METAL PLATE 8,77 € 47

GP021387 FAN CONNECTING BOX 70,08 € 87

GP021403 GREASE 67,93 € 38

GP021474 SILICONE 8,65 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP021493 FLAT WASHER M20 0,13 € 37

GP021524 MOTOR COUPLING FLANGE 36,67 € 32

GP021535 HIGH SPEED SHAFT COUPLING 3.275,00 € 101

GP021536 LOCK 314,17 € 37

GP021537 LOCKING PLATE 14,84 € 49

GP021538 SUPPORT FOR ANTI-PANIC LOCK 35,32 € 49

GP021582 CABLE WP92A 189,08 € 47

GP021585 CABLE WP92C 100,28 € 47

GP021588 CABLE WP93A 155,90 € 47

GP021590 CABLE WP93C 106,18 € 47

GP021622 300MM METAL BRAIDED CABLE 12,67 € 47

GP021631 CASE CB -FG004 567,58 € 57

GP021647 CABLE 50MM2 12,30 € 47

GP021649 CABLE 50MM2 31,60 € 47

GP021705 PT100 SENSOR, WINDING 47,33 € 62

GP021726 PT100 SENSOR, RINGS 94,67 € 67

GP021732 INTERIOR AIR WHEEL 216,67 € 107

GP021768 SUPPORTING PIN FOR CHAIN END 15,02 € 47

GP021769 SUPPORTING PLATE FOR EXTERIOR CHAIN PIN 25,80 € 49

GP464846 BRAKE POWER SUPPLY BATTER 20,00 € 62

GP021831 AUXILIARY CONTACT BLOCK NC 10,61 € 47

GP021832 AUXILIARY CONTACT BLOCK NC 11,43 € 57

GP021848 PIN 9,81 € 32

GP252629 FRICTION BEARING 100-115-40 54,67 € 87

GP021975 AUTOMATIC VALVE UPPER SUPPORT 5,67 € 47

GP021978-001 GREASE 61,93 € 37

GP021978-003 GREASE 177,12 € 32

GP022002 TUBE D20 66,67 € 47

GP022003 TUBE D25 66,03 € 47

GP022004 TUBE D30 131,22 € 47

GP022007 SLOTTED HEAD BOLT M12X240 4,46 € 47

GP022010 THREADED ROD M30X640 15,47 € 47

GP022011 THREADED ROD M30X560 14,48 € 47

GP022012 THREADED ROD M30X560 14,97 € 57

GP022043 HEXAGONAL HEAD BOLT M5X45 0,05 € 37

GP022044 ACCOMMODATION SWITCH 1.893,32 € 48

GP022047 HEXAGONAL HEAD BOLT M5X10 0,05 € 37

GP022066 BLOCK FOR BLADE LOCK SYSTEM 63,00 € 62

GP022073 CYLINDER SUPPORT 131,28 € 47

GP022117 FAN SUPPORT PLATE 59,35 € 55

GP022119 SILICONE 7,33 € 47

GP022126 ACCELEROMETER ADAPTER 16,27 € 47

GP022127 ฀฀฀PMS POWER CABLE 17,08 € 47

GP326463 THERMAL OVERLOAD RELAY 28A TF65-28 64,94 € 57

GP022140 HEXAGONAL HEAD BOLT M16X80 8,15 € 101

GP022181 VALVE BLOCK GUARD 21,77 € 47

GP022220 ROTOR LOCK SYSTEM SAFETY STICKER 0,88 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP022220-FR G8X ROTOR LOCKING SECURITY LABEL-fr 21,08 € 37

GP022287 CYLINDER VALVE BLOCK GUARD 90,77 € 38

GP022288 VALVE BLOCK GUARD 35,82 € 45

GP022303 GEAR COUPLING 149,23 € 32

GP022315 WASHER 16,72 € 101

GP022518 FINE FILLER 27,32 € 38

GP022988 RADIATOR 857,86 € 32

GP022989 RADIATOR 1.128,57 € 32

GP023013 O-RING SEAL 56.74X3.53 0,98 € 62

GP023038 WING NUT M6 0,48 € 32

GP023087 ELBOW 2,82 € 57

GP023271 CABLE WT987 18,12 € 47

GP023316 CABLE WP580B G8X 1.002,18 € 47

GP023338 MOTOR 0,75KW 347,75 € 62

GP023339 COOLER PUMP 507,82 € 47

GP023412 PIN 1,88 € 47

GP023511 CABLE WA868 UPS - CIP T100M 303,37 € 47

GP023554 FUSE 2A 6,94 € 47

GP023571 ELECTRIC SOLVENT 9,29 € 32

GP023594 GROUNDING BRUSH 36,00 € 47

GP023620 WING NUT M8 0,53 € 37

GP023638 CPU FAN 138,67 € 122

GP023685 UPPER THREADED FORK 4,92 € 47

GP023686 LOWER THREADED FORK 4,92 € 47

GP023855 RESISTOR 47R 32,94 € 47

GP023861 CABLE 34P 2M 49,67 € 62

GP023862 SAFETY SWITCH 1NC+1NA 11,05 € 31

GP023863 CABLE 34P 1M 41,67 € 47

GP023864 INTERFACE CARD 62,23 € 47

GP023865 TEMPERATURE RELAY 24V-230V 42,51 € 47

GP023866 CURRENT TRANSFORMER 2MW 97,33 € 73

GP023867 BUS DAMPER 5,67 € 73

GP023868 PLATE JOINING PIECE 111,67 € 52

GP023869 WATER RADIATOR 523,08 € 87

GP023870 PLATE 275,00 € 108

GP023871 CAPACITOR 6600UF 845,00 € 91

GP023872 COMMUNICATION CARD 920,00 € 136

GP023873 PASSIVE CROWBAR RC MODULE 226,67 € 108

GP023874 2520KW POWER SUPPLY 684,29 € 136

GP023876 FIBER OPTIC DRIVER 744,62 € 108

GP023878 CPU MODULE 5.077,14 € 206

GP023879 FIBER OPTIC CONVERTER, COPPER CABLE 538,46 € 122

GP023880 THERMOSTAT 90º 21,67 € 101

GP023883 CABLE CONNECTOR 98,57 € 94

GP023884 125A, 1A CURRENT TRANSFORMER 33,05 € 47

GP023885 TRANSFORMER 2500A, 1A 86,47 € 47

GP023886 EMERGENCY SWITCH CONTACT 1NC+1NA 19,14 € 31



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP023888 EMERGENCY SWITCH CONTACT 1NC+1NC 13,53 € 47

GP023889 SELECTOR 1NA 12,44 € 59

GP023890 RC FILTER PROTECTION MODULE 9,30 € 47

GP023891 CONTACTOR 9A 220V 39,87 € 47

GP023892 GUARD RELAY 3NO+1NC 89,11 € 31

GP023893 2.1A POWER SUPPLY 67,66 € 38

GP480146 POWER SUPPLY 230-115-24V 3.3A 1606-XLE 119,00 € 47

GP023896 EXTENDER SHAFT 4,08 € 47

GP023897 AUX CONT 1NA+1NC 4,82 € 47

GP023898 LOAD SWITCH 200A 66,36 € 47

GP023900 CIRCUIT BREAKER 3P 160A 244,36 € 57

GP023901 CIRCUIT BREAKER 3P 630A 1.374,60 € 57

GP023902 CIRCUIT BREAKER 3P 2500A 5.531,88 € 47

GP023903 UNDERVOLTAGE COIL 45,72 € 47

GP023906 MOTOR 220-250V 348,91 € 47

GP023909 CONTACTOR 30V 15,46 € 47

GP023911 AUXILIARY CONTACT 4NC 10,83 € 57

GP023913 AUX.CONT NA-NC 18,67 € 59

GP023914 AUXILIARY CONTACTOR NO 14,33 € 47

GP023915 CIRCUIT BREAKER 16A 39,34 € 47

GP023916 CIRCUIT BREAKER 6A 14,34 € 47

GP023917 CIRCUIT BREAKER 4A 15,06 € 57

GP023918 CIRCUIT BREAKER 2A 21,10 € 47

GP023919 CIRCUIT BREAKER 6A 9,40 € 47

GP023920 CIRCUIT BREAKER 2A 31,20 € 47

GP023921 RESISTOR 2000 OHM 12,55 € 59

GP023922 RESISTOR 80 OHM 9,42 € 59

GP024240 D.E. COVER 2.048,75 € 47

GP024241 N.D.E. COVER 4.586,67 € 38

GP024245 D.E. EXTERIOR BEARING COVER 863,53 € 47

GP024246 D.E. INTERIOR BEARING COVER 520,00 € 47

GP024260 CENTRIFUGAL DISK DE 812,00 € 47

GP024261 INSULATING DISK L.A. 120,00 € 47

GP024262 D.E. EXTERIOR RING 207,50 € 47

GP024263 N.D.E. EXTERIOR BEARING COVER 4.137,50 € 38

GP024270 N.D.E. INTERIOR BEARING COVER 895,00 € 38

GP024271 N.D.E. CENTRIFUGAL DISC 670,00 € 47

GP024272 N.D.E. EXTERIOR RING 1.125,00 € 38

GP024279 COOLER 9.400,00 € 115

GP024280 SLIP-RING UNIT 37.500,00 € 52

GP024281 SLIP-RING 4.455,00 € 31

GP024282 COVER 3.743,75 € 47

GP024283 DOUBLE CLAMP BRUSH HOLDER 8.485,72 € 52

GP024285 PHASE BRUSH 41,16 € 47

GP024286 GROUND BRUSH 157,33 € 38

GP024287 INTERIOR FAN 1.012,50 € 31

GP024297 FILTER RUG ROLL 24,33 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP024326 BRAKE CALIPER BOLT KIT 4,29 € 47

GP024433 CLIP FOR LIFELINE 24,00 € 47

GP024482 RIGHT MOTOR COUPLING 295,33 € 62

GP024486 HEXAGONAL NUT M20 0,50 € 47

GP024498 OUTER MOTOR COUPLING 532,67 € 74

GP024527 BRUSH 31,24 € 47

GP024544 METAL BAG 315,77 € 47

GP024545 METAL BAG SUPPORT 21,87 € 45

GP024546 METAL BAG PIN 1,79 € 52

GP024559 SLIP RING ASSEMBLY 10.906,67 € 107

GP024561 CIRCUIT BREAKER 15KA 22,68 € 47

GP024681 ARC RECEPTOR FOR LIGHTNING SYSTEM 19,97 € 52

GP024686 TWO BUTTON CNTL WITH EMERG. BUTTON 56,70 € 47

GP024687 BUTTON CONTROL PANEL CABLE 21,54 € 47

GP024763 ELECTRIC PUMP FAN COVER 374,56 € 32

GP024764 MECHANICAL PUMP FAN COVER 363,30 € 38

GP025009 PHASE BRUSH 28,67 € 47

GP025260 HOSE L=1925MM 47,36 € 47

GP025579 SPANISH G80-G83 SPAR FLOOR PLATES 103,80 € 57

GP025685 THREADED PLUG M20 2,35 € 47

GP025702 FITTING FOR TUBE CLAMP 3,63 € 47

GP025865 RIGHT ACCUMULATOR SUPPORT 28,33 € 47

GP025882 CABLE WS216 22,60 € 47

GP025884 HOSE L=3300MM 100,20 € 47

GP025885 HOSE L=2635MM 42,77 € 47

GP025889 HOSE L=3580MM 51,67 € 47

GP026310 FAN 140,00 € 87

GP026321 FAN 89,67 € 77

GP026617 FA SLIDE FILTER 40,83 € 47

GP026643 HEXAGONAL HEAD BOLT M12X40 1,83 € 37

GP026647 HEXAGON NUT M12 0,15 € 47

GP026649 WIDE WASHER M10 0,20 € 37

GP026814 INSULATED-GATE BIPOLAR TRANSISTOR 114,38 € 47

GP026895 WATER MOTOR PUMP 690,26 € 47

GP027005 JOINT 28 X 34 0,71 € 32

GP027006 O-RING SEAL 123.9X6.99 7,57 € 37

GP027007 O-RING SEAL 35.6X3.6 1,06 € 32

GP027279 RING MOTOR FAN 294,67 € 92

GP027563 EXTERIOR FAN 740,00 € 38

GP027566_PL NACELLE EXIT STICKER_PL 2,69 € 37

GP027570 NACELLE EMERGENCY EXIT STICKER 1,42 € 37

GP027576 HEXAGONAL HEAD BOLT M6X35 0,05 € 32

GP027653 METAL BOX UNIT 586,88 € 57

GP027901 O-RING SEAL 120X5 4,58 € 32

GP028284 METAL RIM 2,03 € 47

GP028488 SHAFT EXTENSION COUPLING LUG 1.808,33 € 52

GP028582 CONNECTION BAR 690 58,92 € 31



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP028584 BUSBAR SUPPORT 5,55 € 47

GP028950 CAPACITOR 54UF 1.228,06 € 72

GP029078 CIRCUIT BREAKER 8A 17,53 € 47

GP029116 DUCT TAPE 10,61 € 47

GP029261 BRUSH HOLDER SPRING 106,38 € 52

GP029282 FLANGE NUT M16 0,15 € 38

GP029283 DISC SPRING WASHER M16 0,20 € 38

GP029284 STRUCTURAL WASHER M16 0,27 € 38

GP029286 THREADED ROD M10X45 0,50 € 37

GP029287 FLANGE NUT M10 0,07 € 37

GP029288 DISC SPRING WASHER M10 0,20 € 37

GP029290 DISC SPRING WASHER M12 0,25 € 37

GP029292 FLANGE NUT M12 0,10 € 37

GP029293 HEXAGONAL HEAD BOLT M12X45 0,35 € 37

GP029445 RINGS PIN 5,00 € 59

GP029463 CABLE TERMINAL FOR STATOR CONNECTION 5,15 € 47

GP029489 DE BUSHING 526,67 € 102

GP029501 N.D.E. GREASER 92,15 € 62

GP029506 CLOSING ROTOR CABLE 254,00 € 47

GP029507 RING INSIDE FAN 335,83 € 102

GP029509 CONNECTION CABLE TERMINAL. ROTOR 4,00 € 42

GP029516 STATOR CONNECTION PLATE 101,67 € 22

GP029520 RC FILTER 53,33 € 108

GP029805 SUPPORT IMPREGNATING 18,88 € 52

GP029843 SHAFT END COTTER PIN 10,07 € 47

GP029902 BI-METAL PLATE 8,53 € 31

GP029903 HEXAGONAL HEAD BOLT M12X60 0,32 € 37

GP029924 SUPPORT RIGHT BRACE. 22,17 € 47

GP029925 SUPPORT RIGHT CLAMP. 42,86 € 57

GP029926 SUPPORT LEFT CLAMP. 46,15 € 57

GP029927 SUPPORT LEFT BRACE. 22,17 € 47

GP029930 HEXAGONAL HEAD BOLT M14X80 0,58 € 37

GP029932 SELF LOCKING NUT M14 0,11 € 37

GP029943 COTTER PIN FOR SHAFT 108,33 € 32

GP030245 JOINT 8,93 € 57

GP030246 JOINT 8,08 € 57

GP030248 RING 18,90 € 32

GP030255 JOINT 15,83 € 47

GP030261 RING 17,79 € 47

GP030299 LEVEL INDICATOR PLATE 2,59 € 32

GP030300 SUPPORT 42,82 € 32

GP030302 OIL SEAL 150X180X15 12,27 € 32

GP030303 O-RING OR112X5 2,03 € 32

GP030306 JOINT 0,60 € 32

GP030307 JOINT 0,15 € 47

GP030386 CABLE WP582A 419,22 € 47

GP030388 CABLE WP582B 406,37 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP030390 CABLE WP582C 420,30 € 47

GP030395 CABLE WP582D 429,03 € 47

GP030419 DOOR I, NACELLE CABINET 254,67 € 101

GP030457 MECHANICAL PUMP 557,33 € 73

GP030461 RETAINING RING 120X4 1,52 € 32

GP030462 RETAINING RING 130X4 1,43 € 47

GP192781 MCL V-RING V-170L NBR 9,93 € 32

GP030468 V-RING V-140A 4,67 € 47

GP030472 HEXAGON SOCKET BOLTM10X25 0,13 € 37

GP030482 HEXAGONAL HEAD BOLT M16X45 0,41 € 37

GP030576 LOCK NUT KMT-30 61,85 € 47

GP030591 CAP 3,38 € 37

GP030601 PLUG M10X1 0,10 € 32

GP030609 AIR FILTER 28,30 € 47

GP030615 MAGNETIC LEVEL STICK 50,30 € 57

GP030620 LEVEL INDICATOR 10,73 € 32

GP030622 SPRING 0,33 € 47

GP030623 HEATER 750W 98,43 € 47

GP030624 HEATER 1500W 146,58 € 47

GP030633 ENERGY TUBE 489,62 € 45

GP030636 BUSHING 19,63 € 47

GP030637 BUSHING 6,63 € 47

GP030851 GROUND CABINET LOCK 44,00 € 101

GP030982 FA PHASE A-B-C FUSES 432,97 € 47

GP031286 CLAMP FOR ACCUMULATOR 25,87 € 112

GP031424 AIR HEATER 404,08 € 47

GP031559 STRAIGHT ADAPTER 0,91 € 32

GP031765 RETAINER PIN 13,00 € 57

GP031904 OIL SCREEN 1,17 € 47

GP031907 SHIM 1,31 € 47

GP031909 BUSHING 28,53 € 32

GP031910 BUSHING 32,53 € 32

GP031914 PUMP 704,58 € 73

GP031983 LEVEL SWITCH 666,67 € 47

GP032380 INSULAT.SLEWING BRACKET 26,22 € 37

GP032381 SPRING FOR BEARINGS 20,00 € 47

GP032383 RETAINING WASHER 54,08 € 47

GP032386 D.E. GREASE VALVE 441,67 € 47

GP032387 DE INNER BEAR.COVER 488,33 € 47

GP032388 N.D.E. GREASE VALVE 741,67 € 47

GP032389 NDE INNER BEAR.COVER 580,00 € 47

GP032391 NDE BEARING SHIELD 7.013,85 € 38

GP032393 WHEEL 824,62 € 38

GP032394 WHEEL 718,67 € 38

GP032395 GROUNDING RING 1.160,00 € 47

GP032428 INTERFACE CARD CABLE 20,31 € 47

GP032525 TRANSFORMER GROUNDING BOLT 100,62 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP032532 LIFELINE LOWER SUPPORT 60,10 € 77

GP032615 HEXAGONAL HEAD BOLT M12X50 0,40 € 37

GP032650 TRANSISTOR CABLES 59,82 € 54

GP032954 SHAFT COUPLING LUG 78,87 € 87

GP032990 CONTROL CARD 1.621,43 € 136

GP032991 METHACRYLATE PANEL FG8 212,92 € 49

GP032993 FILTER 600A FN3359HV-600-99 (SCF.F.0001) 1.173,33 € 73

GP032993 FILTER 600A 1.173,33 € 73

GP033067 HEXAGON NUT M6 0,04 € 47

GP033127 CAP 0,97 € 47

GP033159 PT100 SENSOR 0.5" 51,73 € 137

GP033421 STRAIGHT ADAPTER 5,25 € 47

GP033735 LEFT DOOR 511,33 € 47

GP033736 RIGHT DOOR 511,33 € 47

GP033869 PAINT PUR BASE RAL3020 MANKIEWICZ 471-36 16,39 € 47

GP034197 ADHESIVE 206,51 € 32

GP034249 ENCODER ฀฀COUPLING LUG 415,00 € 102

GP034450 BI-METAL PLATE 2,22 € 31

GP034612 RELECO RELAY C10-A10FX-24VDC+1NO 7,53 € 47

GP034661 LIMIT SWITCH SPRING 22,62 € 47

GP034742 COVER FOR HOSE 10,00 € 32

GP034744 HIGH SPEED SHAFT COUPLING 3.126,67 € 101

GP034840 138-188ºC STICKER 3,80 € 38

GP034842 CARTRIDGE FUSE 100A 22,75 € 47

GP034845 TERMINAL 144,50 € 47

GP034846 TERMINAL 255,67 € 47

GP035299 SUPPORT FOR TRANSISTOR 20,00 € 66

GP035772 THREADED ROD M12X55 0,60 € 37

GP035813 BRUSH HOLDER DEVICE 7.570,00 € 77

GP035898 VENTILATION GRILLE 979,95 € 67

GP035953 BRAIDED CABLE 500MM 23,60 € 47

GP035962 STRUCTURAL WASHER M10 0,15 € 37

GP035972 ENCODER 122,67 € 47

GP035996 COTTER PIN 112,00 € 101

GP036112 METHACRYLATE SANDWICH 51,67 € 52

GP036152 RESISTOR 400W 135,00 € 59

GP036240 EMERGENCY BUTTON 22,93 € 31

GP036305 POWER CABLE PLUG 31,04 € 47

GP036310 ADHESIVE SEALANT 5,56 € 47

GP036311 ANTISEIZE PASTE 98,67 € 37

GP456194 SOLO A5 SMOKE DETECTOR TESTER 30,60 € 37

GP036945 FLAT JOINT, 3 PINS + GROUND 0,48 € 62

GP036986 TRANSISTOR AND CONVERTER MODULE 2.450,77 € 48

GP036987 CIRCUIT BREAKER 9.593,79 € 68

GP037085 HOSE L=2720MM 69,57 € 47

GP037086 HOSE L=3530MM 75,25 € 47

GP037087 HOSE L=3600MM 79,73 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP037090 HOSE L=2875MM 57,37 € 47

GP037139 HEATING RESISTOR 344,00 € 37

GP037141 PT100 SENSOR, RINGS 48,47 € 47

GP037142 GROUND BRUSH HOLDER 388,00 € 27

GP037147 BALANCE BLOCK G87 R27000 2.003,33 € 47

GP037148 G87 BALANCE BLOCK R34000 742,67 € 47

GP037450 COMPLETE CIRCUIT BREAKER FG8 6.066,46 € 47

GP037579 FRONT NACELLE COVER LOWER PROFILE 40,33 € 32

GP037598 PASSIVE CROWBAR CARD 395,71 € 122

GP037776 BALANCE BLOCK 915,00 € 47

GP037777 G80 BALANCE BLOCK R34000 533,33 € 47

GP037910 HEXAGON SOCKET BOLT M10X35 0,17 € 37

GP037913 HEXAGONAL HEAD BOLT M6X40 0,07 € 37

GP037930 DRIVER PIGTAIL 450,00 € 101

GP037931 FA FUSES, PHASE C    432,97 € 87

GP037969 HEXAGONAL HEAD BOLT M12X100 0,80 € 37

GP037973 DOOR LOWER RIGHT 400,00 € 87

GP037974 EQUALIZING BLOCK R28000 1.258,33 € 47

GP037975 EQUALIZING BLOCK R35000 618,68 € 47

GP038022 HEXAGONAL HEAD BOLT M16X65 1,73 € 38

GP038226 ADHESIVE HANDGUN 42,92 € 47

GP038281 HEXAGONAL HEAD BOLT M10X100 0,40 € 57

GP038418 INJECTOR NOZZLE 1,07 € 47

GP038420 NEUTRAL CONNECTION UNIT 18,47 € 47

GP038442 WAS ISO7089 M14 200HV FLZNL NC 1000H 0,07 € 32

GP038470 PUMP 696,67 € 73

GP038661 MESH VALVE 31,27 € 32

GP038710 CONTROL UNIT POWER CABLE 24,62 € 59

GP038747 SPRING WASHER M8 0,05 € 37

GP038836 HEX HEAD BOLT M12X30 0,75 € 47

GP039062 INTERNAL CONE 1.566,67 € 47

GP039063 NOSE CONE 1.893,33 € 47

GP039066 CLEAR LENS 653,33 € 47

GP039076 BATTERY CHARGER 700,00 € 47

GP039077 INVERTER 700,00 € 47

GP039078 UPS BATTERY 157,14 € 47

GP039213 MCL RETAINING RING 140X4 DIN471 9,50 € 32

GP039356 L-SHAPED SUPPORT FOR CABLE 13,23 € 45

GP039357 FLAT SUPPORT FOR CABLE 33,70 € 45

GP039411 INTERNAL CONE 3.250,00 € 137

GP039450 INTERNAL CONE 3.250,00 € 137

GP039501 CABLE WA483 G8X 8,73 € 47

GP039506 RING CHAMBER SUPPORT PLATE 295,62 € 38

GP039515 CLOCKWISE INTERIOR WHEEL 215,00 € 107

GP039516 COUNTER-CLOCKWISE ROTATION INNER WHEEL 215,00 € 107

GP039517 INSIDE AIR FAN EAR 48,00 € 87

GP039528 DE INSULATED SUP 1.148,33 € 87



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP039531 GREASER 0,25 € 47

GP039535 PIN ISO 2340 TYPE B D12X75X64 GALVANIZED 25,28 € 38

GP040520 PUMP MOTOR 0.75KW 224,00 € 47

GP040666 SERVICE LADDER LIFELINE 125,20 € 57

GP480145 POWER SUPPLY 230-115-24V 5A 1606-XLE 192,00 € 47

GP040683 VARISTOR 77,71 € 47

GP040687 RESISTOR & FAN 600W 94,67 € 66

GP040688 CROWBAR RESISTOR 2MW 1,18 € 59

GP040690 AUXILIARY CONTACT BLOCK 15,75 € 47

GP040693 ACTIVE CROWBAR CONTROL CARD 1.989,70 € 73

GP040695 REACTANCE 3F 5.718,33 € 87

GP040927 SERVICE LADDER LIFELINE 150,80 € 57

GP040959 SCREEN 68,29 € 24

GP041067 R PLATE, T FG8 125,00 € 52

GP041068 PHASE PLATE S FG8 73,33 € 52

GP041112 SUPPORT L=110 3,25 € 47

GP041128 PIPE CONE SUPPORT CLAMP, RING 1 28,75 € 47

GP041184 G87H BALANCING BLOCK R34000 446,67 € 47

GP041185 G87H BALANCING BLOCK R27000 689,33 € 47

GP041249 FLAT WASHER D16 0,10 € 62

GP041335 CARD 19,93 € 47

GP041336 C. FLASH CARD ADAPTER FOR PC (XBTZGADT) 18,80 € 47

GP041337 ADAPTER TOUCHSCREEN FRAME 77,43 € 47

GP041421 METALLIC BRACER 0,80 € 32

GP041856 HEX-HEADED BOLT M8X10 0,08 € 47

GP041882 AUTOMATIC VALVE 163,33 € 157

GP041913 70-110ºC STICKER 2,68 € 47

GP041925 LINCHPIN 4.5 2,20 € 32

GP042103 HEXAGONAL BOLT WITH FLANGE M8 0,13 € 37

GP042104 FLAT WASHER M8 0,11 € 37

GP042105 NUT M8 0,03 € 37

GP042129 THREADED ROD L=620MM 16,68 € 45

GP042139 BUSHING F.YAW RING SCRAPER.G10X YAW STM 0,96 € 32

GP042195 G8X PG COOLERS HYDRAULIC CIRCUIT ELEMENT 750,00 € 47

GP042200 G8X PC MOD C  GEARBOX ECHESA-HANSEN 172,10 € 47

GP042340 SUPPORT PLATE 34,27 € 45

GP042518 TUBE D10 26,80 € 38

GP042532 HEXAGONAL HEAD BOLT M20 2,10 € 57

GP042606 SOLAR PINION 166,67 € 47

GP042767 MOTOR 1.860,00 € 57

GP042916 CROWBAR CABLES 50,00 € 80

GP042961 M10 RIVET NUT 0,49 € 37

GP043119 METAL BRAIDED CABLE 7,53 € 59

GP043120 HEXAGONAL HEAD BOLT M10X40 0,18 € 37

GP043132 CABLE 1.5MM2 0,18 € 47

GP043170 CURRENT TRANSFORMER CABLE, INTERFACE 35,38 € 59

GP043398 SUPPORT BETWEEN PLATE AND CONDENSER BUS 2,32 € 73



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP043645 SELF LOCKING NUT M12 0,42 € 57

GP043652 WASHER 0,51 € 38

GP043715 CONTROL MODULE 1.821,62 € 72

GP043733 R81 CONNECTOR 199,69 € 52

GP043749 HEXAGONAL HEAD BOLT M14X90 0,78 € 37

GP043778 FIBER OPTIC CABLE 2.2M 20,00 € 101

GP043780 FIBER OPTIC CABLE 1.5M 22,62 € 87

GP043804 MUSHROOM HEAD BOLT M8X30 0,27 € 37

GP043807 LADDER LEFT LATERAL 335,83 € 57

GP044002 LIGHTNING CARD 21,27 € 57

GP044038 SCREEN CABLE 21,54 € 59

GP044039 G8X SCREEN CABLE GND DTC VPC CBL0049 15,32 € 47

GP044042 HOIST LIMIT SWITCH FASTENING STOP 18,88 € 47

GP044047 PUMP PRESSURE FLANGE 10,67 € 47

GP044181 TRANSFORMER 68,00 € 47

GP044198 ETHERNET CROSSOVER CABLE WITH RJ45 2,43 € 32

GP044208 TERMINAL 0,13 € 47

GP044256 G8X PP HYDR MOD C REXROTH 197,23 € 47

GP044274 RETURN TUBE 36,39 € 47

GP044432  G8X CABLES STAND SMP SISTEAM V2-V3 159,37 € 47

GP044520 THERMAL ISOLATION 125,71 € 47

GP045270 ROOF ANCHOR EYEBOLT 71,02 € 32

GP046243 NON-SLIP STRIP 1,41 € 32

GP046245 SURGE PROTECTION 133,64 € 47

GP046516 O-RING SEAL 10X2 0,47 € 47

GP046583 QUICK LINK 1,08 € 32

GP046584 SNAP HOOK WITH THIMBLE D = 8MM, 10MM 10,83 € 32

GP046882 FUSE 120KA 0,64 € 47

GP046883 FUSE 1A 1,99 € 47

GP047062 TRANSFORMER 80,51 € 47

GP047064 CONTACTOR 12A 36,12 € 47

GP047065 INVERTER 84,80 € 47

GP047103 ROTATING JOINT LUBRICANT 117,80 € 47

GP047112 CIRCUIT BREAKER-SECTION SWITCH 16A 17,97 € 38

GP047159 COTTER PIN FOR SHAFT 4,33 € 32

GP047388 SPILLWAY CAP, ENDLESS STAGE AND YAW RING 26,67 € 47

GP047695 ELECTRICAL RISK STICKER 0,57 € 37

GP047697 STICKER 0,72 € 37

GP048459 OIL LEAK RESERVOIR 126,67 € 47

GP049113 CONVERTER PROTECTION GRILLE 410,67 € 57

GP049196 BRAKE DISC 717,27 € 87

GP049197 SAFETY BRAKE LEVER 91,43 € 32

GP049201 GREEN PILOT LIGHT 15,73 € 47

GP049202 BRAKE ENABLING LEVER 16,84 € 32

GP049245 FUSE 160MA 0,17 € 47

GP093415 CONTACTOR TELEMECANIQUE LC1K0910P7 23,99 € 47

GP049249 AUXILIARY CONTACT 1NA 1NC 6,22 € 62



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP049250 AUXILIARY CONTACT 2NA 2NC 10,88 € 62

GP049252 CONTACTOR K10 22,67 € 47

GP049287 HEXAGON SOCKET BOLT M24X90 4,80 € 47

GP049319 KTR COUPLING 2.280,00 € 101

GP049320 KTR COUPLING 2.470,00 € 101

GP049587 POWER CABLE CLAMP BS 65-85 48,67 € 57

GP049588 POWER CABLE CLAMP BS 49-66 30,43 € 47

GP049634 FLANGE ADAPTATION BLOCK 115,83 € 53

GP049941 SHIM 0.2M 0,82 € 47

GP049965 SHIM 0.5MM 1,52 € 47

GP049966 SHIM 1MM 0,91 € 47

GP049967 SHIM 2MM 1,29 € 47

GP049968 SHIM 5MM 8,63 € 45

GP050067 G8X GEARBOX OFFLINE FILTER 50Hz 510,13 € 57

GP050097 CIRCUIT BREAKER 10A 77,62 € 47

149391 COOLER LIQUID FOR VCS COOLER 2,44 € 24

GP050195 CROSS-HEAD BOLT M6X20 0,13 € 32

GP050574 O-RING 164,69 x 3,53 3,88 € 32

GP050735 LONG ELEVATOR ROPE GUIDE 26,17 € 37

GP051048 SUPPORT WINDINGS 46,67 € 32

GP051135 VARISTOR 89,66 € 47

GP051268 METAL-RUBBER SEAL 0,58 € 38

GP051555-001 GREASE 692,14 € 52

GP051611 CABINET SANDWICH RIGHT HALF 2.418,46 € 87

GP051612 CABINET SANDWICH LEFT HALF 3.036,67 € 94

GP051692 MICROSWITCH 17,06 € 47

GP051794 SPRING WASHER M12 0,11 € 37

GP051902 LUBRICATION 37,10 € 45

GP051944 OIL SHELL OMALA F 2,53 € 32

GP052033 SHIM 205XD44X0.5MM 0,93 € 47

GP052034 SHIM 205XD44X1 MM 1,20 € 47

GP052036 SHIM 205XD44X2MM 1,40 € 47

GP052060 TRANSFORMER 59,00 € 37

GP293690 BRUSH CANT16 20X40X50 30,60 € 47

GP052416 UPPER SAFETY LIGHT 61,95 € 47

GP052417 LOWER SAFETY LIGHT 113,36 € 37

GP054447 D.E. DISCHARGE BRUSH HOLDER BOLT 35,83 € 102

GP054662 PLATFORM ARM SPRING 34,76 € 37

GP054663 BLACK PLASTIC CAP 0,59 € 38

GP054666 LEFT ELEVATOR FASTENING 17,73 € 37

GP054669 RIGHT ELEVATOR FASTENING 20,73 € 37

GP054670 SLING 1,15M 6,40 € 32

GP054673 SAFETY BRAKE 1.071,33 € 47

GP054681 DOOR LEVER 11,90 € 37

GP054684 ELEVATOR FRAME FASTENING PLATE 9,78 € 37

GP054685 SAFETY LIGHT FASTENING PLATE 10,87 € 37

GP054686 SECURITY STOP PROFILE 98,17 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP054687 FEMALE CONNECTOR 11,93 € 37

GP054689 UPPER ELEVATOR LIMIT SWITCH 105,43 € 37

GP054690 EMERGENCY LIMIT SWITCH 84,27 € 17

GP054696 ELEVATOR EMERGENCY STOP BOX 52,27 € 37

GP054698 EMERGENCY STOP SWITCH 19,55 € 37

GP054700 ELEVATOR CABLE GUIDE 11,01 € 37

GP054705 SHACKLE 8,20 € 37

GP054707 SPACER FOR LOWER SWITCH 22,40 € 37

GP055143 ELEVATOR QUICK GUIDE IN ENGLISH 4,12 € 37

GP055144 ELEVATOR QUICK GUIDE IN SPANISH 4,12 € 37

GP055291 CABLE CLAMP 9,43 € 47

GP055294 CABLE CLAMP 12,40 € 47

GP055494 O-RING SEAL 12.42X1.78 0,48 € 32

GP055753 RESISTOR 1200W 123,33 € 47

GP055801 RIVET DIN 7337A D4.8X12 AL-AL 0,20 € 37

GP055828 HEX HEAD BOLT M12X130 0,62 € 37

GP055936 SEALING JOINT FOR HOISTING COVERS 13,02 € 37

GP055944 SEALING SAFETY WASHER M8 0,15 € 47

GP056013 BASEBOARD 6TH PLATFORM 5 5,27 € 57

GP056089 AUX PUMP SUPPORT RIGHT 23,69 € 45

GP056090 AUX PUMP SUPPORT LEFT 23,69 € 45

GP056114 NUT M12 0,19 € 37

GP056195 240MM2 CABLE BEARER FOR 4 CABLES 7,38 € 47

GP056200 COMPACT_2  INSUL. SCREEN FOR G8X TRANSFR 71,87 € 49

GP056322 BAKELITE INSULATOR STATOR CONNECTION 205,00 € 32

GP056382 SHACKLE D 16MM 29,65 € 57

GP056698 CHAIN GUIDE BASE ACTUATOR 6,68 € 47

GP056848 INTERFACE 34P 648,00 € 164

GP056903 RESISTOR CABINET 740,95 € 55

GP057092 TIME DELAY RELAY 0.05S-10MIN 64,35 € 47

GP057102 BRACKET FOR CABLE 5,17 € 47

GP057111 DISC SPRING WASHER M16 2,20 € 38

GP061067 FIBER OPTIC CABLE 1M 19,60 € 47

GP061183 PROTECTION CAP 6,21 € 32

GP061231 SHACKLES 3,27 € 57

GP061412 SOCKET BASE AND PROTECTION 314,33 € 47

GP061437 TRAFO FILTER 49,67 € 47

GP061487 PLATFORM LOAD STICKER 1000KG-5PEOPLE 12,60 € 37

GP061487-EN PLATFORM LOAD STICKER 1000KG-5PEOPLE 10,00 € 37

GP061487-PL PLATFORM LOAD STICKER 1000KG-5PEOPLE 42,16 € 37

GP061495 PLATFORM LOAD STICKER 1000KG-5PEOPLE 12,60 € 37

GP061498 PLATFORM LOAD STICKER 12,60 € 37

GP061498-PL PLATFORM LOAD STICKER 950KG-3PEOPLE 14,55 € 37

GP061507 PLATFORM LOAD STICKER 15,75 € 37

GP061507-PL PLATFORM LOAD STICKER 625KG-2PEOPLE 8,00 € 37

GP418149 GENERIC GENERATOR SLIP RINGS D230X55 1.632,00 € 47

GP062610 HOSE, STRAIGHT-ELBOW TERMINALS L=720MM 106,20 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP062707 Cable WS905 G8x DTC 50-60 Hz 59,60 € 47

GP062719 HEX-HEADED BOLT M12 0,29 € 37

GP062758 PITCH CYLINDER 2.514,29 € 73

GP062780 HEXAGON SOCKET BOLT M8X35 0,13 € 37

GP063709 HINGE HUB CABINET DTC-DAC G8X 45,00 € 32

GP063802 SELF-LOCKING BOLT, M5 0,02 € 37

GP063955 HEXAGONAL HEAD BOLT M8X60 0,16 € 37

GP064008 ZEROMAX COUPLING 2.395,00 € 101

GP331164 REAR SAFETY-WALK BAND 900mm x 152 mm 5,92 € 32

GP064363 SIDE NON-SLIP TAPE 3,27 € 32

GP331161 FRONT SAFETY-WALK BAND 400mm X 152mm 3,16 € 32

GP064365 FRONT NON-SLIP TAPE 1,21 € 32

GP065676 CABLE G8X DFM V3 EMC 1470mm 101,17 € 47

GP065682 CABLE G8X DFM V3 EMC 1800MM 121,17 € 47

GP065717 ANTI-INSERTION LABEL AND LOCK 62,18 € 47

GP065867 SWITCH WITH SECURITY KEY 189,71 € 47

GP065991 MOTOR 521,17 € 77

GP066200 STRUCTURAL WASHER M10 0,12 € 47

GP066201 STRUCTURAL WASHER M12 0,08 € 32

GP066496 ADHESIVE TAPE 0,28 € 47

GP066518 BLADE BEARING SEAL HUB SIDE 112,45 € 59

GP066519 BLADE BEARING SEAL G8X SKF SV-105010R05 566,67 € 37

GP066520 BLADE BEARING SEAL G8X SKF SV-105010R06 566,67 € 37

GP066674 BREATHER MATERIAL 150G 400MM 0,62 € 45

GP067020 ENCODER TORQUE ARM 108,33 € 77

GP067033 ENCODER TORQUE ARM 108,33 € 47

GP067034 ENCODER 464,29 € 47

GP067197 STUD BOLT M30X568 11,81 € 57

GP067199 STUD BOLT M30X648 14,85 € 57

GP067744 HANDLE 57,42 € 54

GP068506 HOIST PLATE 40,18 € 47

GP068973 FILTER POLITEX V100 195X440X100 G4 GFIB 1,12 € 47

GP069121 ENCODER ELECTRICAL PROTECTION 19,17 € 62

GP069639 REXROTH AUX PUMP MOUNTING PLATE 121,43 € 45

GP069934 FAN 653,67 € 57

GP070100 WASHER M10 0,13 € 38

GP070103 HEXAGONAL NUT M10 0,13 € 47

GP070104 FIREPROOF CORP 44,73 € 57

GP072719 SEAL RETAINING WIDE FLANGE FRONT BEARING 120,00 € 42

GP072720 SEAL SPACER FRONT BEARING 26,67 € 47

GP072722 SEAL GAUGE 0.5 MM FRONT BEARING 7,25 € 47

GP072724 SEAL GAUGE 1 MM FRONT BEARING 8,75 € 47

GP072734 SEAL GAUGE 0.3 MM FRONT BEARING 17,52 € 77

GP072737 FLANGE BUSHINGS FRONT BEARING 1,53 € 38

GP072754 SEAL RETAINING WIDE FLANGE REAR BEARING 170,67 € 42

GP072757 SEAL SPACER REAR BEARING 22,87 € 47

GP072783 SEAL GAUGE 0.5 MM REAR BEARING 7,20 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP072793 SEAL GAUGE 1 MM REAR BEARING 8,73 € 47

GP072796 SEAL GAUGE 0.3 MM REAR BEARING 20,00 € 52

GP072797 FLANGE BUSHINGS REAR BEARING 1,60 € 47

GP073192 O-RING 42x4 VITON 1,50 € 37

GP073806 RELAY 8,65 € 47

GP073849 BLIND RIVET D4,8X30 0,16 € 37

GP074002 HEXAGONAL HEAD BOLT M8X20 0,10 € 37

GP074197 NACELLE AND ROTOR PROTECTION GRILLE 23,35 € 47

GP074216 NACELLE AND ROTOR PROTECTION 245,75 € 47

GP074477 CABLE FOR LIFELINE 160,23 € 57

GP074775 HOSE 209,61 € 32

GP074871 BRUSH HOLDER 142,67 € 47

GP074872 SINGLE BRUSH HOLDER 92,00 € 47

GP074899 DIFFERENTIAL SWITCH 40A-0,03A 62,23 € 47

GP075083 DIGITAL OUTPUTS 76,07 € 47

GP075298 ERTALYTE CONE SUPPORT BUFFER 40X20X20 1,04 € 59

GP075299 ERTALYTE CONE SUPPORT BUFFER 40X20X6,5 0,95 € 59

GP075300 ERTALYTE CONE SUPPORT BUFFER 40X20X3,75 0,75 € 47

GP075301 WASHER DIN2093 B28 M14 DAC500B 0,15 € 37

GP075302 WASHER DIN7349 M14 DAC500B 0,32 € 37

GP075480 OILDAMPER COVER CANVAS T100M 177,92 € 38

GP075527 FA NACELLE ACCESS LADDER 92,92 € 47

GP075888 STICKER 0,22 € 37

GP076086 BUSBAR UNIT 728,88 € 57

GP076364 ABB GEN. BEARING NOZZLE COVER 21,82 € 38

GP076452 TOEPLATES 6TH PLATFORM 6 8,67 € 47

GP078294 RIGHT DOOR (N) 614,67 € 87

GP078419 RELAY 68,28 € 47

GP078559 G8X NISSENS OIL-COOLERS 50HZ 3.167,63 € 38

GP078798 FLANGE SEALER LOCTITE 518 68,00 € 32

GP079167 SERVICE SOCKET 8,22 € 47

GP079168 FA BOX OF KEYS 73,31 € 47

GP079169 FA SAFETY LOCK 33,08 € 47

GP080229 LUBRICANTE AFLOJATODO 3,97 € 32

GP080471 ALLEN BOLT M6X90 0,40 € 37

GP080558 REXROTH ASP. HOSE ADAPTION PIECE 216,67 € 47

GP080573 STRUCTURAL WASHER M10 0,12 € 47

GP081007 CONICAL ANTI-LEAK WASHER M5 0,05 € 47

GP081025 BLIND RIVET D4,8 0,33 € 37

GP081064 BLIND RIVET D4,8X20 0,48 € 37

GP081087 HOIST SUPPORT PIN 8,43 € 47

GP081343 CIRCUIT BREAKER & DIFFERENTIAL 168,89 € 47

GP081551 BEARING 2.522,67 € 32

GP081573 BEARING 708,33 € 47

GP082577 HEXAGONAL HEAD BOLT, M16X90 1,48 € 47

GP082600 BRUSH 75,00 € 24

GP082781 GROUND MODULE 13,01 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP082782 ANALOG INPUTS 121,47 € 47

GP082783 ANALOG INPUTS 134,93 € 47

GP083377 SILICON TUBULAR RESISTOR 33Ω 630W 91,62 € 56

GP083381 AS1904 MONIT. BOARD RCBUS FILTER 278,67 € 122

GP083493 ROOF ANCHOR LUG 96,90 € 47

GP084203 STRUCTURAL WASHER M20 2,40 € 77

GP084260 DEGREASER 2,27 € 32

GP084282 CONTROL MODULE 470,67 € 108

GP084379 TRAFO FILTER SUPPORT 153,60 € 47

GP084534 RIVET D4,8X8 0,07 € 37

GP084605 SLIP RING REPAIR KIT 1.530,77 € 37

GP084681 720M CABLE 13,65 € 47

GP084692 640M CABLE 16,65 € 47

GP427293 AIR FILTER HYDAC BDE400G3W1 WITH ADAPTOR 134,50 € 52

GP084838 FA FEMALE CONNECTOR 12,83 € 47

GP084923 CABLES TRAFO-FF005-K1 615,43 € 47

GP086026 CABLES SMART CROWBAR 152,00 € 80

GP086028 CABLES X1.1-6 83,33 € 101

GP086043 HEXAGONAL HEAD BOLT M14X80 0,62 € 37

GP086077 WOUND CORE 101,92 € 105

GP086121 WELDED BUSHING ASSEMBLY 33,77 € 47

GP086233 WASHER M42 4,02 € 47

GP086386 OVERVOLTAGE PROTECTION RELAY 2P 93,73 € 52

GP086773 HEXAGONAL HEAD BOLT M10X45 0,25 € 37

GP086958 NUTS&BOLTS PALLET 710,83 € 67

GP087197 PROTECTION LEFT PLATE FOR BRAKE 6,06 € 47

GP087198 PROTECTION RIGHT PLATE FOR BRAKE 5,35 € 47

GP087210 INCREMENTAL ENCODER HUBNER OG8 DN2048I C 362,67 € 47

GP087514-001 GRASA ANTIGRIPANTE LOCTITE 8009 0,453 KG 54,74 € 32

GP087724 CABLE DRIVER CROWBAR-CCU 138,33 € 59

GP088054 SPRING GUIDE 39,64 € 77

GP088092 HEXAGONAL HEAD BOLT M16X45 1,00 € 47

GP088201 CABLE WABT405B 16,50 € 47

GP088281 COMMUNICATIONS SWITCH 456,00 € 67

GP088285 TIMER 59,10 € 47

GP088319 JOINING CLIP 12,42 € 47

GP088470 AIR HEATER 0,25KW 87,40 € 47

GP088602 PRESSURE-LIMITING VALVE 158,02 € 57

GP088810 BUSHING DIAMETER 45 8,71 € 47

GP218789 GENERIC LED 110-277V 50-60HZ + EM KIT UL 112,21 € 47

GP088817 FLUORESCENT TUBE T8 18W G13 1,84 € 47

GP088896-001 ADHESIVE EPOXY HENKEL HYSOL 9466 322,33 € 32

GP088937 SHAFT PIN 17,19 € 47

GP088964 SAFETY RELAY 159,82 € 47

GP089084 SKYLIGHT HANDLE 15,07 € 47

GP089087 YELLOW PAINT 2,27 € 32

GP089119 TELESCOPIC SLIDE WITH LOCK 266,37 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP089120 TELESCOPIC SLIDE NON LOCK 207,57 € 47

GP089477 CONVERTER CONTROL UNIT 5.077,14 € 122

GP089599 HOSE TO RECTIFIER HEATSINK 114,67 € 52

GP089681 BOLT M10X30 DIN933 STAINLESS ST. 0,33 € 37

GP089748 POWER SUPPLY BOARD 399,80 € 35

GP090868 TUBULAR RESISTOR 100KΩ 17,77 € 47

GP091014 RESISTOR 600W 59,95 € 62

GP091016 RESISTOR 800W 101,82 € 62

GP091023 OVERVOLTAGE PROTECTOR 80KA 74,55 € 56

GP091027 CIRCUIT BREAKER 3P 320A 389,75 € 57

GP091029 OVERVOLTAGE PROTECTOR 40KA 104,85 € 52

GP091030 CONTACTOR 260A 300,88 € 63

GP091034 TRANSFORMER 7KVA 588,33 € 62

GP091035 VENTILATION GRILLE 22,70 € 47

GP091142 ELECTRONIC ASSEMBLY TO DRIVER 15,83 € 59

GP091143 ELECTRONIC ASSEMBLY TO DRIVER 13,02 € 87

GP091144 DRIVERS CARD SIMPLE 103,08 € 115

GP091145 DRIVERS CARD DOUBLE 173,85 € 115

GP091161 PRESSURE SWITCH 1,5 - 0,5BAR 30,70 € 47

GP091162 CABLE PL0190 26,67 € 59

GP091163 SENSOR PT100 3 WIRES 82,72 € 47

GP091181 IGBT AND ADAPTER CARD 298,46 € 199

GP091182 FAULT DETECTER CARD 65,33 € 115

GP091183 TUBULAR RESISTOR 14,16 € 47

GP091184 TUBULAR RESISTOR 18,10 € 47

GP091185 CARD 84,00 € 122

GP091187 PASSIVE CROWBAR MODULE 22,67 € 115

GP091188 PASSIVE CROWBAR CONTROL CARD 83,33 € 115

GP091195 INDUCTANCE 0,06MH 714,89 € 75

GP091205 SMART CROWBAR CONTROL CARD 181,43 € 143

GP091208 SMART CROWBAR MODULE 23,08 € 115

GP091210 RELAY 10A 7,81 € 47

GP091212 RELAY HOUSING 1,5 MM2 4,22 € 24

GP091222 RELAY 6A 15,89 € 47

GP091223 POWER SUPPLY 24V 163,15 € 31

GP091226 CCU MODULE 4.462,67 € 122

GP091307 DIODE 540A 87,33 € 47

GP091465 OP ASS GEN FLEXIBLE AIR EXHAUST G8X 532,85 € 47

GP091484 STICKER 0,29 € 37

GP091488 ACCUMULATOR 20L 73 BAR 742,56 € 47

GP091752 DISK PACK 1.191,72 € 101

GP091786 FAN GUARD 170,32 € 47

GP092054 TERMINAL END D-ST 6-TWIN 0,41 € 47

GP092107 CONTACTOR 2.488,33 € 47

GP092253 HEXAGON SOCKET BOLT M4X12 0,03 € 38

GP092641 SAFETY CATCH HOOK 12,96 € 47

GP092643 PITCH CYLINDER BELLOW 31,40 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP092650 HIGH SPEED SHAFT COUPLING 3.080,00 € 101

GP092655 HIGH SPEED SHAFT COUPLING 2.680,00 € 101

GP092657 HIGH SPEED SHAFT COUPLING 3.126,67 € 101

GP092843 SINGLE CONNECTOR FOR 15 PIPE 1,03 € 47

GP092844 HOSE WITH TERMINALS 31,33 € 47

GP092845 ROTATING JOINT HOSE 17,29 € 47

GP093198 O-RING 150X5 4,83 € 37

GP093420 TIGHT SUPPORT PLATE CHAIN BAG 19,09 € 45

GP093422 INNER REINFORCEMENT FOR HOIST BAG 8,68 € 45

GP093423 CRANE HOIST BAG FRONT SUPPORT 11,52 € 45

GP093426 CRANE HOIST BAG REAR SUPPORT 21,20 € 45

GP093428 KIT TO FIX THE CRANE BAG 299,27 € 47

GP093432 SHACKLE 16,40 € 47

GP093434 LASHING CHAIN DIAMETER 9 9,23 € 32

GP093650 TH RO DIN975 M10X170 8.8 FLZNL NC 1000H 3,50 € 52

GP095369 PLASTIC CONNECTOR OUTER Ø34.5 4,40 € 47

GP095586 O-RING 19,5X3 0,47 € 37

GP095593 GASKET 1-4" 2,40 € 37

GP095635 RIVET NUT M8 1,17 € 37

GP095636 RIVET NUT M8 2,25 € 32

GP095765 YAW GEAR BONFIGLIOLI 4.236,67 € 77

GP095923 WASHER M24 1,05 € 47

GP095929 WASHER M30 1,35 € 32

GP095930 M36 NORLOCK WASHER 1,11 € 47

GP096285 20 PLUG 1,09 € 32

GP096428 FUSE 400A 68,33 € 47

GP096540 1/2" HOSE (STRAIGHT90º) L = 5400 MM 35,28 € 47

GP096541 WASHER ISO7093 24 100HV FLZNL NC 1000H 1,18 € 47

GP096543 SELF LOCKING NUT M8 0,25 € 37

GP096875 CABLE WA583 G8X 36,33 € 47

GP096876 CABLE WA584 G8X 36,33 € 47

GP096933 CABLE WA579 G8X 38,33 € 47

GP096951 CABLE WA590 G8X 14,17 € 47

GP096988 CABLE WA79 351,27 € 47

GP097043 CABLE WL62C G80 50-60HZ 230V TOP SECTION 76,50 € 47

GP097050 CAPACITOR 1X33.4ΜF 38,93 € 77

GP097197 CABLE CCU POWER SUPPLY+TERMINAL 6,80 € 59

GP097228 GENERIC ELECTRIC MOTOR PUMP 841,67 € 47

GP097229 PUMP MOTOR 763,17 € 47

GP099593 FILTER BLANKET L112 0,16 € 32

GP099594 FILTER BLANKET L220 0,25 € 32

GP099595 FILTER BLANKET L=275 0,33 € 32

GP099596 FILTER BLANKET L=208 0,29 € 32

GP099597 FILTER BLANKET L=545 0,43 € 32

GP099599 FILTER BLANKET L=320 0,39 € 32

GP099734 CABLE WS304 46,11 € 47

GP099777 SUPPORT RETAINER 89,60 € 45



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP099783 SUPPORT PLATE EXTERIOR LADDER 47,85 € 47

GP099848 SWING GATE LIMIT 12,17 € 47

GP099852 SWING GATE SUPPORT 160,08 € 77

GP100049 TEMPLATE TO MARK HOLES 75,83 € 49

GP100050 TEMPLATE TO MARK HOLES 65,83 € 49

GP100237 TERMINAL BLOCK WITH SCREW 0,98 € 47

GP100239 BRIDGE CROSS CONNECTOR 0,55 € 47

GP101477 3-CONTACT RELAY COIL 17,06 € 59

GP101479 2-CONTACT RELAY SOCKET 6,97 € 47

GP101516 REAR STRUCTURE SUPPORT PIPE PIN 24,22 € 62

GP101805 MOTOR 354,86 € 97

GP102216 CIRCUIT BREAKER 10A 35,20 € 47

GP102351 CARD 1.840,37 € 47

GP102698 Ø18 HEAT SHRINK 0,68 € 47

GP102875 3P 1000V CONTACTOR 1.894,93 € 47

GP102887 3-CONTACT RELAY, 230V AC 9,61 € 47

GP102889 3-CONTACT RELAY, 24 V DC 6,72 € 47

GP102891 INTERMEDIATE PART WITH LIMITER 21000NM 1.713,85 € 101

GP102892 24-48 VDC TIME DELAY RELAY 70,40 € 57

GP102896 TORQUE LIMITER 17000NM 1.232,00 € 101

GP102898 TORQUE LIMITER 21000NM 1.056,00 € 101

GP103552 KIT G8X ENERGY TUBE 34,25 € 32

GP103558 RIVET M12 0,48 € 77

GP103571 ABB REPLACEMENT SUPPORT PLATE 147,35 € 47

GP103644 ZINGASPRAY 24,27 € 32

GP104233 WIDE WASHER M8 0,59 € 47

GP104451 FRONT TOP COVER FOR THE LOW SPEED SHAFT 32,42 € 47

GP104453 RIGHT FRONT COVER FOR LOW SPEED SHAFT 19,92 € 47

GP104455 LEFT FRONT COVER FOR THE LOW SPEED SHAFT 15,93 € 47

GP104458 REAR TOP COVER FOR THE LOW SPEED SHAFT 32,42 € 47

GP104462 LOW SPEED SHAFT REAR SUPPORT BRACKET 10,57 € 45

GP104811 OVERGROUND FEMALE CONNECTOR 3P-5,08 MM 0,56 € 47

GP104957 UPPER INTER-STEP GUARD G8X 10,47 € 45

GP104958 LOWER INTER-STEP GUARD G8X 10,03 € 45

GP105099 O-RING SEAL 69.44X3.53 0,67 € 32

GP105418-002 CRC INDUSTRIES SP400 II 500ML 16,50 € 37

GP105540 LEVEL INDICATOR PLATE 10,32 € 37

GP105542 LEVEL INDICATOR 46,67 € 32

GP105722 HEXAGON SOCKET BOLT M8X40 78,55 € 32

GP105755 LUBRICANT 40,72 € 32

GP105946 DOOR HANDLE 220,00 € 54

GP105986 THIN NUT M10 0,42 € 37

GP107451 CABLE WA380 G8X 22,35 € 47

GP107453 CABLE WA382 G8X 22,67 € 47

GP107541 CAP 2,31 € 47

GP107548 PROTECTIVE SLEEVE 17,83 € 47

GP107550 FA HYDRAULIC HOSE 81,12 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP107551 FA HYDRAULIC HOSE 75,91 € 59

GP107553 NUT M16 0,18 € 38

GP107623 CABLE WS309A 39,56 € 47

GP107624 CABLE WS308A 39,83 € 47

GP107638 SONIC SUPPORT 143,93 € 47

GP107639 ANEMOMETER & WIND VANE SUPPORT 187,40 € 47

GP107653 WIND-SENSORS SEPARATORS G8X 22,85 € 47

GP108189 WIND VANE AND ANEMOMETER UNIT 332,08 € 47

GP108394 METAL-RUBBER SEAL 0,43 € 32

GP108599 THERM SLEEV TYCO MRSM 50/23 25-40MM, 1KV 54,07 € 47

GP108620 CABLE WAAT17 G8X 16,08 € 47

GP109048 TRANSFORMER 38.009,23 € 115

GP109669 CAPACITOR 3X33.1UF 66,62 € 77

GP110134 UPS PROGRAMMING CARD 71,88 € 47

GP110636 MICRO INTERFAZ SAFT PIC18F2520-I-SP 45,28 € 47

GP110684 CURRENT TRANSDUCER SUPPORT 365,00 € 66

GP110718 SCR ISO4017 M12X150 8.8 FLZNL NC 1000H 3,80 € 37

GP110861 RIVET NUT M8 2,04 € 47

GP111182 KIT FG8+CONTACTOR SCHNEID DFM V3.2 HIMEL 14.196,67 € 143

GP111241 CABLE WP99 6.297,49 € 47

GP111243 CABLE WP99 7.316,00 € 47

GP111814 GUIDE WIRE TOOL 23,07 € 37

GP112093 BAR BRIDGE SHORT 80,49 € 47

GP112993 O-RING T CHANNEL 27 X 2.5 5,33 € 32

GP112994 O-RING DS CHANNEL 13 X 2.0 5,07 € 32

GP112995 O-RING P CHANNEL 21 X 2.5 5,33 € 32

GP114955 LONG BRIDGE BAR 1720MM 155,25 € 47

GP114966 LONG BRIDGE BAR 1790MM 196,03 € 47

GP114974 LONG BRIDGE BAR 1810MM 158,21 € 47

GP114976 SHORT BRIDGE BAR 1346MM 101,63 € 47

GP114981 LONG BRIDGE BAR 1722MM 194,07 € 47

GP114982 SHORT BRIDGE BAR 1209MM 61,60 € 47

GP115005 SHORT BRIDGE BAR 1229MM 81,31 € 47

GP115007 SHORT BRIDGE BAR 1210MM 155,25 € 47

GP115237 CAPACITOR 4UF 47,72 € 64

GP115502 GENERIC AUTOMATIC VALVE 73,41 € 157

GP116130 NACELLE CABINET RIGHT DOOR 76,82 € 47

GP117500 HYDRAULIC HOSE 80,33 € 47

GP117985 PRESSURE HOSE 95,60 € 47

GP118114 RELAY 230VAC 33,56 € 52

GP118307 HOSE STRAIGHT ELBOW 90 33,13 € 38

GP118501 SECURITY ANCHORAGE ROTATING RING M16X24 54,00 € 38

GP118569 YAW GEAR BONFIGLIOLI 2.226,67 € 107

GP118665 PROTECTION GRILLE 3,60 € 47

GP118669 RELAY 6300A 511,07 € 47

GP118670 SPRING LOAD GEAR MOTOR 457,60 € 47

GP118671 UNDERVOLTAGE COIL 77,33 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP118693 CLOSING COIL 80,69 € 47

GP118694 OPENING COIL 62,57 € 47

GP340695 GENERIC YAW GEAR HEAD RIGHT 704,00 € 197

GP340692 GENERIC YAW GEAR HEAD LEFT 704,00 € 197

GP118902 HEMPADUR FC 45660 AND CURING AGENT 95570 7,00 € 32

GP119035 OVERVOLTAGE PROTECTOR 25KA 61,67 € 80

GP119039 OVERVOLTAGE PROTECTOR 50KA 106,15 € 47

GP119048 FUSE HOLDER 92,35 € 47

GP119052 125A FUSE 3,67 € 47

GP119058 0.75-1R RESISTOR 44,00 € 59

GP119525 CABLE WA595 9,87 € 47

GP119762 ABB YAW MOTOR 523,53 € 77

GP119766 CABLE U1/X101 50,67 € 59

GP119771 ANEMOMETER SENSOR 310,00 € 47

GP119773 WIND VANE SENSOR 338,28 € 47

GP119820 QUICK-FIT MALE PLUG 56,22 € 45

GP121435 CYLINDRICAL FUSE  5X20MM 5A LOW250V AE5X 1,28 € 47

GP121569 SACK 43,33 € 47

GP121573 ROPE 8,96 € 38

GP121683 HOISTING CHAIN 728,00 € 47

GP121846 RETAINER PIN 40,00 € 47

GP122338 CCU AS2902 5.646,67 € 122

GP124059 GREASE (400GR) 7,11 € 32

GP124374 PLATFORM SPLIT ACCESS HATCH 479,33 € 77

GP124476 INSULATING FOR DOUBLE DRIVER 10,23 € 59

GP124477 INSULATING FOR SIMPLE DRIVER 1,99 € 52

GP124478 SCREEN DOUBLE DRIVER 7,02 € 59

GP124479 SCREEN SIMPLE DRIVER 3,15 € 52

GP127960 GENERIC ELECTRIC ROTATING JOINT 1.238,67 € 107

GP128095 SIGN SAFETY LIFE 8,41 € 57

GP130250 RELAY 24VCC 11,73 € 47

GP130254 RELAY SOCKET 4,80 € 47

GP130775 BEARING 1.766,00 € 137

GP131111 BOTTLE 4,67 € 37

GP131157 CLOTHS PACKAGE 8,32 € 47

GP131253 JOINT 1,07 € 32

GP131922 UPS STORAGE BATTERY SAI APC SURT1000XLI 963,67 € 47

GP132648 SLIP RING-ROTOR OUTPUT CABLE 168,28 € 47

GP132649 SLIP RING-ROTOR OUTPUT CABLE 108,48 € 47

GP133456 RELAY 6A 45,00 € 47

GP133457 RELAY 6A 53,20 € 47

GP237962 WEI_RCMKITP-I-24VDC4CO_8921120000 12,63 € 47

GP133460 RELAY 5A 7,57 € 47

GP133461 RELAY 8A 10,53 € 47

GP133462 RELAY 10A 12,32 € 47

GP134108 BRIDGE CROSS CONNECTOR 0,88 € 47

GP134147 GENERIC 80W FAN 62,67 € 129



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP134149 GENERIC 15W FAN 14,67 € 101

GP134165 GENERIC PT100 SENSOR 31,80 € 47

GP135566 ROTARY HANDLE 4,17 € 47

GP135588 HEXAGONAL HEAD BOLT M12X100 0,99 € 47

GP135589 STRUCTURAL WASHER M12 0,57 € 37

GP135711 RESISTOR 47R 32,65 € 59

GP135731 LIMIT SWITCH 340,04 € 47

GP135732 LIMIT SWITCH 58,35 € 47

GP135733 LIMIT SWITCH 301,85 € 47

GP135964 WIND VANE SUPPORT 15,25 € 47

GP136128 HOSE L=5270MM 59,05 € 32

GP137383 TRANSISTOR MODULE 600A 74,86 € 47

GP137895 METAL-RUBBER SEAL 2,83 € 38

GP138790 ANCHORAGE RING 65,92 € 37

GP138959 GENERIC MOTOR 1.5KW 163,47 € 77

GP138962 MOTOR 1.5KW 234,54 € 77

GP138965 MOTOR 2870rpm 1.5kW 2A 690V 50Hz IE2 LER 163,47 € 77

GP139061 GENERIC LOAD SWITCH I-O 12,62 € 31

GP140134 TERMINAL 185MM2 9,20 € 62

GP141227 PROTECTION CAP 17,13 € 62

GP142107 TAPE PU ANTIEROSION 33MX254MM 3M 8607PPT 508,80 € 62

GP143481 LONG ELEVATOR ROPE GUIDE 46,52 € 37

GP144342 TRANSFORMER 38,44 € 47

GP144559-001 MULTIBEARING GREASE 5 KG 72,00 € 32

GP144559-002 MULTIBEARING GREASE 25KG 356,67 € 77

GP144559-006 MULTIBEARING GREASE_370GR 11,70 € 62

GP145852 ENCODER 605,33 € 47

GP149729 TRANSFORMER 37.070,00 € 115

GP149742 UPPER CABLE GUIDE SUPPORT 8,07 € 57

GP149744 CABLE GUIDE SUPPORT 17,03 € 57

GP149745 UPPER-LIMIT SWITCH STOP 34,37 € 57

GP149748 ELEVATOR CABLE GUIDE 1,88 € 57

GP149749 ELEVATOR CABLE GUIDE 1,47 € 57

GP150109 TOWROPE WITH SHACKLE 100M 703,41 € 47

GP150110 TOWROPE WITH SHACKLE 67M 610,33 € 32

GP150112 TOWROPE WITH THIMBLE 100M 243,49 € 47

GP150114 TOWROPE WITH THIMBLE 78M 198,49 € 47

GP150282 EMERGENCY PUSH BUTTON WITH DETECTOR 144,75 € 47

GP150287 CIRCUIT BREAKER 41,24 € 47

GP150292 CIRCUIT BREAKER BOX 9,65 € 47

GP150294 LIGHTING 2X8W 134,27 € 47

GP150310 LATCH 15,31 € 47

GP151313 LIGHTNING TRANSMISSION SYSTEM BASE PLATE 6,27 € 47

GP151531 HOSE FROM TANK TO COOLER 34,89 € 47

GP152658 G8X-G9X GENERIC CRANE HOIST 60HZ 78M 5.175,00 € 57

GP153396 EMERGENCY LIGHT 310,63 € 37

GP153681 RESISTOR 14,67 € 59



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP157704 BISAGRA 4,44 € 47

GP157833 MOTOR SUPPRESSOR RC, 3X690VAC/4KW 23,79 € 47

GP162455 JOINT SET 26,93 € 47

GP162712 MOTOR 2.2 KW 681,55 € 77

GP164795 PROCESSING UNIT 520,00 € 47

GP164945 ROD BEAR 30326+31326 SCH BT2-0121 SKF 1.381,15 € 227

GP165277 CIRCUIT BREAKER 4A 36,40 € 47

GP165359 SEAL 6,95 € 62

GP166117 CORK GASKET 20,00 € 32

GP166126 LOCK 194,44 € 47

GP170962 LABEL 1,58 € 37

GP172167 AUXILIARY CONTACT BLOCK 2,03 € 57

GP172175 AUX. CONTACT BLOCK 1,87 € 57

GP172349 PUSH BUTTON 36,00 € 32

GP172350 PUSH BUTTON 39,33 € 32

GP183051 O-RING SEAL 23,47X2,62 0,23 € 47

GP183406 MOTOR PUMP 1.1KW 693,33 € 47

GP185815 LOCK 273,33 € 37

GP188748 CABLE WS309A 42,08 € 47

GP188755 CABLE WS308A 39,83 € 47

GP189308 ULTRASONIC ANEMOMETER 1.581,17 € 47

GP189315 KIT JUNTAS PARA MORDAZA ACTIVA G8X 27,00 € 47

GP331163 REAR SAFETY-WALK BAND 620mm x 152mm 4,90 € 32

GP189921 END STOP 13,54 € 32

GP190272 CABLE WA79 294,88 € 47

GP190276 CABLE WA78 189,08 € 47

GP190332 MULTIPLEXER CARD 94,67 € 115

GP191661 FA TERMINAL BLOCK COMPLETE ASSEMBLY 10,63 € 47

GP192781 V-RING V-170L 9,93 € 32

GP193438 LOCTITE 5331 10,51 € 32

GP194540 EMERGENCY SWITCH 2,20 € 57

GP194998 CABLE WS251A G8X HS 29,69 € 47

GP200114 STRAIGHT ADAPTER 1,37 € 47

GP200118 HOSE L=15000MM 37,76 € 47

GP200806 RECEPTOR DRILLING SCREW UPPER SHELL G80 66,67 € 62

GP200807 RECEPTOR DRILLING SCREW LOWER SHELL G80 66,67 € 62

GP200808 RECEPTOR DRILLING SCREW G87 58,33 € 47

GP201296 THREADED PLUG M20 0,98 € 47

GP201330 LEVEL SENSOR 45,01 € 32

GP201501 SAFETEC C 25/750 - 516 206 80,60 € 62

GP201761 HUMIDITY INDICATOR CARDS 11,07 € 47

GP201847 REINFORCED FUSE SUPPORT DTC-V3 79,17 € 59

GP202162 SUPPORT 3,20 € 38

GP084260 KH7 DEGREASER 2,27 € 32

GP202346 DISOLVENT 10,49 € 47

GP202498 SUPPORT 8,67 € 32

GP203252 SCREW M3X20 0,30 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP204629 1-CONTACT RELAY BASE, SWITCHED 3,25 € 77

GP207117 PUMP MOTOR 1.1KW 415,17 € 47

GP207207 PIPE-RING CONE SUPPORT WEDGE 3,78 € 47

GP207234 CONE SUPPORT RIGHT - NO HOLE 128,33 € 47

GP207235 CONE SUPPORT LEFT - NO HOLE 58,50 € 47

GP207356 START-UP MOTOR 15,49 € 57

GP207612 HOSE L=15000MM 30,39 € 47

GP211718 REDUCTION 1/4" TO 3/8" 1,07 € 32

GP218789 GENERIC LED 110-277V 50-60HZ + EM KIT UL 112,21 € 47

GP218966 PIPE-RING CONE SUPPORT SPACER 3,60 € 47

GP219525 GREASE INJECTION AND EXTRACTION PLUG 12,34 € 38

GP219603 PILOT 5,00 € 47

GP219608 L100X100 BASE BOARD 27,92 € 47

GP219614 ELEVATION MOTOR 7.155,70 € 77

GP219671 FITTING LEE15LROMD-CF 45,83 € 32

GP219734 BOTTLE 3,77 € 32

GP220019 GROUNDING BRUSH 29,09 € 47

GP220021 BRUSH 27,33 € 47

GP220304 EXPANSION TANK 557,96 € 107

GP221514 SCREW M12X120 1,08 € 47

GP222785 ADHESIVE ACRYLIC FOAM TAPE 3M 4155_5962 6,01 € 37

GP224059 SYNTHETIC GAMELUB 91,97 € 37

GP224705 POSITION SENSOR 516,67 € 47

GP225194 WARNING LABELS FOR VICINAY CRANE 46,83 € 38

GP225515 RED SPRAY ANTIFLASH G142 ROYAL DIAMOND 11,48 € 32

GP228386 GREASE 24,61 € 32

GP228482 HYDRAULIC HOSE PUMP-COOLER 42,88 € 47

GP230691 CABLE WS-ACEL 7 G8x PHOENIX HS 35,03 € 47

GP231029 HYDRAULIC PUMP 496,67 € 52

GP231270 CABLE WS500 CONNECTOR G8X/G9X INGETEAM 85,68 € 47

GP232951 CONTROL OUTPUT CABLE G5X-G8X 8530497 LAB 236,67 € 47

GP233556 STRUCTURAL WASHER M16 0,22 € 45

GP234361 RADIAL SLIDE PLATE 26,33 € 47

GP234682 SCR  ISO4014 M16X70 8.8 FLZNL NC 1000H 0,62 € 32

GP234885 SUPPORT FOR YAW RING BASE SCRAPPER G114 50,18 € 52

GP235172 BRUSH CANT09 21,83 € 92

GP235430 RELAY 8A 7,97 € 57

GP235431 RELAY BASE 2,70 € 47

GP235432 RETAINER CLIP WEI_8869510000 0,25 € 47

GP235452 2500A, 1A CURRENT TRANSFORMER 44,72 € 47

GP235569 FA LOCK 5,91 € 47

GP236412 COMM.CABLE TOUCH SCREEN PHC RS485 TOP 52,24 € 47

GP236456 HEX. BOLT ISO 014 M24X110 10.9 GEOMET321 11,63 € 67

GP237943 4-CONTACT RELAY 9,55 € 47

GP237962 4-CONTACT RELAY 12,63 € 47

GP238574 STAINLESS S. PIPE D6 4ACT YAW L=157,5 15,84 € 38

GP238575 STAINLESS S. PIPE D6 4ACT YAW L=330 16,32 € 62



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP238576 STAINLESS S. PIPE D6 2ACT YAW L=141 15,30 € 38

GP238581 CLAMP-B-6-PP-NA-NA-NA-Y-C3 0,75 € 32

GP238650 SCREEN 490,00 € 47

GP238744 PIN M12X145 FLZNL NC 1000H 6,26 € 59

GP238922 HUB-TO-SHAFT POSITIONING PIN G114 65,78 € 47

GP239314 JE 2SC-12 HOSE HUB BRACKET 2,58 € 45

GP239826 CABLE WS241B G114 31,90 € 47

GP239827 CABLE WS242C G114 22,43 € 47

GP239828 CABLE WS241C G114 24,97 € 47

GP239829 CABLE WS250B G114 66,85 € 47

GP239831 CABLE WS251B G114 34,27 € 47

GP239835 CABLE WS251A G114 32,82 € 47

GP239836 CABLE WS251C G114 34,18 € 47

GP239837 CABLE WS241A G114 30,70 € 47

GP239839 CABLE WS250C G114 62,23 € 47

GP239970 PROTECTIVE STRIP BRUSH 22,22 € 47

GP240054 ACTUATOR 312,45 € 47

GP240056 BALL JOINT KG10 BELIMO 10,68 € 47

GP240363 HEXAGON SOCKET BOLT M8X40 131,94 € 59

GP240491 LOW TENSION FUSE MICROSWITCH 6,00 € 31

GP240644 STAINLESS S. PIPE D6 4ACT YAW L=330 16,32 € 38

GP240705 HEXAGONAL HEAD BOLT M8X70 1,14 € 37

GP240771 CLAMP-B-38-PP-NA-NA-NA-Y-C3 1,50 € 38

GP241246 CLAMP-B-13.5-PP-NA-NA-NA-Y-C3 1,17 € 32

GP241330 FITTING2353-361-28-NA-NA-NA-L-C3-N 27,60 € 32

GP241331 FITTING2353-36-28-NA-NA-NA-L-C3-N 44,68 € 32

GP241332 FITTING2353-14-28-NA-1/2-NA-L-C3-N 53,96 € 32

GP241333 FITTING2353-12-28-NA-NA-NA-L-C3-N 26,10 € 32

GP241335 NIPPLE H4-63-BSPP 25,78 € 32

GP241338 MALE-MALE ADAPTER ½”BSPP 8HMK4S 1,56 € 32

GP242219 CLAMP-B-26,9-PP-NA-NA-NA-Y-C4 10,32 € 37

GP242482 FUSE 1A 0,99 € 31

GP242772 CLAMP 1,68 € 32

GP242782 REDUCTION ½" TO ¼" 2,73 € 47

GP243613 TIMER RELAY 75,95 € 59

GP245495 HEXAGONAL HEAD BOLT M16X60 1,88 € 45

GP245897 CABLES 289,23 € 59

GP246275 DAMPER ACTUATOR 80,00 € 47

GP246276 AUXILIARY CONTACT 39,60 € 47

GP247032 SEAL+O-RING RSK200900-M12N 10,79 € 47

GP248861 FEMALE CONNECTOR 4,03 € 47

GP248863 MALE CONNE.S207(PHOE IC 2,5-8-STGF-5.08) 5,93 € 47

GP249310 GENERIC RELAY 38,80 € 38

GP249606 SCR ISO4014 M36X305 10.9 FLZNL NC 1000H 11,12 € 77

GP249955 FITTING2353-14-28-NA-11/4-NA-L-C3-N 15,50 € 77

GP250172 NUT ISO 4035-M24-05-DAC500B 0,32 € 52

GP250173 HEXAGON SOCKET BOLT M24X80 5,35 € 52



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP250204 AD-MF-11/2-11/4-C3 18,47 € 32

GP250614 TRAFO METAL FILTER HCHD 127,50 € 59

GP251885 COMER YAW GEARBOX G114 2.760,00 € 77

GP252550 YAW GREASE RESERVOIR G114 2.5MW 30,42 € 38

GP252629 100-115x40 BEARING 54,67 € 87

GP389369 CONFIGURABLE MI WHITE/RED OBELUX TYPE 1 4.760,00 € 47

GP254233 CABLE WS500 116,97 € 47

GP289465 HEMPADUR 17633-17130 (RAL 1013) 7,58 € 32

GP254663 HEAT SHRINK 0,80 € 47

GP254676 EMERGENCY BUTTON 34,83 € 31

GP254914 SOLVENT 3,46 € 32

GP254916 SOLVENT 3,78 € 32

GP254968 KLUBER SUMMIT HYSYN FG 32 OIL 9,28 € 47

GP260468 RELIEF VALVE 9,33 € 32

GP261346 FITTING2353-14-28-NA-3/4-NA-L-C3-N 26,18 € 32

GP261818 MOTOR PUMP 0.37KW 929,24 € 77

GP261879 CLAMP-B-20-PP-NA-NA-NA-Y-C3 1,14 € 38

GP262709 ANEMOMETER SENSOR 361,33 € 47

GP262869 CLAMP-B-35-PP-NA-NA-NA-Y-C4 2,64 € 32

GP263222 STAINLESS S. UPPER PIPE D6 L1015 15,16 € 32

GP263854 HOUSING SAFETY-WALK BAND 400MMX152MM 2,53 € 32

GP264059 CELLULAR RUBBER TUBE DIAM 70/120 H80 13,10 € 45

GP264060 PIPE COLLAR DIAM 55 WITH ADHESIVE TAPE 12,32 € 45

GP264344 800KG COVER CONTROL GEAR BOX + GLAND 59,45 € 27

GP265283 TRANSFORMER 690-230V 23,53 € 47

GP265381 CABLE WS305 G8X 15,97 € 47

GP265382 CABLE WS306 G8X 13,84 € 47

GP265856 CLAMP-B-33.7-PP-NA-Y7-NA-Y-C4 2,46 € 62

GP266046 BOLT ISO4014 M42X340 10.9 FLZNL NC 1000H 20,18 € 77

GP266071 CONTACTOR INTERLOCK 16,55 € 47

GP266628 FITTING2353-26-28-NA-NA-NA-L-C3-N 28,88 € 32

GP266778 CLAMP 9,25 € 47

GP268794 WIND VANE 671,43 € 47

GP268797 ANEMOMETER 671,43 € 47

GP268863 PLUG G 1/2" 607166 21,97 € 32

GP269246 YAW MOTOR 355,33 € 97

GP271057 COVERING 110,13 € 49

GP272428 GENERIC BEARING 448,80 € 347

GP272432 GENERIC BEARING 256,00 € 347

GP273916 ARC RECEPTOR LIGHTNING TRANS. SYST. 68MM 11,57 € 49

GP274513 CLAMP-B-42-PP-NA-NA-NA-Y-C4 2,96 € 32

GP274515 CLAMP-B-38-PP-NA-NA-NA-Y-C4 1,48 € 32

GP274860 UPPER DOOR 164,16 € 37

GP276629 NYLON M12X30 ISO 4017 BOLT 2,00 € 38

GP276630 ISO 4032 NYLON M12 NUT 0,65 € 32

GP276631 ALUMINIUM JOINT BUSBAR 42,25 € 45

GP277821 G8X ASSY TOWER-NACELLE BOLTING 1.404,77 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP278376 SILICA GEL SORBSIL CHAMELEON 11,78 € 32

GP279315 82M ROPE 254,80 € 47

GP279316 71M ROPE 227,04 € 47

GP280499 RELAY 16A 230VAC 35,51 € 47

GP281398 BRAKE SYSTEM BATTERY 96,67 € 31

GP282403 FEEDER CABLE CONNECTION COPPER BUSBAR 71,80 € 47

GP282889 ROPE 323,40 € 38

GP283861 BLADE BEARING SEAL BLADE SIDE 210,00 € 87

GP284099-002 FLUORESCENT LEAK DETECTION LIQUID_ 260,13 € 45

GP284510 ABB_KEY LOCK OPEN POS.T8_1SDA058270R1 54,55 € 47

GP284682 METHACRYLATE SKYLIGHT 670X670 410,40 € 47

GP286089 VELCRO BELLOW WITH LOGO FCS4898 176,00 € 47

GP286090 PITCH CONTROL CYLINDER BELLOW D90 192,00 € 47

GP288160 FRICTION BEARING 32,03 € 87

GP288282 CODING PROFILE 0,04 € 47

GP289396 WHEEL AND SHAFT COUPLING 9,93 € 32

GP289461 WATER INLET PRESSURE SENSOR 80,76 € 47

GP327268 SDHC CLASS 4_MIN 4G MAX 32G 11,20 € 47

GP293003 PRES TRAN 0-6BAR G1/2 EN175301-803A MALE 139,78 € 38

GP293004 FITTING2353-19-18-NA-1/2-NA-L-C3-NA 4,84 € 32

GP293637 FITTING2353-13-28-18- NA-NA-L-C3-N 31,70 € 32

GP296558 STICKER NO SMOKING 11,17 € 32

GP296610 CAPACITOR 3×33.2UF 140,33 € 79

GP454169 PUMP 50HZ 0.7-3BAR-ABS. KP30.31DO-ZED 533,84 € 47

GP454170 PUMP 60HZ 0.7-3BAR-ABS. KP30.27DO-ZED 659,80 € 47

GP298200 TAPE BLACK-YELLOW ELEVATOR FIXING 5,97 € 32

GP298289 STICKER EMERGENCY PUSHBUTTON 4,56 € 32

GP298320 STICKER NO FLASH 12,92 € 32

GP298377 STICKER CAUTION HIGH VOLTAGE 12,26 € 37

GP298379 NACELLE EVACUATION DRAWING 39,35 € 37

GP298380 STICKER EVACUATION EQUIPMENT 15,70 € 37

GP298381 STICKER EVACUATION INSTRUCTIONS 16,91 € 37

GP298487 STICKER HARNESS 12,42 € 32

GP298565 LIGHTNING ROD G9X 30,98 € 45

GP298566 LIGHTNING ROD G8X 18,20 € 59

GP298572 VENTILATION UNIT 186,15 € 66

GP301393 GENERIC HSS COUPLING 50HZ G132 3.3MW 5.044,00 € 101

GP301990 LAFERT YAW MOTOR 50HZ 3KW 622,60 € 97

GP302900 MOTORFAN FOR TRAFO AIR OUTLET 3.3MW 50HZ 1.065,94 € 77

GP303708 RESCUE-EVAC KIT T114 ROPE 122.5 BOX 2.400,54 € 47

GP304142 KIT CABLES BYPASS UPS G8X PHOENIX 20,42 € 47

GP305361 CONTACTOR 100-250V 64,79 € 57

GP305395 FLEXIBLE PIPE 8,33 € 32

GP305666 NON-RETURN VALVE 107,80 € 32

GP308505 PT100 + CABLE WS301 3.3MW 45,62 € 31

GP308506 PT100 + CABLE WS300 3.3MW 83,95 € 73

GP308638 POWER CABLES REJIBAND TRAY 400X300X60 14,52 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP309062 SACE TMAX T8 CIRCUIT BREAKER AND SUPPORT 6.964,40 € 77

GP311217 BONFIGLIOLI YAW GEARBOX G114 (GJS-400) 3.340,00 € 137

GP311930 PIPE FOR CABLE INTERNAL DIAMETER 35.5MM 6,13 € 59

GP311932 PIPE FOR CABLE INTERNAL DIAMETER 47.5MM 8,57 € 59

GP314381 PUMP GRUNDFOS CR 10-5 1.620,00 € 87

GP315069 ADJUSTABLE SCREW CLAMP SS D250-300MM 4,68 € 47

GP315334 INDUCTIVE SENSOR M18 + CABLE WS101 3.3MW 28,94 € 31

GP315339 CABLE WA180B 3.3MW 64,56 € 47

GP315340 CABLE WA180A 3.3MW 65,50 € 47

GP315501 CABLE WS403 3.3MW 18,86 € 62

GP316218 ARC DT SELCO V-TYPE + CABLE WS621 3.3MW 180,33 € 59

GP316256 FITTING2353-10-8-6-NA-NA-L-C4-N-NA 3,07 € 32

GP318000 BOTTOM-TOWER RUBBER SEALANT G114 180,24 € 47

GP318821 FOLDED PLATE 56,62 € 59

GP319349 DILUTED DEGREASER 3,69 € 47

GP320031 BOLT ISO 4014 M27X160 10.9 13,67 € 47

GP320581 KIT CYL HOLDER WTH FRIC BEARING LM BLADE 451,15 € 52

GP320582 KIT CYL HOLDER WTH FRIC BEARING FB BLADE 421,58 € 52

GP320879 PT100 1/2" L95XD8MM 3-WIRE 141,20 € 47

GP322415 BLACK/YELLOW ANTISLIP ADHESIVE TAPE 50MM 4,65 € 32

GP323175 WEIDMÜLLER PLUG-IN CONNECTOR TMAX T8 58,69 € 47

GP323798 CONV. WAT-AIR COOLER G132 3.3MW YMER 3.200,00 € 137

GP325353 PIPE FOR CABLE INTERNAL DIAMETER 20MM 3,08 € 59

GP330064 ABRASIVE ROLL 13,17 € 37

GP331161 FRONT SAFETY-WALK BAND 400mm X 152mm 3,16 € 32

GP332689 PR TRAN 0-10BAR G1/4 EN175301-803A MALE 90,00 € 62

GP332867 HOLDER CABLE 28X28 MB4 0,91 € 32

GP338929 GB RIGHT COOLER G132 3.3MW YMER 3.600,00 € 137

GP338930 GB LEFT COOLER G132 3.3MW YMER 3.600,00 € 137

GP340546 ARC DT SELCO V-TYPE + CABLE WS622 3.3MW 180,33 € 59

GP340547 ARC DT SELCO V-TYPE + CABLE WS625 3.3MW 180,33 € 59

GP340548 ARC DT SELCO V-TYPE + CABLE WS626 3.3MW 180,33 € 59

GP341478 GENERATOR RIGHT COOLER 3.3MW YMER 3.000,00 € 137

GP341479 GENERATOR LEFT COOLER 3.3MW YMER 3.000,00 € 137

GP342332 MOTOPUMP B-P 100L/MIN 5.5KW 1.648,68 € 77

GP345273 GENERIC YAW CLAW(4 ACT-2 PASS)PAD-R1418 1.986,00 € 87

GP345274 GENERIC YAW CLAW(2 ACT-4 PASS)PAD-R1418 2.004,00 € 87

GP345665 LOWER BLOCK ABB TRANSFORMER TYPE A 96,00 € 47

GP345274 GENERIC YAW CLAW(2 ACT-4 PASS)PAD-R1418 2.004,00 € 87

GP349017 TT4001 100KVA AUX TRANSFORMER 3.3MW 4.171,50 € 47

GP351777 CABLE WT995 3.3MW 170,00 € 47

GP355140 GENERIC ACCELEROM. +/-1G 8MA/G W/O CABLE 360,00 € 47

GP355186 BOLT ISO7380 M6X25 8.8 FLZNL NC 1000H 2,90 € 59

GP356118 H-2SN-20-SAE311/2-TLML35-NA-NA-C3-5720 298,32 € 38

GP356120 H-1SC-8-TLML15-TLML9015-NA-NA-C3-6200 59,90 € 38

GP356123 H-R12-16-SAE31-TLMS30-NA-TC-C3-6080 454,40 € 38

GP356269 TUBE D250 EXHAUST SLIP RINGUNIT L970MM 72,92 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

GP361780 FITTING PART FOR TRANSFORMER EARTH 61,88 € 67

GP364310 H-1SC-8-TLML12-TLML15-NA-TC-C4-6700 23,80 € 38

GP364711 YAW POSITION CONTROL UNIT BRACKET 3.3MW 20,94 € 47

GP364942 SCR DIN6921 M20X100 10.9 FLZNL NC 1000H 11,58 € 38

GP365661 H-2SC-16-SAE31-TLML28-NA-TC-C4-7990 209,56 € 38

GP365662 H-2SC-12-SAE33/4-TLMS20-NA-TC-C4-7850 159,14 € 38

GP369550 NUT ISO 10511-M10-04-Zn-Ni-PAS,CHR+S 0,06 € 38

M200068P PLASTIC FLANGE 0,05 € 24

M200130 ADHESIVE BASE 0,12 € 32

P030003 DUST WASHER TIGHTEN PIN 38,27 € 62

P030004 PIN 38,25 € 92

P050005 FASTENING WEDGE FOR PMS ACCELEROMETER 1,69 € 52

P050009 PMS SUPPORT PLATE 9,20 € 47

P100034 BLADE SEALANT 319,37 € 47

P100035 JOINT PLATE 1,63 € 47

P100036 TENSIONING DEVICE 15,33 € 47

P100037 RIVET 0,16 € 37

P210007 EXTERIOR LADDER STEP 21,24 € 38

P240130 ID PLATE 4,28 € 57

P300518 ROTATING JOINT ADAPTER 110,09 € 47

P300519 HYDRAULIC ROTARY JOINT 1.512,77 € 47

P300522 ROTARY JOINT PROTECTION COVER PLATE 15,37 € 47

P300523 PLATE 2 ROTARY JOINT PROTECTION 9,47 € 47

P300526 LAT. PROTECTION PLATE 1 ROTATING JOINT 17,68 € 47

P300527 ROTARY JOINT PROTECTION COVER PLATE 3,88 € 47

P300528 ROTATING JOINT PROTECTIVE STRUCTURE 81,27 € 47

P300529 ELECTRICAL ROTARY JOINT ANTI-ROTATION 3,45 € 47

P300537 SHIM 2MM 1,13 € 47

P300538 SHIM 5MM 2,52 € 47

P320003 SECURITY BAR SUPPORT 85,33 € 49

P340009 LADDER DEPLOYMENT SUPPORT 3,12 € 47

P370104 BRAKE CALIPER PADS 47,38 € 62

P370112 BRAKE DISC SHIM 0.5 0,22 € 47

P370113 BRAKE DISC SHIM 0.2 0,23 € 47

P370244 TOP COVER FOR BRAKE DISC PROTECTION 12,55 € 47

P370267 FILTER LEAK COLLECTION TRAY 16,09 € 38

P370270 BRAKE DISC LOWER COVER 5,18 € 47

P370289 OFFLINE FILTER ASSEMBLY 536,19 € 77

P390000 CABLE 2X0.75MM2 0,62 € 47

P390002 CABLE 6X0.34MM2 1,41 € 47

P390007 CABLE 5MM2 1,22 € 47

P390009 CABLE 2.5MM2 1,50 € 47

P390020 POWER CABLE UPPER SUPPORT 0,13 € 31

P390036 MALE CONNECTOR 1,85 € 47

P390042 CONTACT 3,97 € 47

P390043 EMERGENCY PUSH BUTTON 18,13 € 57

P390044 PLUG BASE 10,00 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P390050 PG9 PRESS 0,52 € 47

P390051 PACKING GLAND PG11 0,34 € 47

P390053 PG16 PRESS 0,31 € 47

P390054 WHITE POINTED TERMINAL 0,01 € 47

P390055 GREY POINTED TERMINAL 0,01 € 31

P390056 BLACK POINTED TERMINAL 0,01 € 31

P390059 PRE-INSULATED TUBULAR TERMINAL 0,01 € 47

P390061 PRE-INSULATED TUBULAR TERMINAL 0,18 € 47

P390064 TUBULAR TERMINAL 2,27 € 47

P390110 BRAKE CIRCUIT PRESSURE SWITCH 86,23 € 57

P390117 OIL PRESSURE SWITCH 95,71 € 47

P390181 BEACON 61,15 € 47

P390182 BEACON LAMP 4,79 € 47

P390253 EXTERIOR TEMPERATURE SENSOR 10,93 € 47

P390256 VIBRATION SENSOR 32,21 € 47

P390292 SINGLE TERMINAL 2.5MM2 0,43 € 31

P390350 FLANGE FOR CABLES, 160X2.5MM, BLACK 0,01 € 31

P390351 CABLE TIE 290X4.8MM 0,03 € 31

P390352 CABLE TIE 290X7.6MM 0,07 € 31

P390354 SHRINK WRAP 3,79 € 47

P390362 BAR 1,08 € 27

P390363 PENDULUM COUNTERWEIGHT 9,50 € 32

P390411 SUPPORT ASSEMBLY 23,46 € 47

P392111 LABEL WT993D 11,75 € 47

P392748 CABLE 6X1MM2 3,35 € 47

P392750 CABLE 2.5MM2 1,65 € 47

P392932 LABEL FOR CABLE 0,45 € 47

P392937 TERMINAL 25MM2 0,63 € 47

P392939 D10 TERMINAL 0,69 € 47

P392940 D12 TERMINAL 0,87 € 47

P392941 D16 TERMINAL 0,90 € 47

P392944 TERMINAL 8,18 € 47

P392947 PRE-INSULATED TUBULAR TERMINAL 0,09 € 47

P393040 TRANSFORMER GROUND ADJUSTMENT 20,00 € 38

P393041 CABLE TUBE 5,84 € 47

P393042 CABLE TUBE 0,95 € 47

P393060 RETRACTABLE 1,03 € 77

P393061 RED POINTED TERMINAL 0,01 € 47

P393068 FLUORESCENT LAMP 1,24 € 47

P393069 PRIMER 0,26 € 47

P393070 PACKING GLAND PG13 0,26 € 31

P393071 PRESS NUT PG13 0,10 € 31



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P393073 MOTOR 0.15KW 224,26 € 77

P393074 MOTOR 2.2KW 528,44 € 77

P393076 MOTOR 283,83 € 47

P393078 ROTOR CABLE TRAY REAR FRAME 49,50 € 47

P393093 CAPACITOR 2MF 1,68 € 47

P393099 PRESS PG11 2,88 € 47

P393100 CONNECTION BRIDGE 0,43 € 47

P393104 TERMINAL COVER 0,25 € 47

P393107 CAP 0,20 € 31

P393110 TOROIDAL TRANSFORMER 35,43 € 47

P393113 PRESS NUT PG9 0,08 € 31

P393115 OVERSPEED GUARD SYSTEM 65,46 € 47

P393119 INDUCTIVE SENSOR 42,86 € 32

P393126 INDUCTIVE SENSOR CABLE 14,14 € 47

P393129 FUSE 6.3A 0,22 € 31

P393138 HUB TRAY WITH COVER 17,28 € 47

P393143 CONNECTOR 11,37 € 31

P393162 GROUND PLATE 42,58 € 47

P393163 AUTOMATIC VALVE 91,77 € 157

P393170 ELECTRIC ARC DETECTOR 175,58 € 59

P393175 TERMINAL 0,04 € 47

P393182 RELAY 96,17 € 31

P393183 CURRENT TRANSFORMER 74,11 € 31

P393203 RETRACTABLE 1,85 € 47

P393206 PG7 PRESS 0,27 € 47

P393207 PG7 PRESS NUT 0,07 € 47

P393220 FUSE TRIP WARNING MICROSWITCH 4,37 € 47

P393221 INSULATING PILLAR 7,15 € 31

P393224 CONNECTION 3,13 € 47

P393225 PG36 PRESS NUT 0,75 € 47

P393234 TERMINAL 0,17 € 47

P393237 FUSE 2500A 170,00 € 47

P393238 FUSE 800A 48,22 € 47

P393298 NEUTRAL MEASUREMENT PROTECTION 24,72 € 57

P393310 PRESS NUT PG11 0,11 € 47

P393340 CABLE 1X2.5MM2 0,85 € 47

P393405 INDUCTIVE SENSOR 23,51 € 47

P393408 MALE CONNECTOR 1,20 € 47

P393446 POINTED TERMINAL 0,11 € 47

P393447 POINTED TERMINAL 0,02 € 47

P393457 RESISTANCE HEATER ELDON 400W 26,77 € 55

P393467 THERMOSTAT 13,37 € 47

P393516 CABLE 2X1.5MM2 0,66 € 47

P393544 MOTOR PROTECTION RELAY 4-6.5 A 20,99 € 47

P393548 POINTED TERMINAL 0,02 € 47

P399008 WASHER M12 0,05 € 37

P422631 HOSE, NO TERMINALS L=300MM 2,87 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P422632 HOSE, NO TERMINALS 80,98 € 47

P422633 HOSE, STRAIGHT TERMINALS L=3585 101,63 € 47

P422634 HOSE, STRAIGHT-ELBOW TERMINALS 100,55 € 47

P422638 REDUCTION ADAPTER TO 1" 9,32 € 47

P422639 NUT ADAPTER TO TUBE 11,25 € 47

P422640 ELBOW 12,88 € 47

P422642 FLANGE FOR PUMP 15,24 € 47

P422643 HOSE, STRAIGHT-ELBOW TERMINALS L=6000 188,97 € 47

P422645 SINGLE CONNECTOR FOR 15 PIPE 1,39 € 47

P422646 ETCHED ELBOW 5,42 € 57

P422649 ELBOW 5,76 € 47

P422650 STRAIGHT ADAPTER 3,20 € 47

P422652 STRAIGHT ADAPTER 4,13 € 45

P422653 DOUBLE ADAPTER FOR PIPE D38 8,74 € 47

P422654 SWIVELLING ELBOW D38 33,27 € 52

P422655 SINGLE CONNECTOR FOR 30 PIPE 8,38 € 47

P422656 STRAIGHT ADAPTER 8,60 € 47

P422658 ELBOW WITH REDUCTION TO D30 27,59 € 47

P422659 STOPCOCK 4,91 € 52

P422660 HOSE, STRAIGHT-90º 20,75 € 32

P422667 TUBE L=225MM 56,84 € 47

P422668 TUBE L=2840MM 114,37 € 47

P422669 TUBE L=600MM 65,00 € 47

P422670 TUBE L=2380MM 103,80 € 47

P422671 TUBE L=2525MM 130,65 € 47

P422672 TUBE L=1021MM 106,13 € 47

P422673 TUBE L=2782MM 184,44 € 47

P422674 TUBE L=1907MM 112,15 € 47

P422676 STRAIGHT ADAPTER 0,91 € 47

P422677 ADAPTER 7,67 € 47

P422678 SWIVELLING ELBOW 6,45 € 47

P422679 BLOCK TUBE 1 42,38 € 47

P422680 BLOCK TUBE 2 46,55 € 47

P422682 BLOCK TUBE 3 45,05 € 62

P422683 BLOCK TUBE 4 44,73 € 47

P422684 HOSE, STRAIGHT-45º 30,03 € 32

P422685 HOSE 2 215,55 € 47

P422686 MALE-FEMALE HOSE L=1060 54,56 € 47

P422687 MALE-FEMALE HOSE 59,75 € 47

P422688 HOSE WITH TERMINALS L=1080 48,34 € 47

P422689 STRAIGHT ADAPTER ⅜" 1,61 € 52

P422691 HOSE, ELBOW-ELBOW TERMINALS L=1060MM 35,15 € 47

P422692 HOSE, STRAIGHT-THREADED TERMINALS L=2540 44,24 € 47

P422693 HOSE WITH STRAIGHT TERMINALS 51,63 € 47

P422694 HOSE L=15000MM 44,00 € 47

P422695 HOSE WITH ELBOW TERMINAL 60,23 € 47

P422696 HOSE, STRAIGHT-ELBOW TERMINALS L=3570MM 71,31 € 47



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P422697 HOSE, STRAIGHT-ELBOW TERMINALS 19,80 € 47

P422698 HOSE WITH ELBOW TERMINALS 41,54 € 47

P422699 HOSE, STRAIGHT-ELBOW TERMINAL 25,93 € 47

P422701 TUBE L=2782MM 108,00 € 47

P422702 TUBO INOX D.20 W.TERM.EO2 L=975mm 63,45 € 47

P422704 SINGLE CONNECTOR TO 30 PIPE 8,00 € 47

P422705 ADAPTER FOR REDUCTION TO 1" 19,28 € 47

P422706 SINGLE CONNECTOR FOR 25 PIPE 4,55 € 47

P422707 SINGLE CONNECTOR FOR 20 PIPE 3,17 € 47

P422709 SWIVELLING ELBOW 8,63 € 47

P422710 CAP 1,87 € 47

P422712 HOSE WITH TERMINALS L=1070 96,34 € 47

P422714 HOSE WITH TERMINALS L=1035 76,86 € 47

P422715 HOSE WITH THREADED TERMINALS L=1010 18,35 € 47

P422716 HOSE WITH THREADED TERMINALS L=500MM 21,32 € 47

P422717 HOSE WITH STRAIGHT TERMINAL 67,99 € 47

P422718 HOSE WITH TERMINALS 51,87 € 47

P422723 TUBE L=990MM 21,70 € 47

P422725 TUBE L=440MM 20,42 € 47

P422726 TUBE L=240MM 19,37 € 47

P422727 TUBE L=320MM 20,38 € 47

P422728 REDUCER ADAPTER TO D30 15,91 € 47

P422729 ELBOW D25 10,52 € 47

P422730 T JUNCTION 2,40 € 47

P422734 ADAPTER 1-4" 2,27 € 47

P422736 SINGLE ADAPTER FOR PIPE 20 27,22 € 47

P422737 SINGLE ADAPTER FOR PIPE 6 0,77 € 47

P422742 VALVE 13,27 € 47

P422743 COOLER 628,57 € 47

P422770 CLAMP PIPE 0,83 € 47

P430140 RIGHT YAW GEARBOX BONFIGLIOLI 1.800,00 € 137

P432072 LEFT GEAR 1.680,00 € 137

P460015 FILTER LEVEL INDICATOR 38,46 € 47

P460022 VALVE BLOCK NEEDLE STOPCOCK 34,30 € 57

P460024 VALVE 56,00 € 47

P460057 COOLER FILTER 1,05 € 32

P520003 PROTECTION SUPPORT 5,63 € 47

P610026 D6 RIVET 0,16 € 37

P610123 PLASTIC PROFILE 0,51 € 47

P610124 LADDER PLATE 2,82 € 47

P610130-EN POSTER OF INDICATION FIST AID_EN 1,28 € 37

P610131 FIVE RULES SIGN 1,77 € 57

P610132 FIREFIGHTING EQUIPMENT LOCATION 1,40 € 57

P610961 ALUMINIUM RIVET ISO 8746 4.8X12 0,08 € 37

P611011 4MM TERMINAL 0,70 € 47

P611013 4MM GROUND TERMINAL 2,10 € 47

P611143 HEXAGON SOCKET BOLT M12X25 0,29 € 32



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P611240 SEALANT 7,00 € 32

P611285 D4.8 EXPANDING RIVET 0,16 € 37

P611290 BLIND RIVET 0,09 € 37

P611356 BLIND RIVET D4,8X20 0,63 € 37

P611423 SILICONE 2,80 € 32

P611449 TOWER LADDER STICKER 1,31 € 57

P611450 SAFETY LABEL I 1,54 € 37

P611451 SAFETY LABEL II 1,23 € 37

P611453 INTERMEDIATE HATCH STICKER 1,30 € 57

P611577 THREAD LOCK FLUID 21,04 € 32

P619049 BLIND RIVET 0,97 € 57

P630026 HEXAGONAL HEAD BOLT M10X40 0,48 € 37

P630090 HEXAGONAL HEAD BOLT M8X16 0,07 € 37

P630112 HEXAGONAL HEAD BOLT M16X50 0,45 € 47

P630130 HEXAGONAL HEAD BOLT M8X20 0,30 € 32

P630143 HEXAGON SOCKET BOLT M6X45 0,07 € 37

P630223 HEXAGONAL HEAD BOLT M10X40 0,20 € 37

P630237 HEXAGONAL HEAD BOLT M6X12 0,05 € 37

P630248 HEXAGONAL HEAD BOLT M12X45 0,27 € 37

P630251 HEXAGONAL HEAD BOLT M10X70 0,28 € 37

P630257 HEXAGONAL HEAD BOLT M16X45 0,30 € 57

P630258 HEXAGONAL HEAD BOLT M20X60 1,01 € 32

P630264 HEXAGONAL HEAD BOLT M12X50 0,33 € 38

P630271 HEXAGONAL HEAD BOLT M12X40 0,32 € 47

P630277 HEXAGONAL HEAD BOLT M8X20 0,08 € 37

P630278 HEXAGONAL HEAD BOLT M12X25 0,23 € 38

P630281 HEXAGONAL HEAD BOLT M10X50 0,17 € 37

P630284 HEXAGONAL HEAD BOLT M8X50 0,33 € 47

P630286 HEXAGONAL HEAD BOLT M8X25 0,07 € 37

P630293 HEXAGON SOCKET BOLT M6X45 0,10 € 32

P630300 HEXAGONAL HEAD BOLT M10X25 0,13 € 38

P630302 HEXAGONAL HEAD BOLT M6X20 0,07 € 37

P630306 HEXAGONAL HEAD BOLT M12X80 0,40 € 37

P630311 HEXAGONAL HEAD BOLT M16X70 0,68 € 47

P630315 HEXAGONAL HEAD BOLT M10X30 0,13 € 37

P630333 HEXAGONAL HEAD BOLT M10X30 0,47 € 57

P630346 BOLT DIN ISO 4014 M8X18 8.8 0,07 € 37

P630393 HEXAGONAL HEAD BOLT M16X50 0,39 € 57

P630441 HEXAGONAL HEAD BOLT M16X60 0,57 € 38

P630453 HEXAGONAL HEAD BOLT M12X70 0,38 € 37

P630459 HEXAGONAL HEAD BOLT M8X35 0,09 € 57

P630499 HEXAGONAL HEAD BOLT M12X30 0,17 € 47

P630508 SELF LOCKING NUT M10 0,10 € 37

P630512 HEXAGONAL HEAD BOLT M16X80 0,60 € 57

P630541 HEXAGONAL HEAD BOLT M12X30 0,16 € 38

P630548 HEXAGON SOCKET BOLT M45X1.5 13,13 € 47

P630579 HEXAGON SOCKET BOLT M6X16 0,05 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P630601 HEXAGONAL HEAD BOLT M8X30 0,29 € 37

P630608 HEXAGONAL HEAD BOLT M10X35 0,15 € 37

P630609 HEXAGONAL HEAD BOLT M10X40 0,09 € 57

P630612 HEXAGONAL HEAD BOLT M10X50 0,61 € 47

P630619 HEXAGONAL HEAD BOLT M24X120 24,13 € 77

P630622 SCREW DIN 912 M5X70 8.8 BLUED 0,15 € 37

P630645 HEXAGONAL HEAD BOLT M8X25 0,07 € 37

P630651 SLOTTED HEAD BOLT M4X12 0,04 € 37

P630657 DIN 6336 K M5X16 BRACKET 1,08 € 32

P630676 HEXAGONAL HEAD BOLT M10X30 0,13 € 37

P630677 HEXAGON SOCKET BOLT M8X30 0,12 € 37

P630679 HEXAGONAL HEAD BOLT M8X30 0,08 € 37

P630681 HEXAGONAL HEAD BOLT M20X180 2,79 € 57

P630699 HEXAGONAL HEAD BOLT M10X60 0,25 € 37

P630712 SCR.DIN 7982 C-H M4x12 NIQUELADO 0,02 € 47

P630716 HEXAGONAL HEAD BOLT M8X45 0,12 € 47

P630720 SCR ISO4014 M10X90 FLZNL NC 1000H 0,35 € 38

P630725 HEXAGONAL HEAD BOLT M8X40 0,10 € 37

P630792 HEXAGONAL HEAD BOLT M4X10 0,07 € 37

P650010 FLAT WASHER M10 0,02 € 47

P650114 WIDE WASHER M8 0,12 € 37

P650116 WIDE WASHER M8 0,04 € 37

P650117 SPRING WASHER M8 0,01 € 37

P650121 FLAT WASHER M33 0,03 € 37

P650126 FLAT WASHER M12 0,03 € 37

P650128 WIDE WASHER M12 0,13 € 37

P650130 FLAT WASHER M16 0,08 € 38

P650133 STRUCTURAL WASHER 0,08 € 37

P650134 FLAT WASHER M8 0,01 € 37

P650135 FLAT WASHER M12 0,01 € 37

P650136 WIDE WASHER M8 0,03 € 37

P650139 WIDE WASHER M10 0,10 € 38

P650140 FLAT WASHER M8 0,04 € 37

P650152 WIDE WASHER M5 0,03 € 37

P650153 WIDE WASHER M10 0,23 € 38

P650154 STRUCTURAL WASHER D20 0,12 € 37

P650155 FLAT WASHER M8 0,07 € 32

P650165 WIDE WASHER M6 0,01 € 57

P650185 FLAT WASHER M8 0,02 € 37

P650205 FLAT WASHER M6 0,04 € 37

P650224 FLAT WASHER M12 0,01 € 57

P650226 WIDE WASHER M8 0,10 € 37

P650234 LOCKING WASHER 33 4,04 € 37

P650248 FLAT WASHER M8 0,02 € 37

P650269 LOCKING WASHER 8 0,37 € 37

P650294 WIDE WASHER M5 0,01 € 57

P670062 HEXAGONAL NUT M6 0,02 € 37



Siemens-Gamesa Reference Part Description
Unit Price

(ExWorks Arazuri-Spain)
Lead time in days

(ExWorks Arazuri-Spain)

Spare Parts Price List - CASALDUNI

P670071 SELF LOCKING NUT M12 0,09 € 57

P670086 SELF LOCKING NUT M5 0,05 € 37

P670121 SELF LOCKING NUT M10 0,05 € 37

P670134 SELF LOCKING NUT M6 0,02 € 37

P670136 HEXAGONAL NUT M12 0,05 € 47

P670142 SELF LOCKING NUT M8 0,16 € 37

P670143 SELF LOCKING NUT M10 0,19 € 37

P670155 HEXAGONAL NUT M10 0,05 € 37

P670159 SELF LOCKING NUT M8 0,05 € 37

P670162 SELF LOCKING NUT M5 0,01 € 37

P670169 HEXAGONAL NUT M24 0,56 € 47

P670175 HEXAGONAL NUT M8 0,02 € 57

P701019 LIGHTNING CONDUCTOR BAND 53,10 € 47

P701031 TIP LIGHTNING RECEPTOR 42,50 € 47

P701134 MASKING TAPE 17-19MM 8,00 € 47

P701150 SEALANT 3,68 € 38

P709078 TAPE 20,33 € 47

P709079 Sealant PU 2C 24,17 € 62

P770414 TERMINAL 2,10 € 47

P770433 MAGNETIC CARD 5,47 € 47

PLE0659 PLATE FOR OUTPUT 2 37,33 € 52

PLE0690 BUSBAR 148,27 € 47

R9B0405P11 MOTOR FLANGE 37,33 € 137

R9B0405P15 MOTOR COUPLING 184,00 € 62

R9B0405P16 MOTOR COUPLING 184,00 € 62

R9C1167P07 INSULATOR 4,92 € 32

R9D2540P01 ENCODER 860,00 € 77

R9D2921G01 FAN AND SEAL 252,57 € 77

R9E1495P01 PT100 SENSOR 21,49 € 38

R9E1766P01 INSULATED PT100 PROBE 24,63 € 32

R9E1937G01 STIFFENER BOLT 50,77 € 47

SPM1290 SCREEN SIMPLE DRIVER 2,40 € 47

SPM1345 SPACER HTNSP-M2.5-6.4-15I 1,13 € 47

SPM1375 ROD L=630MM 38,00 € 37

VAR0205 LATINOX SAE100R4 3-4INCH L=350MM TLR 3-4 102,93 € 32


